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hpwlywuwgdnwd & thnthnfuyws dwywiwpbpp-twhiwhwyyny  Lwhiwnbuws wpluwwnwuptbnp  hwdwaw;u
Qwybwsd 1-h:

1.3 Qwuwnwnty hwdwdwjuwgnh unp Ybwpduwi dwidwlwlwgnygp' hwidwdwi Cwyhyws 2-h:

2. Uy wuydwuukp
2.1 Unyt dwdwdwjuwghpu nidh dbg £ dintinug Ynndbph unnpuwgpdwt wwhhg L hwunhuwund £ MNuwjdwuwgph
wupwdwubh Jwup:
Qwdwdwiwgph  wwiwbbpp Ghpwnynd b wuwdwbwghpp  Yuphimg  htwnn dhtgh npw hhdwt dpw
hwiwdwjuwghp Yuptyp' Ynndaph dhel thwuwnwgh dwqud hwpwpbpnyegniiubiph uljwindwdp:»
22 Uyt Cwlwdwiwgpnyd — supguwd' bnndaph Mwydwuwgpny  bwhuwnbudws hpwyniupbpu o
Wwnunwlwlnyzgniiubinp pnnuynud By witniinfu:

2.3 Unyu Cwdwdwijuwghpp Yupynud £ hwybpbu lbquyny BpYnt ophlwlhg, jninwpwlgng Ynndht inpynud k£ dblwlwl

ophuwl, npnup nlubt hwwuwnwgnn ppujwpwuwlwy nid:

3.Unndbkph hwugbutipp, pwtlught Juwybpuwwywyiwutbpp b unnpuwqpniRjntutbpp:

musJdbrusnk LunuLunnhk
<< nwpwépwiht Ywnwwpiwy b «LU.R. Mpnblwn» UNP «Rupuwyjwu» UNC
bupwlwnnigwsdplbiph bwiuwpwpnipiniu <&, p. bpluw, Upwplyhp 391w L&, Uulybipwh 2pg., g. Pappwdnn
<< p.bplwl, Ywnwjwpwlwy wniu 3, «Unnahtupuwiys PO «Quyphquibupuiiys PR Uinbthwtwlbipinh
<< hatwnpnuwljut quitdwybnwpuh €< 2470100091880010 dwuliubynin
<€ 900011025823 {4<< 00250339 ££ 1150012884694606
Rt £4d<< 90012365

<4<< 02815457

qifuwynp p inlophl
' . <. Qwilypf] o
- 2)
;e o
\zé‘fé /uinnpwagpnyznit/
E u.s

41
4313)
SIEes

(S
“n




Owywjwpbpp-uwjuwhwihy
<< Uynishph dwipgh $-8-93.L8Lu-Swpl nbnwlwh twiwynpjut wwnnbwbwwwphh Y

0+000-Yu 19+889 hwinywdh Yhpwlwnnigdwt w2luwnwupubpp

(Cunhwunip waluwwnwptbip)

«

Cwunwwnywsd £
N Sbe-(WUCQQ—202I/4?2bdwh wwjdwuwgph

» «

» 2022 p. updwsd

fhy 6 Cwdwdwjuwgpny
Cunfedusd phy 1

/&< npus/
<< npwd
=
= -t
ig 5| B5| i3
NN Ualuwnwptbph wuywbndp 273 3 3‘2 R
35 B = 3 53
a
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I. <nnuyhb wiphswnpuiptibn
1 gga-V” Ywingh puwhnnh thtupbignul wuwiewugpuwht |hgptipny h=1- P 0 1996, 0
1" | 20a-VIl Ywngh puwhnnh thupbgnud hhnpndnipény I8 448687 1996,2 895 668 989
2 336—VHI Ywngh puwhnnh dhupbignud wwewugpuihu thapbipny h=1- P 0 2763 0
2' | 206-VIll Ywngh puwhnnh thtupbgnud hhnpndnipény I8 299432 2763 827 330 616
3 | 98-V Ywngh puwhnnh thfupbgnud wuyrwugpw)hu |hgptipny h=1-24 a3 0 1512,9 0
3" | 9a-V yuipgh puwhnnh dlupbgnus hhnpndnipény s 65928 1512,9 99 742 471
* | 9e-Vl ywngh puwhnnh thfupbignud hhnpndninéing g3 101703 1996,2 203 019 529
Luwfuonnp thtupbgywé 20a-Vii Yupgh puwhnnh dowlynud kpu. 2.543 =
% 2.n. pupdnu w/h nbnwidinfunad gwlnyn dhtsl 1 4d 4 Re2e | e Ehiriy,
Luwfuonnp thtupbigywsd 20a-VH Yungh puwhnnh dowlnu 3
> prynngtipny. whnuithnfunud 304 Ynnph Ynunwlynwd u Ly S 161 085504
Lwfuopnp thfupbgyws 20a-VIl Yungh puwhnnh dgwlnud
* | pnynnglinnd, inbinwihnfunud 304 Ynunwlnu, pwpdnw kpu. 2.543 a2 8299 2457 20 390 643
2w w/h wbnuwiinfunud lguihnyin 3 4d dhyht hbn.
Luwiuopnp thiupbigywsd 20a-VIl Yungh puwhnnh dawynd kpu. 2.543 3
6 2-. pupdnud w/h nbnwidinfunud igwnyw dhghup 3 Y d 99630 18247 186
Luiuopnp thiupbigywsd 20a-VII ungh puuhnnh dowlnud kpu. 2.5¢3
2-n. pundnud w/h W inbinwihinfunud |hgp 144, hwnws Yu15+615- )
7| (154635,  Li1B+800-U1B+B50 L 4 191300 15194370 W Me7 ) tens 27279536
(hwppnud, 9pnud, futnwgnud)




Lwifuonnp thfupbigywsd 20a-Vil Ywngh puwhnnh dwlnud Epu. 2.503
2-n. pup&nud w/h W inbnwihnfunwd |hgp 144, hunws Yd0+360-
4d0+340,  d0+680-4ud0+900, km1+860-km2+000, km3+020-
km3+120 b Yd 3+240-4d3+360 (hwppnud, pnui, fuuwgnd)

d’3

5700

1921,5

10 952 550

Luwifuonnp thfupbigws 206-Viil jwpgh puwhnnh dawynul kpu. 2.5403
2-1n. pwpdnul w/h nbnwithnfunud igwlnywn dhusl 1 Yd

a3

51659

1575,9

81 409 418

Luwluopnp thfupbigyws 206-VIIl hwpgh puwhnnh dowlnu
pnynngbpny. wbnwihnfunwt 304 Ynnph Ynuwnwlnid

199942

574,2

114 806 696

VLwfuopnp thtupbgywd 206-Vill jwingh puwhnnh dawlynus kpu. 2.5u3
2.0 pwpénud w/h b inbmwthntunud (hgp 14, hwindwd 4Ui0+360-
4d0+340,  LU0+680-4d0+900, km1+860-km2+000, km3+020-
km3+120 L Yu 3+240-4d3+360 (hwppnw, gnnud, tutnwgnu)

|j3

528

1921,5

1014 552

Lwifuonnp thfupbigws 206-VIll Ywngh puwhnnh dawlnud tpu. 2.543
2.0 pwndnd w/h nbnwidinfunud (gulnywn 3 Y4 dhoht hbn.

d3

47303

1874,7

88 678 934

1

Lwifuopnp thfupbigws 9a-V Yungh puwhnnh dowynud kpu. 2.543
2.0 pwpdnu w/h wbnwihnfundd (guihynywn Jhugl 1 4

d’3

19820

1305,9

25 882 938

12

Luwiuopnp thfuptigywd 9a-V Yungh piwhnnh dpwlnd pnynngbipny.
wbinwihnfunut 304 Ynnph Ynwnwynud

LSS

79280

574,2

45 522 576

Lwifuopnp thfupbigyws 9n-V Yuingh puwhnnh dowlnus tpu. 2.503
2.0, pwpdmd w/h wbnuihinfund gwlnyn 3 Yd Sheht hbn.

d3

529

1546,2

817 940

14

98-V Yupgh plwhnnh dawlnud priynngbinny wnbnwihnfunwd 504
thgp (hwppenud. gpnud. funwgnud)

da

12693

1327,5

16 849 958

15

9a-V Yungh puwhnnh dawlnud Epu. 1.003 7.1, pwpdnid w/h b
wbnwihnfunud |hgp 144 (hwpenud. 9pnud. futnwgnu)

d3

19534

1650,6

32 242 820

16

9a-V Yupgh puwhnnh dwnuf kpu. 2.5 43 2. . pwpdnud w/h
wnbnwithnfunud dhtgl 14d. Ynunwlnu hbbwwywinbph hbwnwnwnd
lhgeh hwdwp

63

967,5

Luwluopnp thfuptigyws Se-V! Yupgh puwhnnh dawlnud kpu. 2.503
2., pupand w/h b wbnuihinfund jgwynyun 1 Y44 dhght hbn.

03

43575

1503

65 493 225

Luwifuopnp thjupbigdwd 9e-V! ungh puwhnnh dowlnus pnynngbpny.
inbinwihnfunwd 304 Ynnph Ynunwlynid

u’3

101675

575,1

58 473293

9e-VI wngh puwhnnh dwlnwi pnynnqtinny wbnwihnfunu 504
thgp (hwppenud. gpnwd. funwgnud)

10742

1330,2

14 289 008

9e-VI jwngh puwhnnh dpwynw tpu. 2.503 2.un. pwpdnud w/h
wbnwihnfunud (hgp 144 (hwpenid. 9pnwd. funwgnu)

d’3

9393

1846,8

17 346 992

9e VI huingh puwhnnh dpwlnud bpu. 2.543 2.un. pwpdnud w/h b
wbnwthnfunud |hgp 24d (hwpenw. gpnud. futnwgnud)

4120

1981,8

8165 016

17

103-V Yuwngh puwhnnh dwinuf kpu. 2.58 2.1, pupdnud w/h L
inbnwthnfunwl |gwlnywn 3 Yd dhoht htin.

d’3

17519

1546,2

27 087 878

18

102-V Guingh plwhnnh dpwlinus pnynngtinny wnbnuithnfunud 504
thgp (hwppenw, gpnud, futnwgnuyd)

1460

1327,5

1938150




19

10e-1V Yupgh puwhnnh dawlnud kpu. 2.542 2.1n. pwndnd w/h L
nbnuwthnfunut |gwlnyw Jhugl 14

lj3

51273

1067,4

20

10e-1V uingh puwhnnh dwynud pnynnqbipny. nbnwthnfunwd 304
Unnph Ynunwynd

266514

298,8

79 634 383

10e-1V Yuwngh puwhnnh dawynud pnynnqbipny, nbnuithnfund 304
Ynunwynud, pwpdnwd kpu. 2.50% .. w/h nbnwthnfunud igulnywn 3
yd dhghtu hbin.

d3

602

1467,9

883 676

21

10e-1V bungh puwhnnh dowlinad bpu. 2.50% o.in. pupdnud w/h L
inbnwthnfunwl \gwlnywn 3 Yu dhehu hbn.

u’3

1508390

1291,5

194 874 435

22

10e-1V Yuwnah gphwabigwsd puwhnnh dawlynud kpu. 2.548° 2.0
pwpdnud w/h b wnbnwithntunud lgwlnywn 3 4d Sheht hbn.
(Lu17+330-4u17+400)

d3

367

1291,5

473 981

23

10e-1V Yuingh gnhwgtigwd puwhnnh dowlnud kpu. 2.58% 2.0
puwndnud w/h W wbnuihnfunud jguwynywn 3 Yd hohu hin.
(4d18+800-Li18+850)

63

1555

1291,5

2 008 283

24

10e-1V Yungh 9nhwgbgwd puwhnnh dowlnid Epu. 2.5 9.un.
pupdnd w/h W ibnwidhnfunud jgulinyin 3 Yo Shohtu hbn.
(L4ud19+300-4ui19+370)

L)'3

1291,5

20
(]
w
[
=
w

10e-1V Yuingh 9nhwqgbigws puwhnnh dawynud bpu. 2.543 9.un.
pwndnud w/h b inbnwihnfunud \gwlnywn 1 Yd dhehtu hbn. {d0+360-
4ui0+340,  Ld0O+680-yd0+900, km1+860-km2+000, km2+740-
km2+780, km2+940-km2+980, km3+020-km3+120 U yu 3+240-
yu3+360

03

7504

1067,4

8 009770

25

10elV Lunpgh pLwhnnh dwlnd pninngbpny wnbnwihnfunul 504
thgp (hwppnid. 9pnid. funwgnid)

d3

26571

1166,4

30992 414

26

10e-1V Ywngh puwhnnh dawynud kpu. 2.583 2.1 pwpdnud w/h
wnbnwihnfunu (hgp 14U (hwpenw. opnid. funwgnid)

63

71328

1699,2

121 200 538

27

10e-1V Ywngh puwhnnh dwlnu kpu. 2.5d3 2.wn. pwpdnd w/h L
wnbnwihnfund thgp 24d (hwpenwd. 9pnud. futnwgnu)

d’3

13650

1812,6

24 741 990

28

10e-1V wngh puwhnnh dawlnud Epu. 2.503 2.1, pwpdnud w/h b
inbnwithnfunw |hgp 444 (hwppnud. 9pnd. funwgnud)

d‘3

9310

2037,6

18 970 056

29

10e-1V Ywpgh puwhnnh dawlynd kpu. 2.5 U3 9. . pwpdnu w/h
wnbnwthnfunwl dhusl 1Yd. Ynwnwlynw funnnduwlubiph hbnwnwpd
thgph hwduwin

da

1568

10071

1579133

30

1Qe-1V Yuipgh puwhnoh dawynud bpu. 2.5 43 2. wn. pwpdnud w/h
wbnwihnfunud dhtgl 14yd. Ynunwlhnwd hpwntintiph (hgph huidwp

d‘3

416

10071

418 954

3

10e-tV Yupgh puwhnnh dpwlynud kpu. 2.5 d3 9. . pupdnud wih
wnbnwthnfunud dhusl 144, Ynunwlynwd Yanuwlubiph thgph hwdwn

12062

10071

12147 640

32

10e-1V jupgh puwhnnh dwynud Epu. 2.5 3 2. 1. pwpdnud w/h
wnbnwihntunud dhtsl 1YY, Ynunwynud npbtiwdh hbuwnwnd jhgph
hwdwp

0'3

10071

28 199

33r-Ill wpgh puwhnnh dawynud Epu. 2.503 9., pwpsnud w/h
nbnwihnfunwd |gwlnywn 1 Yd dhoht htin.

dB

5145

937.,8

4 824 981

33r-1ll Ywngh puwhnnh dawynd pnynngbipny. wbnwihntunid 304
Ynnph Ynunwiynwd

g3

12005

2925

3511463




33r-1It ywpgh puwhnnh dawynud kpu. 2.503 2.:n. pwpdnud w/h

29 3 o o 250

| tmwihnfunud guilinywn 3 Y4d dhehts hbin. ) = pe! 2180230
33e-Il Ywpgh puwhnnh dowlnd fpu. 2.543 9.:n. pupénud w/h )
whnwinfund igulnyn 1 4d dhoht hbn. | 21009 ) 8028 | 16866 025
33s-l Ywpgh puwhnnh dawlnid pnynngbipny. wbinwthnfunw 304 5 49020 283 5 13 897 170
Ynnph Ynunwynud
33s-I Juingh gnhwabgwsd puwhnnh dowlnud kpu. 2.503 ..
pwpanuw w/h L tnbnwidnfunwd (gwynywn 1 4d dhehu htin. gs 8004 802,8 6 425 611
(4Ud14+030-4d14+120, Y4 15+314-d15+500)
33e-1l wpgh puwhnnh dawlnut Epu. 2.543 9., pwipand w/h 5 5 08
inbinwihntunud lguynyn 3 Yd dheht htin. 8 L JUiE S
33e=ll upgh gnhwgbgwd puwhnnh dawlnwd fpu. 2.5 2.1
pwpdnid w/h U inbnwithnfunud \guwlnyw 3 Y dheht hbn. g3 6557 1005,3 6 591752
(Ld15+500-Yu15+900)
9e-Il Yupgh puwhnnh dowlnid kpu. 1.00% 2.:n. pwpsnud w/h L

34 | nbnwthnfun 644, wwwnyhpwnnih Ynndhg hwinlwgywsd nwpwsdp, | 3 733 1133,1 830562
wwhbuwnwynpnud hbnwgqw equwgnpddwl hwdwn

Uuwhtwbubph Junnignid

1 gga-V" Yuwnah puwhnnh thfupbgnud wwjrwugpwht thgptipny h=1- P 0 1996,2 0

1" | 20a-Vii Ywngh puwhnnh thiupbgnid hhppndnipény g 7934 1996,2 15 837 851

7 ggS—VIII Ywngh puwhnnh thfupbgnud Wwpwugpwihu hgphpny h=1- P 0 2763 0

2 | 206-Vili hwpgh puwhnnh thtupbignud hhnpndnipény o3 876 2763 2 420 388

3 1 9a-Y Jungh puwhnnh thjupbgnu wywpwugpwihu hgpbpny h=1-24 g2 0 1512,9 0

3’ | 98-V Yungh puwhnnh thupbignud hhnpndnipény g3 1469,5 1512,9 2223 207
Uuwnhbwuubiph Yunmgnud bwhuwwbiu thtupbigdws 20a-VIl unpgh 5

. puwhnnnu pnynngbipny (nbnwthnfund dhusl 204) , IS8 i E
Uunhbwuubph Yunmgnud bwhuwwbiu thfupbigdws 206-VIIl Ywnpgh 5

S puwhnnnu pnynngbipny (nbinwihnfunwd dhugl 204) i 876 7 380168}
Yuwmhbwuubiph Yunnignd bwiuwwbu difupbgdwsd 9a-V Yupgh

) puwhnnnud pnynngbipny (wnhnwtntunw dhugl 204) o 2939 443,7 1-30¢ 034
UuinhBwuutiph Ywnnignwi 10e-1V fupgh puwhnnnwi pnynngbpny 3

7 (tnbnuwhntunud Whtsl 20) ] 19948 mM,5 4219 002
Uuwnhwulbph Ywnnignuwi 103-V Ywpgh puwhnnnwd pnynngbpny :

8 (inbnwthnfunud Whtsl 204) ] 1357 443,7 602 101
Uuwnhtwuubiph funnignut 33s-1l Yuwpgh puwhnnnud pnynnqbipny ] _ = S
(inbnuithnfunud Shtisls 204) d 968 195,3 188 050

Cunwdbup 1. 3 826 721 302
1. YUnnuyhb wnnibibp

: ﬁgg\éltlr Luwngh puwhnnh thupbignud wwjpwugpwiht thgptipny P 0 5698,8 0

1"} 20a-VIl upgh puwhnnh thfupbignid hhnpndnipény 3280 5698,8 18 692 064

5 206-Vill Yuwpgh puwhnnh difupbignd wjwjpwtgpuwiht thgpbipny P 0 9338.4 0

h<0.54.




206-VUll wpgh puwhnnh thfupbgnud bhnpndnipény

3302

9338,4

30 835 397

9a-V Jupgh puwhnnh thiupbgnd wwypwugpughl thgpbipnd h<0.54.

u’3

4435,2

0

9a-V Jupgh ptiwhnnh thfupegnd hhnpndngpény

673,5

4435,2

2987107

8e-VI| Yupgh puwhnnh thjupbgniud hhnpndnipGny

d3

838

5698,8

4775594

Unnwhtu wnntibiph hpwlywuwgnwt uwiuwwbu thfupbgywd 20a-Vil
Yuwngh puwhnnnid fpu 0.65d3 2.n.. pupdnud wnbinwithnfunud
guilynywn 14d 1theht hhn

d3

2795

2199,6

6 147 882

Unnwihtu wnnitbiph hpwlwbiwgnud bwiuwuwbu tjupbigdwsd 20a-Vil
Ywpgh puwhnnnd dbnpny. pwpdnd Epu 0.65d3 2.un. inbinwihnfunul
igwbnyn 14d dhohu hbn.

u’3

192

12532,5

2 406 240

Ynnwjht wnniubiph hpwywuwgnud bwhiwwbu hlupbgyws 20a-Vil
bwpgh puwhnnnud tpu 0.650% 9., pup&nwd  itinwihnfund
gwlnywn 3ud dhehu htin

63

264

2499,3

659 815

YUnnwihtu wnnibiph hpwywuwgnut twjuwwbu thfupbgywd 20a-Vii
Yuwngh puwhnnnui &anpny, pwpdnw kpu 0.6543 .. tnbnwidinfunwd
tgwlnywn 34d dhoht hbin.

29

12830,4

372 082

Ynnwiht wnniubph hpwiwbwgnu twpuwwbiu hiupbgywsd 206-VII
Ywngp puwhnnnud §pu 0.65U3 2.wn.. pwpdnd wbinwthnfunid
[gwlnywn 14d dhohu hbn

d3

2803

2199,6

6165 479

Ynnuyht wnnubph hpwywtiwgnd bwiuwwbiu thfupbgdwsd 206-Viii
Ywpgh puwhnnnd Ghnpny. pwpénud pu 0.6543 p.un. witinuidhnfunud
igwynyin 14d dhehtu hbin.

63

186

16326

10

Unnuiht wnnitbph hpwlwtwgnud bwiuwwbu thlupbgdwsd 206-Vil
Ywnpgh puwhnnnd Epu 0.6503 2.1, pwpdnd wbinuithnfunwd
tgwynywn 3Yd dhohu hbin

d3

282

2499,3

704 803

"

Ynnuwjht wnnwibph hpwywuwgnd bwhiwwbu thlupbgywsd 206-VIii
Yuwpgh puwhnqnul dknpny, pwpdnud fpu 0.65d3 9.1, nbinwihnfunud
[wynyw 3yd dhghu hbn.

31

16623,9

515341

12

Unnwht wnntbiph hpwwbwgnw! Ywhuwwbu tfupbgywsd 9a-V
Ywnpgh puwhnnnud tpu 0.6543 9.un.. pwpdnud wbnwithnfunwd
[gwynytn 14d dhght htin

d3

1248

1843,2

2 300 314

13

Ynnwihtu wnnwbph hpwwbwgnd bwhwwbiu thfupbgwsd 9a-V
Ywpgh puwhnnnui dbinpny. pwpdnud Epu 0.6543 2.1 nbnwithnfunwd
wynyw 14d Jheht hbi.

lj3

66

12175,2

803 563

14

YUnnwjhtu wnnwbiph hpwhwuwgnd bwhiwwbu thifupbgwsd 9a-V
bwpgh puwhnnnui kpu 0.6583 2.un., pwpdnuf nbnwithnfunud
jgwlnywn 34d dhehu hbin

0'3

30

2084,4

62 532

15

Ynnuwht wnniubph hpwhwiwgnd bwjuwwbu plupbgyws 9a-V
Yungh puwhnnnud bnpny, pwpdnwd kpu 0.65d3 2.1 inbinwihnfunud
fgwynywn 34d dhghu htin.

lj3

12416,4

37 249

Ynnwiht wnntubinh hpwlwtwgnd twhiwwbu hupbgwd
9e-Vl lungh puwhnnmd tpu. 0.6503 .., pwpdnud  ibnwithnfund
lgwynytn 1yd dhghu htin

li3

1257

2128,5

2675525

Unnwjht wantibph hpwhwtwgnw twjuwwbiu thfupbgywsd
%e-V! Jupgh puwhnnnid dbnpny, pupdnid kpu 0.65433 2.n
inbnuihnfuntd [guynywn 144 dhohu hbin.

63

140

12003,3

1680 462




Ynfwhu wnntinh ppwywuwgnud 10e-lV Yupgh puwhnnnd fpu
0.65uU3 2.un.. pwpdnd inbnuithnfund (guwlnywn 14d Jhohu hbin

d3

2756

1427 4

3933914

17

Unnwjht wnniibph hpwlwbwgnud 10e-1V upgh puwbnnnud
Shnpny. pwpdnul kpu 0.65u3 2.n wbnwithnfunid (gulnyw 1yd
dhohu hbn.

d3

221

6731,1

1487 573

18

Ynnwyhu wnniubph hpwlwuwgnd 10e-1V Yuwipgh puwhnnnid fpu
0.65 g.un., pwipénud wbnuithnfunut (guilrywn 344 dhght hbin

1774

1651,5

2 929 761

19

LUnnwyhu wnniubiph hpwywuwgnul 10e-1V Ywpgh puwhnnnud
Gbinpny, pwpdnu tpu 0.65U3 2.in wbinuithnfunud |gwilnywn 3yd
dhoht hbin.

u“d

197

6954,3

1369 997

20

Ynnwhu wnniubph ppwlwuwgn 103-V Jupgh puwhnnn kpu
0.6503 9.1n., pwipdnud  wbinwdinfunwd jgwynywn 34d dhehu htin

0'3

190

2084,4

396 036

21

YUnnwhu wnnubph hpwlwuwgnd 103-V upgh puwhnnnud
Stinpny, pwpénwd kpu 0.65d3 2.1 wbnwithnfunud [guynyun 3y
dhghu htin.

d’3

21

12416,4

260 744

YUnnwiht wnniubpp ppwlwuwgnd 33r-ill Yuwpgh puwhnnnud kpu
0.65u3 9.un., pwpsnuwl wbnwihnfunut (gulnywn 1 4d dhoht hbin

d3

54

1236,6

66 776

Ynnwihu wnniubph bpwlwbwgnd 33r-IH Yupgh puwhnnnud
gbinpny, pwpand kpu 0.6543 2.1 wbnwihntunud |gwlinyun1yd dheht
hbn.

d3

4059,9

24 359

22

Ynnwhu wnniubpp ppwlwuwgnd 33r-Hl Ywpgh puwhnnnwd fpu
0.6503 9.1n., pwpdnd  wbnwithnfunw [gwlnyuin 3 Yu dhohu hbin

63

165

1458

240 570

“nnuiht wnniubph hpwywlwgnd 33r-1 Yupgh puwhnnnud
Sbnpny, pwpdnw bpu 0.65d3 2.1 wbnuwithnfunud gulnyin 3Yd
dhghts hbin.

d3

18

4419,9

79 558

Unnwjht wnnibiph hpwwtwgnut 33e-Il Ywpgh puwhnnnud tpu
0.65u3 9.un., pwpdnu  nbinwthnfunw |gwynywun 1 Yd dheht htin

0'3

334

1033,2

345 089

Unnw)ht wnniubiph ppwljwuwgnd 33e-11 fupgh puwhnnnd
Sbnpny, pwpsnui tpu 0.65d3 2.1 wbnwithnfunud (guinywiyd shoht
hbn.

63

37

2950,2

109 157

Ynnwjhu wnnwubph ppwhwuwgnd 33s-1 Ywpgh puwhnnnwd kpu
0.65u° g.un., pwpénul  inbinuithnfunwl |gwlnyin 3 Yd dhght htin

[
o
[>2]

1235,7

378124

Ynnwht wnniubph ppwlwuwgnd 33s-11 Yuwpgh puwhnnnud
8tinpny, pwpdnid tpu 0.65d3 2.1 whnwihnfunw |gwynyn3ld
dhohu htin.

d3

34

3152,7

107 192

Lunwdlp Il.

96 586 936

. Ynptuuljubp

10e-IV Yupgh bwfuwwbu dwyws ptwhnnh pupdnd Epu. 2.5 U3 .

. w/h. nbnwthnfuntd Ynnuwlubiph thgp 1yd (hwpenwd. gpnud.
junwignuwl)  h=26ud

63

12062

1539,9

18 574 274

Unnuwlubph wipwgnd wjwaquynwswiht Ynyend hdhg.=10ud.

d’2

46391

639

29 643 849

Cunwdbup Il

48 218 123

* %

V. <mbh nipnmd d18+700-4S18+760




Lniuh pwunnud 10e-1V Ywpgh puwhnnmd pnynngbipny,

3 2
1 inbnwihnfunwd 104, Ynnph Ynunwynid 1 58 125 19
Cununibup HI**, 13 414
Iv. 6ppubhEih duu
1| Swinhluwinp tupwhhdp. (wjwquwynwh6) h=10 ud 21 113752,3 507,6 57 740 667
1* Lwinhbuwnn bupwhhdp bwdwquiht fuwnunipnny C4 £ | 1090548 507.6 55 356 216
hdhg.=10ud.
rutwdwquyht hhdp (C-5) h=20ud
1004 hwdwnp
huh6 (40-70) 10% - 2.6u°
fuh6 (20-40) 35% - 9.14° 5
2 huh6 (10-20) 20% - 5.2, 0] 152597,8 | 2083,5 317 937 516
fuh6 (5-10) 10% - 2.64°
fuh6 (0-5) wjwq 25% - 6.54°
onp-1.1d3
3 | tunanpwhwinhly pupdp Swynunybunyeywdp w/p h=6ud g2 146416 4149,9 607 611 758
4 | lungnpwhwwinhly w/p h=6ud g2 146416 5688,9 832 945 982
5 | "B"whwyh dwupwhwwnhy fuhn wnwp w/p h=4ud u? 146416 42111 616 572 418
Cunwdtup Iv. 2 488 164 559
V. hounpbinbip b dnuppbin
1 igg\élllj Yungh puwhnnh tfupbignud ww)pwugpwiht |hgplinny 5 0 5604,3 0
1" | 20a-VIl hwpgh puwhnnh thtupbgnid hhnpndnip6ny IR 75 5604,3 420 323
2 | 9a-V Yupgh puwhnnh thfupbgnid wwjpwugpwiht thgpbipny h<0.54. I8 0 4362,3 0
2" | 9a-V Yungh puwhnnh thtupbgnud hhapndnipéng I8 1041,5 4362,3 4 543 335
Luwfuopnp thtupbgyws 20a-VIl Yuipgh puwhnnp dawlynud Epu. 1.043 5 4
3 2.tn. pwndnud w/h inbnuwithnfunwd |gwynywn 1 4d dhe. <bn. d 7 1974,6 Ll
Luwjuopng thfupbigywd Sa-V Yungh puwhnnp dowlynyd bpu. 1.043 5
4 2., pupdnuf w/h inbinwihnfunwd (gwynywn 1 4d dhe. <bn. d 2083 Lod e !
5 10elV Gwpgh puwhnnh dawlnwd pniynngtipny nbnwinfunwt 504 P 24 17,8 26 827
thgp (hwpenwd. opnud. futnwgnu)
Bwwuwjwphh hwunyehg bwuwwbu Ynwnwlws 10elY Yupgh
6 | puwhnnh pwpdnu bpu. 2.503 2.1, inbinuithnfunud thgp 1 4d Jhg g3 396 1507,5 596 970
htn. (hwppnid. gpnid. funwgnud)
+ | 10e-IV hwngh puwhnrh dawynid bpu. 2.5 2.un. pwpdnd w/h L 5
wnbnuithnfunud |guilynitn 1 U theh htin. d o 1067,4 97133
10e-1V Yungh puwhnnh dawlynd Epu. 2.508 9.un. pwp&nd w/h b 5
/ wnbnuihntund \guwynyn 3 Yd dhohu htn. ) 7L 1259:2 TRRles
Gpplbtylih dwu
RuSwlwquiht hhdp (C-5) h=12 ud
fuhfi. (40-70)- 10% - 1.56°
juh6 (20-40)-35% -5.4643
1 | jupé (10-20)- 20% - 3.1243 u? 1824,74 1371,6 2502 813

huh6 (5-10)- 10% - 1.564°
fuh6s (0-5)- wijwiq 25% - 3.9
onip-1.10°




2 | B nhyh dwupwhwwhy fuhin w/p h =4 ud g2 1735,54 4223,7 7 330 400
Ubrnwnwlwy funnndulubn @ 530u0d 0
1| UWjwqulnwwiht gbipin h=10ud (Jbwn. funn. nwy) g3 9,425 5853,6 55170
2 | Ubwn. funnndwlubinh @ 530x54d inbinwinpnud qdd 145 129420 18 765 900
3 | Qpwdblnwgnud (2 2bipn wiwp phinnwing) qdd 134,8 3060,9 412 609
4 | Uhwdny| pbinnub B-20 qiluwdwubp us 13,6 116515,8 1584 615
5 | Sjuwdwubph gpwiblynwwgnu (2 2bipn tiwp phunnwiny) U2 51 1261,8 64 352
Lunwdbup V. 41 311 219
i Bwbwwwphpt hwpnn wnpynipblph Swppnud
1 1QelV Ywngh puwhnnh dawlnwd prynngapny wnbquhnfunwd 504, P 466 453.6 M 378
Ynunwlynud
5 10elV Ywpgh puwhnnh dawynud bnpnd, nbinwthnfund pnynngbpny P 51 5702,4 290 822
50d, Ynunwlynid
Cununikip V***, 502 200
VI. Rpuigdh Yunnigned lf0+000-d2+200
1 | 202Vl hungh puwhnnh thfuptignid wwijrwugpwhl thgplipny g 0 34335 0
h=0.5-14
1" | 20a-VIl wpgh puwhnnh thtupbgnud hhnpndnipény us 248 3433,5 851508
2 ?gt—V Ywngh puwhnnh thfuplignut wwjpwugpwht thgptipny h=0.5- P 0 1978.2 0
2" | 9n-V Ywngh puwhnnh thlupbignud hhnpndnipéng 18 34 1978,2 67 259
fupwdninnt pwunnud bwhuwwbu thfupbgwsd 20a-Vil jupgh
3 | puwhnnnud kpul@0.650° 2@ @ pwpdnwd inbnwithnfunwt (gubnyin Ul 236 2127,6 502 114
14J dhe@htin® (1x0.4x620)
4 | Lnyup &binpny g3 12 15516 186 192
hupwudninnt pwnnid bwfuwwbu htupbgdws 98-V Ywngh 5 -
5 puwhnnnud pu@0.6502 2@wnBYnnph Ynunwlnid (1x0.4x170) v 82 883 e
6 | Lnyup &binpny g3 3 9996,3 29 989
Fupwidninnt pwunnud 10e-IV Yupgh puwhnnnuf kpu0.6543 3
7| Jmunalnngh Ynunwlnud (1x0.4x1410) £, [; 378 116085 =012
8 | Lnyup &bknpny gl 28 5312,7 148 756
9 | Ujwagh Uwhiwwwunpwuinwlwy 2bpn h=10ud (2200x0.4x0.1) g 88 6291 553 608
10 | Unp wnihkphibu unnndwlh inbnwnpnud d=50x34d qdu 2200 1288,8 2835 360
11 | Ninhn dhwgnid d=5044 huwin 2 2619,9 5240
12 | Uwah wwownwwuhs 2bpin h=20ud (2200x0.4x0.2) g3 172 6291 1082 052
13 | <bwwnwnd thgp prynngbipny g3 586 818,1 479 407
14 | <hwnwnwpd (hgp dhinpny g3 30 1818,9 54 567
Lwhiwwbu Ynunwlws 9p-V Yungh puwhnnh pwpdnud kpul0.6503 3
15 28w, L inbnwihnbund igwynywn 14d dho@hting u 16 ez gl
Cunudbup VI 7 244 349
VIl. pbtaudh hunnigniud
Gplugwlywl npbuwdh Yunngmd L=1804
Ud 3+240-Li3+360. Yui3+540-4u3+560. {ui3+920-4ui3+940.
4i4+080-44+100 (L=180u)
1 | 206-Vill huingh puwhnnh thtupbgnud wwjpwugpwht |hgptiny P 0 3408,3 0

h=0.5-14 (170x0.75x1)




1" | 206-VIll Ywngh puwhnnh thtuptignud hhnpndnipéng I8 127,5 3408,3 434 558
9a-V Yungh puwhnnh thfupbgnul wwjpwugpwsht thgplipny h=0.5- 3

2 d 0 1962 0
14 (10x0.75x1)

2' | 9a-V Ywpgh puwhnnh thfupbgnud hhnpndnuipény g3 3,75 1962 7 358
Luwhuopnp thtupbgywsd 9a-V Yupgh puwhnnh dawlnid kpu. 0.6543 5

) 2.un. pwpdnud w/h nbnuidnfund igwlnywn 1 4d dhe. <bin. d 82 1788:4 IS0

4 | Umup 8bnpny B 1 11431,8 11 432
Luwluopnp thjuptigywd 206-VIll Ywpgh puwhnnh Jawlnud bpu. g

) 0.65d3 2., pwpdnd w/h wbnwihnfund (gwlnywm 1 44 She. <hn. . P 22,3 297
Lntup-&bnpny 3 12 15400,8 184.810
fuh6 40-704d ubwwynpyws puwhnnh dbg h=7ud U2 135 495 66 825
pbuwdh Yunnignud qdu 180 9816,3 1766 934

Lujbwlwt npbuwdh junmgmd L=744
Ui3+280. 4u3+320. Yu3+540. u¥3+920. ;i4+080

206-VilI Ywpgh puwhnnf fupbgnid wwypwlgpwiht thgplipny 3

! | h=0.5-14 (51x0.75x1.1) U 0 3408,3 0

1" | 206-Vill Ywpgh puwhnnh thtupbignwd khnpndninényg (51x0.75x1.1) 42 3408,3 143 149

~ | 98-V Yungh puwhnnh thiuptignud wwyewugpwihl thgptinny h=0.5- P 0 1962.9 0

“ | 1J (23x0.75x1.1x0.5) il

2 [ 9a-V Yungh puwhnnh thfupbignid hhnpndnipény(23x0.75x1.1x0.5) 9,5 1962,9 18 648
Luwtaonng thtupbgqwd-9a-V Yuwpgh-puwhnnh- dpwlnd bpu. 0.6543 3

3 2., pupdnd w/h inbnuithnfunud lgwynywn 1 4d Jhe. <bn, 1 18 126394 SIEAS

4 | Unwup dbinpny gl 1 9921,6 9 922
Lutuopnp thtupbigdwd 206-VHHl Yupgh puwhnnh dowlnud Epu. 5

> | 0.6503 g.un. pupdinul wh whnwihnfuncd wlnyn 1 48 dhg. <bn. | N Zlige> el

6 | Lntup &bnpny I8 4 15400,8 61603

7 | fuh6 40-700d ubywdnpdwd puwhnnh dbg h=7ud 15 3 18665,1 55 995

8 | Mpbuwdh Yunmgnud qdd 74 22395,6 1657 274
Bwuwwjwphp hwinyphg bwjuwwbu Ynwnwlwsd 10elV Y. puwhnnh

9 | pwpanu kpu. 2.543 2.1, nbnuihnfunwd hbnwnwnpd hgp 1 Yd dhe g3 28 845,1 23 663
htn.

10 | <hwnwnwpd thgp pnynngbpny 3 26 812,7 21130

11 | <bwnwnwpa thgp bnpny g3 2 1805,4 3611

Lunudbkup Vil 4 834 499
Vill. Bwbwwyuphwghl bpwbibibp

1| Lnp Gwb. upwulbph nbnwnpad. wnp pynud’
- bwhuwqgnipwgunn hwwn 738 23304,6 17198 795
- wnwybjnpjwl huwin 38 28793,7 1094 161

5 |- wngrrn hwtn 25 28793,7 719 843
- phlwnpnn hwtn 8 28793,7 230 350
- tnbnbBlwwnynyejw huin 20 10012,5 200 250
- inwgnighs nbnblwwnynipjwu huitn 36 13464,9 484 736




- wuhwwnwlwu bwhuwgddwu

(T R AL o g 1,78 543771 96 791
- wiuhwwnwlywl bwiwgddwu  (nbnbywindnysiwt) g2 an 543771 169 113
3 | LYwbquwl daw. junn 57x3.5dd hwwn il 222111 15792 092
4 | Uhwdény| pbwinub hpdp B-15 gl 74,66 48568,5 3626 124
Cunwdbup VIL. 39 612 254
iX. Vpuigdnid
Lawgdnuip punhwunip Jwybinbup (ebpdnwjwuwn h=3dd. wwywyb
1 ql?nhuhbnh s @ | 6087,4 | 9720 59169 528
Cunwdbup IX. 59 169 528
X. UpgBjuhuiyngbilin
Utiin. wpghjwihwyngubiph wbnwnpnid 3 4dd. Yuuguwlvbp odbibn
1| N16. puyip 2d Ynguin hwpdwdwdwnhsny qdd | 14091 28088,1 | 395789 417
Ubiun. wpgbjwihwyngubiph nbnunpmd 3 4dd. Ywuguwlubip odbibp
2 | N16. puyp 4d Yngin hupdwdwdwnphsny qdd | 2194 229527 | 50358224
3 | Mnhdbpwihu mnnnpn uintiubliph (C-1) tmbnwnpnud hwwn 237 4512,6 1069 486
Counwdbup X. 447 17127
Yctanoska mev. TpySut duap. =530 mm / Ubkwwnulul dupn=53044
lunnnywubph whnunpnud
Lnnuwht wohuwinwipubip 103-V Ywpgh puwhnnnu hnish nipndw
1| hwdwp £pu.0,650% 2.»n. pwpdnuwt w/h b inbinwith. |gwyniun 1,044 I8 9 2080,8 18 727
htin. ynw
4nn. wfuwwnwupubip 10s-V Ywpgh puwhnnnud thnunpwlubiph
2 | thnpdwt hwdwp bpu.0,650° 2.n. pwpdnud w/h L inbinwith. iN 10 2080,8 20 808
[gwynywn 1,04d htn. Jpw
<nn. waluwnwupubn 103-V Yupgh puwhnnnd thnunpwlubph
3 | dnpdwt hwdwp kpu.0,650% hnnph dpw Ynunwlbing hbwwnwpd d? 22 1060,2 23 324
thgph hwdwp
4 | UdwquynwSuyht bwhuww. h=10ud I8 0,95 9700,2 9215
5 | huwhu hhdp h=20ud a2 2,5 5382,9 13 457
S huwdwubph Gunmgnud dhwany pbinnuhg B20, F100 0 0
6 | hhdptip 3 1,68 117405,9 197 242
hpwuubp 2 1,62 117405,9 190198
faubph Yunnignw Jhwany| plivinuhg B20, F100 0 0
47 | hhdphp g3 0,76 67644,9 51 410
hpwtbp g3 0,36 69620,4 25 063
8 | Ydwph b hbuwhuwjht winwdh Jhwany, pivnnu B20 F100 g3 1,13 87286,5 98 634
9 f}r Z‘L’;;”g’})wé‘;;d:‘mhﬁoui" ';‘L;‘d’l”‘l“‘“h inbnunpnd gd0 | 164 | 1295838 | 2125174
10 | NpduwYwwwihu wdpwubp G16A500¢ I=45ud bag 2,84 878,4 2 495
Luywdpwihu gpwdbyniuwgnid 2 2bipn wriwp phinnwing 0 0
11 | unnndwl dwpwn= 530 JJd gdd 15,6 3522,6 54 953
phwnnu 2 16,36 1475,1 24133
i Chwnwnwnd \hgp 0 0
w) pniynnqbipny (103-V) us 20 967,5 19 350




| B) stinph wohuwnwitipny (105-V) | @ 2 1885,5 3 771
Cunwdkup X. 2 877 954
Ycranoska met. TpyGoi drap. =630 mm (komyx) / Ubwmwnuiljut
dwpun=630dy funnnultiph nbnwnpnud (Wwinjwt)
<nn. wluwinwptbip 10e-IV - Yungh puwhnnnu funnndubh
1| thnunpwiibph thnpdwt - hwdwp £pu.0,65 0 9.1, pupdnul w/h L gl 10 1805,4 18 054
inbnuih. |gwlnywn 3,044 hbn. Ypw
<nn. wptuwinwptbin 10e-lV  Ywpgh puwhnnnud funnqndwbh
2 | thnunpwlubph thnpdwt hwdwp kpu.0,65 43 Unnph Ypw g3 32 843,3 26 986
Ynunwytng hbinwnwnd thgph hwdwp
3 | Udwquinwwihb bwfuwuy. h=10ud e 2,57 97011 24932
Ubinwnwlwu dwpin=630dd funnnwlh (wwnjwt) inbnwnpnwd
4 1G50=107,55Uq, wwunh huun, 768 qdd 16,3 155035,8 2 527 084
Ubtnwnulwl dwpin=32544 funnnywih bbnpwanul wwuywuh dbg
=37 -
6 Ubunwnwlwt denm_BﬁSLId funanwlh whnwnpnud 1g8u=54,904g, a0 35,1 56638,8 1988 022
wwwnh hwuw. 7dd
7 | d=325x7dd funnndwlh 90° wlynibwlh nbnwnpnwd ug 39 2319,3 90 453
8 | d=325x7ud funnnywlh 60° wulniuwlh wbnwnpnw el 52 2319,3 120 604
Ruywdpuyht gpwdblyniuwgnul 2 gbipn nwp phinnwing 0 0
9 | junnnuwl) dwpwn=630dd wwnjwu qdu 16,3 4187,7 68 260
funnnyuwy dwpuin=32544 qdd 35,1 2160,9 75 848
Lhuwwnwps thgp 0 0
10 | w) pnynnqbpny (10e-1V) 1Y 29 967.5 28 058
p) 8bnph wafuwinwupny (10e-1V) 03 3 1885,5 5 657
Snjnueinil niubignn, dune=3250d dbin. funnnywlh wwwdntnwdnid a1l 34 24559 83 477
Ybpwnuwnd ubthwlwlwwnhpnep
Cunwdbup X. 5168 938
YcraHosKa met. Tpy6bi dHap. =1020 mm / Ubwrwnuljut dwpuin=10204¢
funnnywlbkph whnwnpnu
1| 98-V Yuingh puwhnnh thfupbgnud wwyewligpuht ihgptinny h=0.54 U3 0 4347,9 0
" | 98-V Ywpgh puwhnnh thfupbignu hhrpndnipény o3 102 4347,9 443 486
3 if_iao\gllli Ywngh puwhnnh thupbgnid wwipwlgpwyht |hgptipny 5 0 5586,3 0
2' | 20a-VIl Ywpah puwhnnh thlupbignud hhnpndnipényd g3 359 5586,3 2 005 482
3 ﬁgg-\slgl Ywngh puwhnnh thfupbignid wwjpwugpwht thgpbnny P 0 91548 0
3’ | 206-VIIl Luwngh pluuhnnh thtupbgnud hhnpndnipéing 3 317 9154,8 2902 072
<nnwiht wfuwwnwpliin 10e IV upgh puwhnnnu hniuh ninndwl
4 | hwdwn kpu.1.0 43 2.1n. pwpdnud w/h b inbnwih. |gwlnyw 1.04d s 46 1295,1 59 575
hbn. Jpw
<nnujht woluwinwipibin bwiuopnp hupbgyws Sa-v ywpgp
5 | puwhnnnud hnluh ninndwt hwdwn tpu.1.043 2.0 punpdnut w/h b gl 54 1641,6 88 646

inbinwih. [gwlnyin 1.04d. hbn. dpw




<nnwiht wotuwinwiupubin whuopnp thiupbigdwd 20a-VIli Yupgh
puwhnnnud hntuh nipqdwt hwidwp bpu.1.0d3 2.0, pwpénd w/h L
tnbnwih. (gulnyw 1.04d. hbn. Ypw

0'3

38,5

1967,4

75 745

<nnw)ht wluwwnwtptbp twhuopnp thfupbgyws 20a-Vil Ywngh
puwhnnnu hntuh ninndwt hwdwp bpu.1.0d3 9.1, pwpdnud w/h L
inbnuwith. [guynyw 3.04d. hbn. Jpw

u3

38

2255,4

85705

<nnuiht woluwnwupubin bwiuopnp thfupkgywd 206-VIII Ywpgh
puwhnnnud hniuh nipndw hwdwp Epu.1.043 2.un. pwpdnd w/h b
tnbnwth. |gwyryw 1.04d. hbn. Jpw

d3

62

1967,4

121 979

<nnwjht wtuwwnwupubin Uwtuopnp thiupbgywd 206-VIll Yupgh
puwhnnnu hniuh ninndwt hwdwp kpu.1.0U3 2.1, pwpdnud w/h L
inbnwih. (gulnyw 3.04d. hbin. Ypw

ljS

30

2255,4

67 662

10

<nn. watuwwnwuptbip 10e IV Yupgh puwhnnnd thaunpulyubinh
thnpdwt hwdwp Epu.1.0 43 2. pwpdnud w/h L ibinuih. gwynyun
1.0yd hbn. Jpw

d3

240

1285,1

310 824

11

<nnwjht wuwwnwupubip bwfuopnp thfupbigdwd 9a-V Yunpgh
puwhnnnid funnnyuwlh thnunpwih thnpdwu hwdwn Epu. 1.0d3 2.
w. pundnud w/h b wbnwidntunud igwlnywn 1.044 hbn. Ypw

d3

123

1641,6

201 917

12

Lnnuwijht wahiwinwuptbip Uwfuopnp thfupbgwsd 20a-VIl junpgh
puwhnnmd funnnjwlh thnunpuwigh thnpdwt hwdwp Epu. 1.043 2.
. pwpdnud w/h U wnbnuihnbund igwlnywn 1.0440 hbn. Jpw

d3

251,5

1967,4

494 801

13

Cnnuight wghawmutiptibip twhuepnp thhupbgyws 20a-VIl uipgh
puwhnnnud fjunnayuwlh thnunpwbh thapdwt hwdwp tpu. 1.043 2.
tn. puindnid w/h b inbnwithnpunud jgwibnyun 3.044 hbin. Ypw

NE]

31

2255,4

69 917

14

<nnwijht wluwwnwupubip Uwfuopnp thfuptigdwd 206-Vill upgh
puwhnnnd funnjwyh dinunpwlh inpdwy hwdwp fpu. 1.083 5.
w. pwpédnul w/h b inbnuithnfunwd guwlnywn 1.04d hbn. Jpw

d."\

166

1367,4

15

<nnuwjht watuwunwupbn Uwtuopng thiupbigwd 206-VIil Yuingh
puwhnnnui funnnwlh thnunpwbh dinpdwt hwdwp kpu. 1.043 9.
. pwpdnuwl w/h b inbnwithntunw igwynywn 3.044 hbn. Jpw

lj3

59

22554

133 069

16

<nn. watuwwnwupubp 10e IV Gwpgh puwhnnnud thnunpuwyubnh
thnpdwu hwdwn Epu.1.0 U3 Ynnph Ypw Ynunwlbny hbnwnwns
thgph huduwn

lj3

150

646,2

96 930

17

<nn. w2fuwwinwupubip bwfuopnp thfupbgywsd 9a-V Yupgh
puwhnmud-funnmjubh - dinunpulubiph tinpdwt - hwdwptpu.1.0 43
Ynnph Ypw Ynunwlybiny hbwnnwnwnd (hgph hwdwn

d3

27

838,8

22 648

18

Bwlwwwphwihu hwunyehg 10e-1V Yungh puwhnnh dowlnu bpu.
2.543 2.0, pwpdnd w/h b nbnuithnfund henwnwpd thgph
hwdwp 2.0yd

d‘3

279

949,5

264 9t

19

Udwquynwaught twiuwy. h=10ud

u’3

1,53

6421,5

74 040

20

huGwihu hhdp h=30ud

d&l

259,96

5263,2

1368 221

21

Guwdwuh Yunmgnwd dhwdny) plitinuhg 820 F100

0

0

hhdptip

u’3

40,44

115962,3

4 689 515

ppwutbn

72,5

115962,3

8 407 267

22

Npiuwywwwhu wdpwuuap 16 A500c 1=134ud

bg

135,68

791,1

107 336




Ubinwnwlwu dwpuin= 1020 dd funnndwlh nbqunnnud 1g50=249.08

23 AP e Rt: 1000 gSd 300,2 | 3695042,3 | 110786 498
24 | dwph U hbtwlwjht wnwdh Jhwény| plinnu B20 F100 a3 19,32 81470,7 1574 014
Rudwdpwihu gpwidblynwwgnul 2 gbpin inwp phnnwny 0 0
25 | funnnquy qdd 287,1 5872,5 1685995

pbwnnu 42 292,79 1257,3 368 125
* | Pwpwihu |hgp s 13,8 6141,6 84 754
Lhwnwnuwnd |hgp 0 0
w)pnnngbipny 10elV g2 386 808,2 311 965
26 | wjpnynngbpny 98-V s 24 808,2 19 397
n)sknph wohsmmwipny 10elV 18 43 1796,4 77 245
p)abnph woluwwnwupny 9p-vV g3 3 1796,4 5 389
Lunwdtup 137 331718
YcraHoeka met. Tpy6bl dHap. =1220 mm / U kunwnwljwy dwpn=1220dd
funnnyuljubph tnbnugpnud
1 | 9a-V Yupgh puwhnnh thtupbgnul wwjpwtgpuhu thgptipnd h=0.54 15 Q 43443 Q
1" | 98-V Ywpgh puwhnnh thtuptignud hhnpndngpéng g3 47,5 43443 206 354
2 f}%—‘g& Yungh puwhnnh thiupbignud wwipwbgpwiht thgpbinny P 0 5581.8 0
2" | 20a-VIl Ywpgh puwhnnh thiuptignud hhnpndnipény I8 60 5581,8 334 908
3 ﬁ?so‘gll;' Ywngh puwhnnh thiupbignu wjwjpwugpwiht thgptinny g3 0 9146,7 0
3" | 206-VIIl Ywpgh puwhnnh thtupbgnd hhnpndnipény g3 1 9146,7 9147
<nnujhu watuwinwupubp 10e IV wpgh puwhnnnud hniuh nupndwu
4 | hwdwp kpu.t.0 U3 2.1, pwpdnud w/h b inbinuih. gulnywn 1.044 Ul 56 1294,2 72 475
htn. Ypw
<nnuiht wtuwinwupubp Uwluopng thiupbgywsd 9a-V Yunpgh
5 | puwhnnnui hniuh ninndwb hwdwp bpu.1.043 .. pwpdnud w/h L g3 4 1640,7 67 269
inbinwth. (gwlnyw 1.04d. hbn. Ypw
<nnuijht wotuwinwlpubip Uwhiopnp thiupbgywsd 20a-VIl Gupgh
6 | puwhnnnd hniuh ninndwit hwidwp kpu.1.0d3 2.:n. pwpdnd w/h L 8 5 1137,6 5 688
wnbnwth. [gwynywn 1.04d. hbn. Ypw
Lnnuht wzhuuwnnwiptbp bwiuopnp thfupbgywsd 206-Vill Lwpgh
7 | puwhnnnud hniuh ninndw hwdwp Epu.1.0d3 2.un. pwpdnd w/h L g3 0 1137,6 0
wnbinwth. (gwlnyw 1.04d. hbn. Jpw
<nn. whuwinwuptbip 10e IV Yupgh puwhnnnwd thnunpwlubph
8 | thnpdwt hwdwp £pu.1.0 U3 2., pupdnd w/p b wbnuwih. lgulingn | 3 94 1294,2 121 655
1.04d hbn. pw
Cnnwjht waluwwnwlpubip bwfuopnp thfupbigws 9a-V Yuwngh
9 | puwhnnnu funnnyuwlh thnunpwyh thnpdwu hwdwp Epu. 1.043 9. gl 38 1640,7 62 347
wn. pwpdnud w/h b nbnwintunwd guynywn 1.04d hbn. Ypw
Lnnuijht wluwwnwlpubip bwhuopnp thiupbgdwd 20a-VIl Yupgh
10 | puwhnnnud unnnywh dinunpulyh thnpdwt hwdwp gpu. 1.043 7. g3 55 1137,6 62 568

. pwnpdnud w/h W inbnwihnfunwd guijnywn 1.04d hbn. Jpw




<nnuiht wuwwnwuptuan bwhuopng thfupbagws 206-Vill Ywpgh

11| puwhnnnud fjunnnywlyh thnunpwih thnpdw hwdwp bpu. 1.043 5. @ 1 137,6 1138
. pwndnid w/h b inbnuihnfunud gwlnynn 1.04d hbin. Ypw
<nn. wafuwwmwuplbip 10e 1V fupgh puwhnnnud thnunpwlubiph

12 | thnpdwt hwdwp £pu.1.0 43 Ynnph dpw Ynunwlbing hbinwnwna gs 123 645,3 79 372
thggh hwdwn
<nn. wfuwwnwupubp uwfuopnp thiuptgywd 9a-V Yupgh

13 | puwhnnnud funnndwlh thnunpwhubph thnpdwt hwdwp kpu.1.0 U3 I8 16 838,8 13 421
Unnph Ynw Ynunwybing hbirnwnwnpd |hgph hwdwp
Bwiwwwphw)ht hwunyehg 10e-1V Yuwpgh ptwhnnh dawlnid kpu.

14 | 2.503 2.in. pwpanud w/h L inbrwthnfunwd hbiwnwpd |hgph u? 4 948,6 3794
hwidwp 2.0yd

15 | Wwquinwuht bwhuwy. h=10ud gl 9,38 6417 60 191

16 | huGwjhu hpdp h=30ud g2 112,39 5259,6 591 126
Suwdwuh Yunrnignd dhwany, piwinuhg 820 F100 0 0

17 | hhdpbp I8 16,33 115869,6 1892 151
hpwutbp s 38,5 115869,6 4 460 980

18 | Npluwlywwwihu wdpwubp @16 A500c I=144ud Ya 36,32 790,2 28 700

19 Ubunwnuwlwy dwpin=122004 funnnywlh nbinwnpnul.1gdd= 357.49 g8 101,7 581018 4 59 089 571
4g. wwuwnh hwun. 1204

20 | Ywph b hbuwywiht wnwdh dhwény, pivinu B20 F100 g3 4,78 81405,9 389120
Lujwdpwihu gnwdbiyniuugnid 2 obiptn twp phuinnwing 0 0

21 | funnnduwy add 96,9 7018,2 680 064
phwnnu u? 133,61 1256,4 167 868

22 | Pwpwyhu thgp IS 0 6141,6 0
Lhunwnwnd thgp 0 0
w)pnynngbpng 10elV 3 114 808,2 92135

23 | w)pnynngbpny 9a-V o 14 808,2 11315

p)dbnph wotuwwnwupny 10elV (15 13 1795,5 23 342
p)&tinph wopuwwnwupny 9a-V g3 2 1796,188 3592
Lunwdbup 68 530 289

Yctanoeua meT. TpySst duap. =1420 ma / Ubinwnuilput
dwpwn=1420404 funnnjuljubiph nbnwnpnid
Lnnuwithu wigfuwwnwiptilipn hup nigndw hwdwp fpu.1,0 33 2. 5

! pwndnuwt w/h W inbnwih. (gulnywn 1,04d han. Ypw 10elV 1 4l 1298,7 Rl
<nn. wfuwinwupubp funnnulh thnunpwliubph thnpdwu hwdwp

2 | tpu.1,0d3 2.n. pupdnud w/h W nbinuidh. igulinyn 1,044 hbn. dpw @ 15 1298,7 149 351
10elV

3 <nn. woluwwnwupubp funnndulh thnunpwyubiph thnpdwt hwdwp P 123 648 279 704
kpu.1,0 ¢* Ynnph Ypw YnunwlYbing hEwnwnwpd thgph hwdwp  10elV

4 | UWwquynwbwiht twhiwy. h=10ud i 10,56 6417 67 764

5 | huwihu hpdp h=30ud gl 14,82 5259,6 77 947
Suwdwuh Yunmignud dhwdny) pbnnuhg  B20 F100 0 0

6 | hhdptip I8 4,21 1164231 490 141
hpwuubp g 13,914 116423,1 1619 911




7 | Npduwlwwwiht wdpwtubp @16 AS00c 1=235ud g 14,84 790,2 1727

8 Utiinwnwlwl dwpin=1420u0d funnnjwlh ntinwnpnud, 1gdd= 622.36 o0 33 4 3007634 | 10 045 496
4q, wwinh hwuwn.18dd

9 | dwpbph b hbuwlwiht wwnwdubph dhwany, pitnnu B20, F 200 gl 5,192 81700,2 424 187
Rujwdpwiht gpwdbynwwgnd 2 sbipin tnwp phunnuing 0 0

10 | tunnnduwy qdd 32,6 8738,1 284 862
phwnnu P 14,33 1255,5 17 991
Chunwnwpd hgp 0 0

11 | w) pnynngbpny 10elV 3 m 810,9 90 010
p) dbnph woluwnwupny 10elV g3 12 1801,8 21 622
Qnjnipyniu niubgnn gfluwdwubph pwunnul hbinwhwn dnipéing, 3

L2 puwndnd w/h W wbnwdnfunud gulngn 1,004 hbn. Ypw d 1,2 L P08
SQnynipynt ntubgnn, b/p onwijubiph wwwdnunwdnud, pwpdnut w/h L 5

13 inbnwihigwlnywn 1,04d hbn. Jpw (d=1.04) I 473 38464,2 161,936

Cunwdbkup_ 13 648 003
YcraHoska mer. Tpy6bl drap. =1520 mm / U bunwnwlwl dwpuin=152044
unnnduwlubph wntnunpnud

1 1 98-V upgh puwhnnh thlupbignid wywypwugpwihu thgpbipny h=0.54 U3 0 4341,6 0

1 | 98-V Yupgh puwhnnh thtupbignid hhnpnunipény, u? 0 4341,6 0

7 ﬁgz-\é'& Lwngh puwhnnh thuptignud wwyewgpwihu thgptipny 5 0 5578.2 0

2' | 20a-VHl Ywpgh puwhnnh thfuptignud hhnpndnupéng I8 0 5578,2 0

3 ﬁgg—ggl Yupgh puwhnnh thfupbignud wwjpwlgpuht thgpbipny 3 0 9140 4 0

3" | 206-VIll Ywpgh puwhnnh thiupbignud hhppndnipényg s 0 9140,4 0

4 <nnwjht watuwwnwupubp hnth nipndwu hwdwp fpu.1.0 43 2., 5 0 12933 0
pwpdnui w/h b inbnuith. (gulnywn 1.04d hbin. Jpw 10e-1V '
£nnuwjht wtuwwnwuplbp Uwiuopnp thiupbgywd puwhnnnd hniuh

5 | ninndwl hwdwp tpu.l.0d3 2. pwpdnd wi/h W wnbnuidh. jgwlnywn g3 0 1638,9 0
1.0yd. hbin. ypw 9p-v
<nnuiht watuwwnwupubp bwfuopnp thiuptigwd puwhnnmd hntup

6 | nunuwu hwdwpn kpu.1.0d3 2., pwpdntd w/h W inbinwih. [gwlnywn o3 0 1964,7 0
1.0yd. htn. ypw 20a-VIi
<nnujht watuwwnwupttip Uwfuopnp thiuptigywsd puwhnnnd hnith

7 | mnndwu hwdwp £pu.1.0d3 2., pwpdnd w/h b ibnuih. |gwlnyn us 0 1964,7 0
1.0yd. htn. ypw 206-VIII
<nn. wfuwnwuptbin funnnwyh thnunpwlubiph thinpdwy hwdwp

8" | tpu.1.0 U3 . pup&nid w/h W wnbinwih: gtuljniyn 1.04d hbn. puw gl 0 1293,3 0

10e-1V




<nnwjhu wouwnwupubp bwfuopnp thfupbigwd puwhnnnul

9 | junnnqwlh tinunpwlh thnpdwt hwdwnp kpu. 1.0d3 2. n. pwpdnd g3 0 1964,7 0
w/h b wnbanwithnfunw |gwynywn 1.04d hbn. pw 20a-V!I
Lnnujhu waluwwnwuputip bwjuopnp thfupbigywé puwhnnnud
10 | funnnwhp thnunpwlyp thopdwt hwdwp Epu. 1.0d3 2. n. pupbnd g3 0 1964,7 0
w/h W nbnwihnfundd [guynyn 1.04d hbn. pw 206-VIll
<nnuijht wuwnwuptbp uwjuopnp thfuptigwsd puwhnnnwd
11§ funnnuwlh thnunpuilih thnpdwt hwdwp tpu. 1.043 2. n. pwp&nu s 0 1638,9 0
w/h b inbnwihnfunud lgwlnywn 1.044 hbn. Jpw 98-V
12 <nn. wptuwnwupbbip funnnywyh  thnunpwyubiph thnpdwt hwdwp P 0 6453 0
Epu.1.0 43 Ynnph Ypw Ynwnwlbny hnwnwpd thaeh hwdwn 10e-V !
<nn. watuwwnwtpubn Uwfuopnp thlupbgywé puwhnnmd funnndwyh
13 | thnunpwlubph thnpdwt hwdwp kpu.1.0 & Ynnph Ypw Ynunwlbng us 0 837,9 0
hbunwnwna (hgph hwdwn 9a-V
Bwbwwwphwih hwinyehg 10e-1V Yuingh puwhnnh dawlnud kpu.
14 | 2.543 2.1, pwpdnud w/h W mbnwihnfund hbwnwnwpd (hgph g3 0 947,7 0
hwdwp 2.04d
15 | Uwquhnwbuw)ht bwhuww. h=10ud g3 0 6410,7 0
16 | hu6wjhu hhdp h=30ud I8 0 5255,1 0
Quwdwuh Ywnngnd dhwdnyj piwnnupg  B20 F100 0 0
17 | hhdphp I8 0 115786,8 0
hpwliibip g2 0 115786,8 0
18 | Npduwlwwuwhu wdpwiutip @16 A500c I=235ud g 0 790,2 0
19 Ubnwnuwywl dwpin=15200d funnnwlh wbnunpnid.igdd= 537 Yq. a0 0 8704593 0
wwnh hwuwn.15dd
20 | dwpbpph U hbbwlywiht wnwdubph dhwany; pnnu B20. F 200 gl 0 81347,4 0
Lujwédpwiht gpwdbynwgnid 2 gbipn nwp phuinwdng 0 0
21 | tunnnyuwly qdd 0 8738,1 0
pbwnnu u? 0 1255,5 0
Lhwnwnuwipd hgp 0 0
w)pninngbpny 10elV w3 0 807,3 0
22 | w)pnynngbpny 98-V g3 0 807,3 0
p)abinph wafuwwnwupny 10elV g2 0 1793,7 0
p)dbnph woluwinwupny 9a-vV e 0 1793,7 0
23 | Rwpwihu thgp w 0 6138 0
Cununfblp 0
YcraHoska /6 Tpy6 d=1.0m / Qwjwpnih &/p funnnywlutph d=1.04
wnbnwnpnd
1 | 98-V upgh puwhnnh thfupbignd wwjpwugpuwihu (hgptipny h=0.54 dgs 0 4371,3 0
1 | 9a-V Ywpgh puwhnnh thfupbgnud hhnpndnipény gl 0 4371,3 0
5 | 20a-Yl Gungh pluwhnnh thiupbignud wiwypuigpught thgpbipny P 0 5616 0

h=0.54




20a-VIi Ywpgh puwhnnh thfupbgnid hhnpndnipény

0'3

188,5

5616

1058 616

206-Vill wpgh puwhnnh thhupbgnwd wwjpwugpwiht |hgpbipny
h=0.5d

d3

9203,4

0

206-Vill Ywpgh puwhnnh thfupbgnwd hhnpndnipGng

63

82

9203,4

754 679

Lnnuiht woluwinwuptbn-10e V- Yupgh puwhnnnud hntuh: nunndwu
hwdwp tpu.1.0 U3 2.1, pupdnd w/h b ibinuid. gwynywn 1.04d
hbn. ypw

0'3

1302,3

19 535

<nnuiht woluwwnwptibp 10e IV Ywpgh puwhnnnud hntih ninndwts
hwdwp kpu.1.0 03 2.0, pwpdnud w/h b inbnwith. (gubnyn 3.044
htin. Ypw

d3

332

1518,3

504 076

<nnuht waluwinwuptbip Uwfuopnp thiupbigdwsd 9a-V Luwngh
puwhnnnul  hniuh ninndwi hwdwp pu.1.043 9.wn. pwpénud . wih L
wnbnwih. gwynywn 1.04d. hbin. Jpw

lj3

1650,6

<nnwihu woluwnuwsuptbn buguopnp thiupbgyuwd 20a-VIl Ywpah
plwhnnnul hmth nipndwts hwdwp Bpu 10483 2.0 pupdnud w/h b
inbnwith. (gwynyw 1.04d. hbn. Jpw

1978,2

<nnuijht watuwwnwpubp Uwhuopng htupbgwéd 20a-VIl Yupgh
puwhnnnu hnioh nuipniwi hwdwp bpu.1.0d3 9., pupémd w/h b

nbnuih. jgulinyin 3.04d. hbn. Jnu

dS

22671

14 736

Lnnuiht wotuwwnwuputin uwhuopnp thfupbgywsd 206-VII Ywpgh
puwhnnnud hntweh ninndwu hwdwp kpu.1.0d3 2.0, punpdnd w/h U
inbinwth. gwynywn 1.0Yd. hbn. Ypw

63

1978,2

7913

10

<nnujht watuwwnwuptbip Uwiuopnp thfupbigyws 206-VIIl fwpgh
puwhnnnd hniuh ninndwb hwdwn kpu.1.003 2., pwpdmd w/h W
nbnwih. (gwynyw 3.04d. hbn. Ypw

da

1

2267,1

24 938

1

<nn. wigfuwwwlgtbp 10e 1V Yuipgh puwhnnnud thnunpwlubph
thnpdwt  hwdwp kpu.1.0d3 2.in. pwpdnd w/h b inbnwdh. igwlnin
1.04yd hbn. pw

d3

1302,3

12

<nn. watuwwnwuptbp 10e IV Gupgh puwhnnnud thnunpwlubinh
thnpdwt hwdwp Epu.1.0d3 2., pwpdnud w/h b inbquid. (guibjnyen
3.0yd hbn. Jpw

0'3

134

1518,3

203 452

<nnuwjht wotuwwnwupubip bwfuopng thtupbigywd 98-V Yuwpgh
puwhnnnu funnnywyh thnunpwlyh thnpdwu hwdwp tpu. 1.043 9.
wn. pwpdnud w/h W nbnwihnfunw [gwlynywn 1.04d hbn. ypw

d3

1650,6

14

<nnuwjht watuwwnwupubipn bwtuopnp thtupbigwd 20a-Vil Yupgh
puwhnnnui junnnywyh thnunpwlh thnpdwt hwdwp pu. 1.043 2.
w. pupdnud w/h b inbnwihnfunwd iguiynyin 1.04d hbn. Ypw

u’3

92

1978,2

181 994

15

<nnuwiht watuwnwupubp wiuopnp thtupbigywd 20a-VIl wpgh
puwhnnnut funnnywyh thnunpwlyh thnpdwu hwdwp bpu. 1.043 2.
wn. pwpdnd w/h L inbnwihnfund (gwynywn 3.0Yd htin. ypw

63

64

2267,1

145 094

16

<nnuwht wotuwwnwupubip Uwiuonnp thlupbgyws 206-VIll ungh
puwhnnnd funnndwih thnunpwlh hinpdwt hwdwp bpu. 1.043 5.
. pwndnui w/h b inbnwithnfunud |gwynyn 1.04d hbn. pw

63

1978,2

29 673

17

<nnuijht wluwwnwupubip Uwtuopnp thtupbigdwd 206-VIIl uwpgh
puwhnnnut funnnywyh thnunpwyh thnpdwu hwdwp tpu. 1.043 2.
. pwpdnid w/h W inbnwithnfund |gwynyw 3.04d hin. Ypw

L)‘3

52

2267,1

117 889




<nn. woluwwnwupubip 10e IV wpgh puwhnnnud thnunpwlubph

18 | thnpdwu hwdwp Epu.1.0d3 Ynnph dpw Yrunwlbing hbnwnwpé g3 240 649,8 155 952
thgph hwdwp
<nn. wpfuwwnwtiputip twiuopng thfupbigdwd 9a-V Juipgh
19 | puwhnnnud funnrdwyp hnunpwlubph tnpdwt hwdwp bpu.1.0d3 a3 0 843,3 0
Ynnph dpw Ynunwybing hbnwnwnpé thgph hwdwn
BAwtwwwphwiht hwunyehg 10e-1V Ywnah puwhanh dawlynud Epu.
20 | 2.5d3 2.w. pwpdnd w/h b wbnwihnfuny hbinwnwpd |hgph a3 104 954,9 98 310
hwdwp 2.0y
21 | Ujwquiynwwiht bwhiwwywwnpwuwnnd  h=10 ud gl 26,36 6456,6 170 196
Suwdwup  Buwnmgnd dhwdny pluanuhg.  B20 F100. 0 0
22 | hhdphp I8 23,38 116587,8 2725823
hpwtibp § 37,380 | 116587,8 4358 052
23 | Jdwpp b hbtwlwihu winwdh dhwény; pannu B 20.F 100 g 20,68 81910,8 1693 915
Lwiwpnyh b/p N12 onuiyh inbnwnpnud V=0.35 U3 P=1.1w swihbpp
24 1B2z%x10Fg)ggud wdp.wwpnit.Ac240=25.7 Ug/d3. Ac500=67.71lg/u3 Fuitn 10 1610205 12 122 460
Onwlubiph Ywpbph dowynud (Yuwubhwephy, Ubpddwd phunuing)
25 | Onwyubiph hhdpliph dhwény| pbwinu B 20.F 100 g2 85,13 81910,8 6 973 066
26 | Unubdwihu gpwuibyniuwgnud g 120 6221,7 746 604
27 | Lujwdpwihu gpwdbynuwgnid 2 obipn wiwp phuinuing g 706,91 1264,5 893 888
Chwnwnwnd |hgp . 0 0 0
w)pnynngbpny 10elV I8 309 812,7 251124
28 | wipnynnqbipny 9a-V g3 0 812,7 0
p)dbinph wpluwinwupny 10elV Il 35 1806,3 63 221
p)abnph wauwwnwupny 9a-V gs 0 1806,3 0
Cunudbup 33 367 639
Ycraroska m/6 Tpy6 d=1.25m / Qwiwipnyh t/p funipndwlubpp
d=1.25¢ nnbknwnpnd
1| 98-V Gwnpgh puwhnnh thfupbignud wwypwugpwiht (hgpbinny h=0.54 g3 0 4365 0
1" | 98-V bwpgh puwhnnh thtuptignd hhnpndnipGny u? 0 4365 0
3 i?ig\éltly Ywngh puwhnnh thiuptignu wwjpwugpuwht thgplipny 5 0 5608,8 0
2 | 20a-Vil fwpgh puwhnnh thiupbignud hhnpndnipényg L 0 5608,8 0
3 igg—ggl Yungh puwhnnh thiupbignud wuypwlgpwihu thgplipny i 0 9190.8 0
3" | 206-VIll Ywpgh puwhnnh thtupbignid hhnpndnipGny Ul 0 9190,8 0
Qnnuiht waluwinwuptbip hntih ninndwu hwdwp pu.i.0 43 2.1, ;
| pwndnut wh U wbnuith. gulnyn 1.048 htn, dnw 1061V : 385 | 13005 S0I00
<nnwjht wtuwunwuptbn Uwfuopnp thfupbgyws puwhnnnu hniuh
S | ninndwt hwdwn kpu.1.0d3 2.1n. pwpdnud w/h W inbinuith. [guynyn I8 0 1647,9 0
1.0yd. hbn. ypw 9p-v
<nnwjht watuwwnwlpubp uwluopnp thfupbgywd puwhnnnui hniuh
6 | mnndwu hwdwp Epu.1.0d3 2.in. pwpdnud w/h U inbinuih. [guynyun us 0 1975,5 0

1.0yd. hbn. ypw 20a-VII




<nnwyhtu watuwwnwupubp uwjuopnp thtuptigywd puwhnnnd hntp

7 | nupndwu hwdwp Epu.1.0d3 2.:n. pwpdnud w/h b inbnwith. [gwlniywn I8 0 1975,5 0
1.04d. htin. ypw 206-VIII
&nn. wytu-ubp thnunpwlubph thnpdwu hwdwn Epu. 1.003 2.1 5

8 pupdnu w/h b inbinwihnfu.igwynyw 1.0Yd hbn. Ypw 10elV d 104 13005 1351252
<nnuwjht watuwnwupubip bwfuopnp thjupbgywsd puwhnnnil

9 | unnnywlh thnunpwlh thnpdwt hwdwp Epu. 1.0d3 2. . pwpsnd g3 0 1647,9 0
w/h W inbinwihnfuntd jgwlnyun 1.04d hbn. Ypw 9a-vV
<nnwht waluwwnwupubip bwluopnp thtupbgywd puwhnnmd

10 | funnnywyh thnunpwyh thnpdwt hwdwp Epu. 1.003 2. n. pwpénud g2 0 1975,5 0
w/h W nbnwihnfunad igwlnyin 1.04d hen. dpw 20a-Vil
<nnujhu watuwnwuptbp wfuopnp thiupbigdwd puwhnnnd

11 | funnndwyh thnunpwyh thnpdwt hwdwp Epu. 1.0d3 2. . pupdnd s 0 1975,5 0
w/h L inbnwithnfunud (gwlnywn 1.04d hbn. Ypw 206-VIil
<nn. watuwwnwuptbp unnnulh dinunpuiubph thapdwy hwdwp 5

12 kpu.1.0 &3 Ynnph Jpw Yninwlling hbwnwnwnpd thgph hwdwp 10elV U 66 648,9 42 827
<nn. woluwinwuptbp bwjuopnp thjupbgywd puwhnnnud funnnwyh

13 | thnunpwlubph thnpdwu hwdwn kpu.1.0 & Y4nnph dpw Ynunwlbng I8 0 842,4 0
hbwnwnwpé (hgph hwdwp 98-V
Bwlwwwphwiht hwunyphg. bwhiwwbu Ynunwlws 10e-IV lwnpgh

14 | puwhnnh pwpdnd w/h bpu. 2.503 2.0, b inbnwihnfunyd hbrnwnwps | @3 0 953,1 0
thgph hwdwp 2.0yd

15 | Uwquiynuyught ufnugyunpuinnned - h=10 i3 6,52 6447.,6 42 038
Suwdwuh Yunnignd dhwdny piiintthg  B20 F100 0

16 | hhdphp I8 7.02 116423,1 817 290
hpwtubp g 9,5 1164231 1106 019
(Gubph Ywnnignd Jhwdny| pbwnupg B20. F100 0 0

17 | hhdptp g3 453 64805,4 293 568
hpwuubn g2 4,25 67182,3 285 525

18 | Onwlubiph hhdpbiph dpwdny| ptivnu B 20.F 100 W | 3743 | 81793,8 3 061542

19 | dwph b hbuwlw)hb wwnwdh dhwany| pbnnu B 20.F 100 I8 53 81793,8 433 507
Lwdwpnyh b/p N14 onulh inbinwnpnd ¥=0.52 U3 P=1.3w swihbpp

20 ;Qoxﬂl)g)ggud wun.wwpniu.Ac500=17.1 Yg/d3. Ac500=78.34g/u3 huitn 34 142940.7 4859 984
Onwlubph Yupbph dawynd (Ywubhwepb) ubpddywsd phunwdng)
Cwywpnyh b/p N15 onwyp inbinwnpnud V=0.61 U3 P=1.5wn swihbinp

21 18523(‘)x1?:g)ggud wdn.wwpnitt. Ac500=17.2 g/d3. Ac500=103.3jq/u3 huitn 0 163501,2 0
Onwyubph Ywpbph dwlnud (Yuwibithweb) ubpd&ws phunnuing)

22 | Rufwdpuwihl gpwdblnuwgnud 2 sbipn twp phunuing W2 | 43826 | 12627 553 391

23 | Unuudwhu gpwiahniuwgnud g 37,97 6212,7 235 896

24 | Rwpwjhu hgp g3 0 6171,3 0




Lhunwnwnd (hgp . 0 0
w)pninngbpny 10elV @ 59 811,8 47 896
25 | w)pnynngbipny 9a-V gd 0 811,8 0
p)abnph wofuwinwupny. 10elV g2 7 1803,6 12 625
p)atinph wotuwinwupny 9a-V NE 0 1803,6 0
Lunuwdbbp 11 977 431
YcranoBka /6 Tpy6 d=1.200mm / Swyjwpnyh t/p
unnnywlutph d=1.20044 nbnwnpnud
1 | 9a-V Yupgh puwhnnh thjupbgnid bhnpndnipény u? 401 4365 1750 365
2 | 206-Vill wpgh puwhnnh thjupbgnd hhnpndnipény gl 261 9190,8 2398799
LnnuyhU wafuwnmwuplbip-Uwiuopnp thfuntigywd pwhnnntd  hnith
nuinuiwu hwdwp Epu.1.0d3 2.un. pwpdnd w/h L inbinwith. [gwlnywn e 4 1298,7 5195
1.04d. hbin. ypw 10elV
Lnnwhtu watuwwnwuputin bwjuopnp thtupbigwd puwhnnnd hniuh
3 | nupndwu hwdwp Epu.1.0d3 2.n. pupdnd w/h W wnbnwid. (gwlynywn g3 156,03 1647,9 257122
1.0yd. hbn. ypw 9p-V
Cnnwihb wotuwwnwupubp bwhuopng thiupbgywd puwhnnnd hniuh
4 | ninndwu hwdwp £pu:1:0d3 2.1, pwpdnud w/p L wnbinwith. |gwlnyun I8 64 1975,5 126432
1.0yd. hbn. ypw 206-VIiI
<nnuyhu wafuunnwuptip funnnywyh thnunpwih thnpdwu hwdwp
tpu. 1.043 2. wn. pwpdnuw w/p U inbnwithnfunw igwlnywn 1.044 hbn. I8 53 1298,7 68 831
ynw 10elV
<nnwhu watuwwnwupubp whuopnp thiupbgywd puwhnnnid
5 | unnnwyh thnunpulh thnpdwt - hwdwp bpu. 1:0d3 9. . pwpdnud I8 180 1647,9 296622
w/h W inbnwihnfunud lgwlnywn 1.04d hbn. ypw 9a-V
<nnuijht watuwwnwupubin wfuopnp thjupbgywd puwhnnnwd
6 | funnniwyh thnunpwlh thnpdwu hwdwp bpu. 1.003 9. w. pwpdnud Y 197 1975,5 389174
w/h W inbwihnfumd jgwinyn 1.04d hbin. 4pw 206-VIII
<nn. whuwnwiipubn wtuonng thtupbgyws puwhnnnud funnnwyh
7 | thnunpwlubph thnpdwt hwdwp kpu.1.0 & Ynnph dpw Ynunwlbng g3 467 8424 393 401
hbwwnwps (hgph hwdwp 9a-V
£nn. wptuwinwptbp Lwhueopnp thhupbguwd ptwhnnnwd funnndwbh
thnunpwlubph thnpdwu hwdwp bpu.1.0 & Ynnph pw Ynwnwlbing &3 30 648 19 440
hbwwnwnd thgph hwdwp  10elV
8 | Udwqulnwtuwihts bwhuwwuwinpwunnd  h=10 ud I8 60,09 6447,6 387 436
Hhuwdwuh -Ywnngnd dhwény) pinnuhg -B20-F100 0 0
9 | hhdptp 3 18,25 1164231 2124722
hpwttbp gl 36,53 1164231 4252 936
fGlbph Ywnngnw! dhwdény) pbiirnnuhg B20. F100 0 0
10 | hhdpbp a2 18,96 64805,4 1228710
hpwuubp a3 21,89 67182,3 1470 621
11 | dwph b hbuwhuwihu winudh hwdny phnnt B 20.F 100 I8 18,39 81793,8 1504188
12 b/p bwhuwjwpdws funnndwlubiph wbnunpnid qdd 186,17 153221 28 525 144
13 | Rudwdpwjhti gpuidblnuwgnd 2 2bipwn tnwip phunnuiny @ | 888,56 | 1262,7 1121 985
14 Lhwnwnuwpé thgp . 0 0
w)pnynngbpny 9a-v s 421 81,8 341768




w)pnynngbipny 10elV us 27 81,8 21 919
p)dbnph watluwwnwupny 9a-V 15 46 1803,6 82 966
p)dbnph waluwwnwupny 10elV @ 3 1803,6 5 411

15 | Rupwihl |hgp I8 3 6164,1 18 492

Cunwdblp 46 791 677
YcraHoska /6 Tpy6 d=1.5m / Qwuwpnydh t/p funpniuiubiph d=1.54
wbnwnpnul

1| 9a-Y Ywpgh puwhnnh thfupbgnul wuwjpwugpwht |hgpbipny h=0.54 I8 0 4360,5 0

1" | 98-V Ywpgh puwhnnh thtupbgnid hhppndnipény I8 0 4360,5 0

5 }219%\:& Yuwngh puwhnnh thfupbgnid wwjrwugpwiht |hgpbinny 53 0 5601,6 0

2" | 20a-V!l Ywpgh puwhnnh thjuptignid hhnpndnipéng g3 0 5601,6 0

3 ﬁ?g—\élllil Ywngh puwhnnh tfuptignd wwyrwugpwht |hgptipny P 0 9180 0

3" | 206-VIll Ywngh puwhnnh thiupbignud hhppndnipéng gl 0 9180 0
<nnuijht watuwwnwuptbip hnth ninndw hwdwp bpu.1.0 43 2., 3

4 puipdnid’ wih b wbnuih. \gwlnyin 1.04d han. Jpw 10é1V d 12 1298,7 15584
<nnuwjht watuwwnwuptbip 33e-11 juwpgh puwhnqnud hnluh anndwu

* | hwdwp kpu.1,0 &3 2.un. pwpdnd w/h b ibinuidh. (gwynyin 1,044 a3 80 945,9 75 672
htin. ypw
£nnuwjhb wtuwwnwupubip 33s-11 Ywpgh puwhnnnud hnth ninpnduwu

* | hwdwp bpu.1,0 J* 2.:n. pwpdnud w/h L inbinwih. igwlnywn 3,044 Ut 222 1138,5 252747
htin. Jpw
Lnnuht watuwwwupubip Uwtuopnp thiupbgywd puwhnnnud hntuph

5 | nimnudw hwdwp kpu.1.0d3 2.1, pwpdnd w/h W inbinui. (guibynin I8 0 1646,1 0
1.0yd. htin. ypw 9a-V
<nnwht wotuwwwupubip Uwtuopnp thiupbgwd puwhnnnul hniuh

6 | ninndwl hwdwp tpu.1.0d3 2.:n. pupdinud w/h L inbnwih. |gwlnywn I8 0 19737 0
1.0yd. hbn. ypw 20aVil
<nnuwht woluwwnwuputip Uwhuopnp thjupbigywd puwhnnnud hnwuh

7 | nupndwt hwdwp kpu.1.0d3 2., pwpdnid w/h b inbnwih. jgwlnywn B 0 1973,7 0
1.04d. hbtin. ypw 206-ViH
£nnwiht wztuwinwtiptibp hnth ninndwt hwdwp bpu.1.0 43 2., 5

8 pwpdnwd w/h b inbnuith. (gwlnyun 3.044 hbin. pw 10elV d 173 1514,7 262043
<nn. wylu-ubip thnunpwlubph thnpdw hwdwp tpu. 1.003 2.1n 5

) pwpdnu w/h W inbnwihntu.gwynyunn 3.0448 hbn. ypw 10etV ) 18 15147 12880
<nn. wfu-ubip thnunpwyubiph thnpdwt hwdwp Epu. 1.083 2.0 5

10 pwn&nud w/h L inbnwihntu.gwlnywn 1.04d hbn. Ypw 10elV ) 5 1298,7 22
Lnn. wotuunwtigibp 3387 Jwpgh plwhnnnud thnunnwlibph

* | thnpdwt hwdwp Fpu.1,08% 2., pwpdnd w/h b inbquwih. |gwlnyun s 146 945,9 138 101

1,04d hbn. ypw




<nn. wptuwwinwpubip 33s-11 wpgh puwhnnnid thnunpwltbph

* | tnpdwu hwdwp bpu.1,002 2.1, pwpdnud w/h L inbinwih. [gulnyn g 348 1138,5 396198
3,044 hbn. Ypw
Cnnwiht wafuwinwuplbip bwiuopnp thfupbgyws puwhnnnut
1} funnduwlh dinunpwbh hnpdwt hwdwp Epu. 1.0d3 2. w. pupanud g3 0 1646,1 0
w/h b mbnwihnfunid \gwlnyin 1.04d hen. Jpw 95-V
<nnwijht wluwwnwuptbp Uwfuopnp thfupbgywd puwhnnnud
12 | funnnjwlh thnunpwyh thnpdwl hwdwp kpu. 1.043 2. w. pwpdnud gl 0 1973,7 0
w/h b inbnwithnfunut jgwynywn 1.044 hbn. Ypw 20aVil
<nnwjht waluwwnwptbtin Uwluopnp thiupbigywsd puwhnnnid
13 | lunnndwlh thnunpwhh thnpdwt hwdwp Epu. 1.083 2. w. pupdnud I8 0 1973,7 0
w/h W wnbnuihniund jgwbnyn 1.0448 hbn. Ypw 206-Vill
<nn. wplswuinwlptbp funnndwyh thnunpwlubiph thapdwy hwdwp ]
14 kpu.1.0 43 Ynnph Ypw Ynunwlbny hbwnwnwns thgph hwdwp 10elV d 260 648 168 480
<nn. wafuwinwuplbp bwhiopnp thiupbgywd puwhnnnud funnndwlyh
15 | thnunpwlubph thnpdwt hwdwp Epu.1.0 8 4nnph Ypw Ynunwlbng g3 0 841,5 0
hbwnwnwps |hgph hwdwp 9a-V
Bwlwujwphwihl hwunyphg 10e-IV Yupgh puwhnnh dowynu bpu.
* 1 2,503 2.0, pwpdnud w/h b imbnwihnfund hbinwnwpé thgph I8 265 1812,6 480 339
hwdwp 2,044
16 | UWwquynwbwiht bwpiwwwwpwuinnd  h=10 ud g3 55,24 6439,5 355718
Suwdwuh Ywnnignud-dhwaény) piinthg  B20 F100 0 0
17 | hhdpbn gl 31,58 116289 3 672407
hpwuubip 3 54,432 116289 6 329 843
ferlbph Ywnmgnd  dhwdny plininuhg B20. F100 0 0
18 | hhdptp I8 20,53 64729,8 1328 903
hpwtubp g3 24,94 67105,8 1673619
19 | Onwlttinh hhugliph dhwény, pbunt B 20.F 100 W | 156,83 | 81700,2 | 12813042
20 | Ywph U hbuwluwjh winwdh dhwdny| pbinnu B 20.F 100 g3 28,76 81700,2 2 349 698
Cwywpnyh b/p N16 onulh inbnwnpnul V=0.72 43 P=1.8tn swihbpp
- i 3
27 :372%(10383“6 wdp.wwpniu.Ac500=16.5 g/u3. Ac500=76.74g/d huin 120 220797,9 26 495 748
Onwlubiph Ywpbph dawynd (wubthweb) Ubpdddws phunnuing)
Lwywpnuh b/p N17 onwlh inbnwnpnud V=0.84 43 P=2.1wn swihbpp
= — 3
7 :38226(1F02%)86ud wup.wwnntu.Ac500=15.7lg/d3. Ac500=119.04g/ huwtn 0 254021 4 0
Onwlubiph Ywnbiph dywiynud (Ywubthwpet) ubipddywd phunuiny)
Cwdwpnyh b/p N71 onulh inbnunpnud V=1.19 U3 P=3.0wn swihbpp
93 13924(3)(1?:2)8202“ wdp.wwnntu.Ac500=14.204q/d3. Ac500=118.0lq/u3 H 0 347505,3 0
Onwlubph Ywpbph dawynd (Guubthwpeb) ubpddlwsd phunnuing)
24 | Pujwdpuyht gpwdtiyniuwgnud 2 sbipin tnwp phinnudny B | 1180,82 | 1260,9 1488 896
25 | Unuudwihu gpwdblniuwgnud 2 170,24 6205,5 1056 424




Chnwnwnd hgp 3 0 0 0
w)pninnqbipny 9a-V s 0 810,9 0
26 | w)pnynngbipny 10elV gl 473 810,9 383 556
p)dtnph waluwwnwupny 10elV g3 52 1801,8 93 694
p)ébnph wauwwnwupny 98-V g3 0 1801,8 0
27 | Rwpwjhu thgp U3 10,24 6164,1 63120
28 Qnjnigntt niubgnn qiluwdwubph puwtinnud hbinwhwp dnény. Y 0 26757 0
pwpanw w/h bt wbnwihnfund (guynywn 1.0Yd hbn. Ypw
Snjnyentu niubignn b/p onwljubph wwwdntnwdnud. pwpdnd w/h L 5
2 inbnwhigwlnun 1.0Ld hbn, Jpu (d=1.04) d 0 gRiged .
Cunwdbup 60 149 184
YcraHoBka /6 Tpy6 d=1.500mm / Lwiwpnyh &/p
funanulubiph d=1.500d04 wnknwnpnd
1| 98-V fupgh puwhnnh thfupbgnd hhnpndnipéng g3 36 4360,5 156 978
2 | 20a-VIl Ywpgh puwhnnh thjupbignid hhnpndnipényg I8 12 5601,6 67 219
<nnwjht watuwwnwuptbip hnuh nippiwt hwdwp Epu.1.0 03 2., 3
3 | pwntinug wh W inbnuwih. gulnyn 1.04 han, dow 10elV I o 1298,7 66 234
Cnnuihl wotuwinwuptbp bwiuepng thhupbgdwd piwhnnnud hnith
4 | nipniwt hundwp Epu.1.0d3 2.in. pwpdnud w/h W nbinwidh. (gwlnyn gl 42 1646,1 69 136
1.04d. hbin. ypw 9a-V
<nnujht watuwwnwupubip Uwfuopnp thiupbgywsd puwhnnmud hniuh
5 | ninndwl hwdwp kpu.1.0d3 2.n. pwpdnd w/h b inbnuih. |gwynywn i3 4 1973,7 7 895
1.04d. hbn. ypw 20aVil
<nn. watu-ubp tinunpwiubph thnpdwt hwdwp tpu. 1.0d3 2.0 3
6 pwpdnud w/h b inbinwihnfu. gwlnyw 1.044d hbn. ypw 10elV J 12 1208v 125384
<nnwjht wtuwwnwupubip bwiuopnp thiupbgyws puwhnnnud
7 | tunnnywyh thnunpwyh thnpdwt hwdwp Epu. 1.0d3 2. 1. pup&nud g3 13 1646,1 21 399
w/p b inbnuinfunadd [gwiniywn 1.04d hbin. ypw 9a-V
<nnujht watuwwinwuptbp bwuopnp thfupbgywd puwhnnnud
8 | tunnnjwlh thnunpwyh thnpdwl hwdwp Epu. 1.043 2. . pupdnid s 8 1973,7 15790
w/h W inbnuihnhunut igwlinyn 1,000 hbn. Jpw 20aVvil
9 4nn. wgfuwwnwupubp funnndwlyh thnunpwlubph thnpdwt hwdwp P 16 648 10 368
kpu.1.0 W3 Ynnph Ypw Ynunwybind hbtnwnwind (hgph hwiwp 10elV
<. wibuwnwitipliin wfuopng lupbgyuwsd puwhnnnud funinygwlh
10 | thnunpwlubiph thnpdwl  hwdwp Epu.1.0 W Ynngh Ypw Ynunwlbinyg 18 17 841,5 14 306
hbwwnwps (hgph hwdwp 9a-V
11| UwaqwynwGwht bwiwwwinpwuwnnyd  h=10 ud gl 12,06 6439,5 77 660
Qluwdwuh Yunnignd dhwdny) painnuhg  B20 F100
12 | hhdphtip I8 4,21 116289 489 577
hpwuubp g 8,68 116289 1009 389
13 fGubph Ywnnignd dhwdny; pliinuhg B20. F100 0 0
hhdptip gl 4,48 64729,8 289990




hpwutbp a3 5,17 67105,8 346 937
14 | dwph W hbuwyuwihu wnwdh dhwdny| pewnu B 20.F 100 s 5,192 81700,2 424187
15 &/p bwhiwjwpdws funnndulubiph nbnwinpnud qdd 56,3 300763,4 16 932 977
16 | Rujwdpuyht gpwdblnuwgnid 2 shipun tnwip phunnuding 02 328,37 1260,9 414 042
bwnwnwné |hgp . 0 0
w)pnynngbipny 9a-v s 15 810,9 12 164
17 | w)pnynnqgbtipny 10elV g3 14 810,9 11 353
p)dtnph woluwwmwupny 9a-V g3 1801,8 3 604
p)atnph waotuwwnwupny 10elV I8 1801,8 3604
18 | Rupuyhu thgp 1Y 27,04 6164,1 166 677
Cunwdbkup 20 627 067
YcraHnoska /6 Tpy6 d=2.0m / Kwwpnyh &/p funpnjwliliph d=2.04
wbnunpnud
20a-V
1 Egz SILIs Yungh puwhnnh thfupbignud wwypwtigpuht thgpbipny e 0 5599,8 0
1" | 20a-VIl Ywpgh puwhnnh thfupbgnud hhnpndninény g3 0 5599,8 0
2 206-Vill Ywpgh puwhnnh thfupbgnud wwipwugpwht |hgpbinny 5 0 9177.3 0
h=0.5d
2' | 206-VIII Ywpgh puwhnnh thtupbignid hhnpndnipéng I8 0 9177,3 0
3 | 9a-Y Ywpgh puwhnnh thfupbignid hhppndnipéng g3 87 4360,5 379 364
<nnuwjht watuwwnwupubip hntuh ninndwt hwdwp kpu.1.0 43 2., ]
4 pwpdnud w/h b inbnuih. (gulnywn 1.04d hbin. Ypw 10elV d 354 1258 e
-Cnnuwyhb waluwinwiuptbp hntuh nunndwi hwdwp bpu:1:0-43 2.0, 3
° pwndnuwd w/h W inbnuith. gulynywn 3.04d hbn. dpw 10elV u 106 15111 1603174
Lnnuyht watuwwnwuptbp Gwhuopnp thiupbgywd pwhnnnud hnth
6 | ninndwu hwdwn Epu.1.0d3 9., pupdnd w/h L inbinwih. |gwynyn gs 0 1972,8 0
1.0yd. hbn. ypw 20aVvil
Lnnuwiht watuwinwlptbin bwfuonpnp thfupbigdws puwhnnnud - hniuh
7 | ninniwt hwdwp bpu.1.0d3 2.n. pwpdnud w/h b inbnwith. (gwlnywn a2 0 1972,8 0
1.04d. hbn. Jpw 206VIil
<nnwjht wztuwwnwlpubp Uwluopnp thtupbgyws puwhnnnut hniuh
8 | ninnuwl hwdwp tpu.1.0d3 2.:n. pwpdnud w/h b ibnuwid. igwlnyin g3 47 1877,4 88 238
3.0ud. hbn. Jpw 9p-V
-Cnn. watu-ubip thnunpulubph thnpdwt hwdwp bpu. 1.043 2.1 3
9 pwnénud w/h U ibnwihnfu.jgwlnyw 1.04d hbn. ypw 10elV d 319 12987 414 283
| &nn. wptu-tibip thnunpuiliibph thapduts hunfwp tpu. 1.003 2.0 - - = -
10 pwpanw w/h b inbnwthnfu.jgwynywn 3.04d hbin. ypw 10elV v 191 11 480 6y
<nnuiht waluwwnwptbin bwiuopnp thfupbigws puwhnnnud
11| tunnndwbh thnunpwyh thnpdwt hwdwp Epu. 1.043 2. w. pupdnud I8 0 1972,8 0

w/h b wnbnuihnfunwd (gwlnywn 1.04d hbin. Ypw 20aVIl




<nnwjhu waluwwnwuputp wfuonnp thiupbgwé puwhnnnul

12 | funqnwlh thnunpwyh thnpdwy hwdwp Epu. 1.043 2. . pupsnud g3 0 1972,8 0
w/h b inbnwthnfunid |gwynywn 1.04d hbn. Jpw 206VII
£nnujht watuwwnwupubp bwhuopng thiupbgwd puwhnnnud-
13 | funnndwbh thnunpwbp drpdwt hwdwp tpu. 1.0d3 2. w1, pwpdnd a3 79 1877,4 148 315
w/h W inbnwithnfunud jgwlingwn 3.04d htin. Jpw 9a-V
<nn. wpluwwnwuptbp unindwlh thnunpwlubph hnpdwt hwdwp ]
18 Etpu.1.0 ¥ Ynnph Upw Ynunwybiiny hbwnwnwpd |haph hwiwnp 10elV ) it 648 e
<nn. wpfuwuinwupubp unpnyulh tnunpwlubph thnpdwt hwdwp 5
15 kpu.1.0 #Ynnph Upw Ynunwlybing hbinwnwpd |hgph hwdwp 98-V J 48 840,6 40349
Buwbwuwwphwiht hwinyehg 10e-1V Ywngh puwhnnh dawlnud Epu.
16 | 2.5u3 2.1, puwpdnud w/h b inbnwithnfunwd hbtwnwpd hgph g2 0 952,2 0
hwdwp 2.0yd
17 | UdwquinwSught bwhuwwwinpuunna h=10 ud g2 79,72 6437,7 513 213
Sjuwdwup- Yunngmd dhwdny[ piumupg. B20 F100 0 0
18 | hhuptp g3 31,59 116253 3672 432
hpwlubp g2 61,94 116253 7200 711
feubnp Ywnmignd dhwdny pbwinuhg B20. F100 0 0
19 | hhdphp g2 23,58 64710,9 1525 883
hpwubip s 39,99 67084,2 2 682 697
20 | Onwlubph hhdpbnh dhwdny; pbinn B 20.F 100 1L 273,39 81675 22329128
21 | dwph b hbuwlywiht wunwdh dhwany| pbninu B 20.F 100 a3 46,29 81675 3780736
Cwywpnyh b/p N72 onwlh inbnwnpnud V=1.09 43 P=2.7un swihbpp
- = 3
2 ;Z;éx]S;géGud wup.wwpni.Ac500=14.5 lig/d3. Ac500=81.4Yq/J hwtn 133 426324.6 56 701 172
Onwlubph Yupbph dawynd (Yuubithwisby ubpddywsé phunwing)
Cwlwpnyh t/p N74 onwyh wbnwnpnd V=1.69 03 P=4.2un swihtipp
— 3 - 3
23 2B;%x1}9206(§4ud wun.wwnniu.Ac500=23.6 Lig/d3. Ac500=192.0yq/d huitn 4 679477 5 27 858 578
Onwyubph Yupbph dawynd (Yuwubithweb) ubpdsywsd phinwing)
24 | Pududpuyhl gpwdblniuwgnud 2 2l nwp phinnuing W | 1602,88 | 1260,9 2021 071
25 | Unutdwiht gpwibyniuwgnud 2 304,71 6203,7 1890 329
26 | Rwpwjhl thgp D 49,21 6162,3 303 247
Chwnwnwnd |hgp . 0
wipnynngbipny 10elV Ul 310 810,9 251 379
27 | w)pnynngbpny 9a-V gl 43 810,9 34 869
p)dbnph weluwwnwpny 10elV 3 34 1800,9 61231
p)dbnph wyliwwwupny 9g-V gs 5 1800,9 9 005
Gnjniegniu niubignn denwnwlwt funnnywlh wwwdnunwdnid.
28 | Ubpuwnwn ubthwlwbwihnnen  d=6304d @7 2 LlEL
Lunuibup 133 055 810




YctaHoska m/6 Tpy6 d=2.0x2.0m / Lwwpndh b/p

tunnnyuljubph d=2.0x2.0d nbnwnpmd 0
Lnnujht woluwwnwupubip 10e IV Yupgh puwhnnnd hatuh nindwu
1 | hwdwp kpu.1,0 &* 2.;. pupdnd w/h b wnbnwih. |gwynywn 3,040 I 34 15111 51377
htn. ypw
<nn. wptuwwnwupubp 10e IV Yupgh puwhnnnid thnunpwlubiph
2 | thnpdwt hwdwp Epu.1,0d8 2.:n. pwpdnwd w/h W inbnwith. (gwlnywn s 61 1511,1 92177
3,0u4d hbin. ypw
£nn. watuwunwupubp 10e IV Yupgh puwhnnnd thnunpulubiph
3 | thnpdwt hwdwp Epu.1,00® Ynnph Ypw Yninwlbiny hbuwnwnpé g 70 646,2 45234
Lhgph hwduwn
4 | Wwaqwynwtwiht uwhiwwwwnpwunntd  h=10 ud g3 11,33 5919,3 67 066
5 | Syuwnhph Yunnignwi dhwany peiinuhg B20, F200 us 1,08 66945,6 72 301
6 | Minnnpn pUbPh Ywnnignd dhwény| plinnuhg B20, FI00 0 0
3
7 hhdptn g 6,15 64576,8 397 147
8 | hpwulbp s 8,5 66945,6 569 038
9 | Onwyubph hhdpbiph dhwany) piwvnu B20,F 100 g3 31,95 81505,8 2604110
10 | dwph b hbtwlwjhu wnwdh dhwény plinnnu B 20,F 100 g 6,168 81283,5 501 357
Qwywpnyh b/p N48 onwlh inbnunpnud V=1,694% P=4,2in swihbipp
226x250x100ud wdp,wwpniu. A500C=122,904q/u®, A240C= 47,5
11 | Yg/® hwn 30 613675,8 18 410 274
B20, F200
Onwlubph Yupbph dawlnd (Ywubthwpeb; ubipddwsd phunwiny)
12 | Rujwdpwiht gpwdblniuwgnud 2 obipun inwp phinnuing ¥ 292,54 1258,2 368 074
14 | Unuudwhu gpwdbynuwgnud g2 55,098 6191,1 341 117
15 | Rwpwyjhu [hgp g3 2,738 6149,7 16 838
Lhunwnwpd (hgg . 0 0
16 | w)pnynngbpny (10elV) gs 63 809,1 50 973
p)&bnph woluwwnwupny (10elV) a3 7 1797,3 12 581
Cunwdbbp 23 599 665
ctaHosKa /6 Tpy6 d=3.0x2.5m / Qunjupnuh b/p
lunnnjuljubph d=3.0x2.5¢§ inbinunpnud
<nnwjhu watuwwnwupubn 10e IV Yuwpgh puwhnnnud hntuh ninndw
1| hwdwp bpu.t, 08 2.0, pupdnd w/h b wbnwih. igwlnyn 3,044 I8 0 1511,1 0
hbn. Ypw
Eipnuwd hnnuiht wyhuwwnwupubip 10e IV Yuwnpgh puwhnnnud hniuh
2 | nupndwb hwidwp bpu.d, 08 2.n. pupdnd w/h L nbnuig. jgwynyun § 0 15111 0
3,044 hbn. ypw
<nn. wotuwinwlplbin 10e IV Yungh puwhnnnud thnunpwlubiph
3 | thnpdwt hwdwp tpu.1,0 2., pupdnud w/h b inbinuih. jgubinyn 3 0 1511,1 0
3,044 hbn. Jpw
<nn. wotuwinwptbin 10e IV wpgh puwhnnnwd thnunpwitbiph
4 | thnpdwt hwdwp Epu.1,00° Ynnph Ypw Ynunwybing binwnwps gl 0 645,3 0

thgph hwiwn




<nnuwiht wopuwwnwptbn 338 - Il ywpgh puwhnnnud hnth nipndwu

* | hwdwp kpu.1,082 2.:n. pwpdnd w/h b inbnuwith. |gwlnywn 3,044 w3 322 1138,5 366 597
hbn. Jpw
Gpnd hnnuht watuwwnwpubp 33s - 1F Yuwpgh puwhnnnul hnwh
* | nipndwt hwdwp bpu.1,008 2., pwpdnud w/h b inbnuith. |gwlnyn g3 44 1138,5 50 094
3,04d hbn. pw
<nn. whuwnwiuptbip 33s - 1 upgh puwhnannud tinunpuwlubph
* Dibnpdly huidp Epu1,002 2.0, puipdnud wih b ibinuah. iguilyngin 1P 626 1138,5 712701
3,0uyd hbin. ypw
Bwuwwwphwihtu hwunyehg 10e-1V Ywngh puwhnnh dawlynd bpu.
* 12,5403 2., pwpdnud w/h W inbnuihnfunad hbnwnwpd (hgph e 439 1812,6 795 731
| hwdwp 2,04d
5 | Ujwquynuwbwiht bwhuwwwnpwunnud  h=10 ud gl 63,06 6425,1 405 167
6 | Ununpnud gfuwnpph fwnmgnud dhwény| pbwiinthg B20, F100 gl 2,49 66954,6 166 717
7 | benu gqiluwnhph Ywnnignd dhwdny, piwnuhg B20, F100 g3 1,45 66954,6 97 084
8 Ununpnud b bypmd murnpn plbph Ywnmgnw dhwényg plwnntihg 0 0 0
B20, F100
3
9 hhuptn ] 22,42 64585,8 1448 014
10 | hpwuubp gl 29,1 66954,6 1948 379
11 | Onwlubph bhdpbph dhwany; phunt B 20,F 100 e 132,661 81516,6 10 814 074
12 | dwph b hbuwlywht wwnwdh dhwény| pbnnu B 20,F 100 a2 29,92 81522 2439138
Qwdwpnyh b/p N92 onwlh ibnwnnpnd V=3,20u° P=8,0u swihbipp
. 3 _ 3
13 3;20())(3138%%6 wdp,wwpniu. AS00C-110,3Yg/d3, A240C- 43,1 Yg/d huitn 36 913520.7 32 886 745
Onwlutiph Ywpbph dawynud (uwubthwety ubinddyws phunnidng)
Cwywpnyh b/p N93 onwlh nbnwnpnui V=4,0203 P=10,0w swihbipp
. 3 3 3
14 3;26;31?:22x(120ud wdp,wwpniu. AS00C-212,54q/03, A240C- 12,6 Yg/d huin 46 136477 52 977 933
Onwlubiph Yupbiph dawynud (Yuubthweb) ubipddwsd phunniiny)
15 | Pujwdpwiht gpwiblniuwgnd 2 obipun tiwp phinnuwing 2 1027,45 1251 1285 340
16 | Unutdwjhu gpwdbyniuwgnid U2 205,281 6192 1271100
Lhnwnwnd hgp _ 0 0
17 | w)pnynngbipny 10elV Ul 395 809,1 319 595
p)abnph wauwwnwupny 10elV gl 44 1797,3 79 081
Cunwdbtup 107 363 489
Ycranoska m/6 Tpy6 6.0x3.0m / b/p 6.0x3.0 pugywépny funnnjwlh
inbnwnpnud
1 ﬁgg\g& Yuwngh puwhnnh tiupbgnud wwjpwugpwiht thgpbnny P 456 5599,8 2553 509
2 | 206-VIll Ywpgh puwhnnh thtupbignud bhpndnipéng o2 397 9177,3 3 643 388




<nnujht wluwwnwipubn uwfuopnp thfupbgywé puwhnnnud hniuh

3 | nnndwu hwdwp fpu.1.0d3 2.0, pwpdnw w/h b inbinwth. [gulynyun g3 52 2257,2 117 374
3.0yd. hbn. dpw 20aVil
Lnnuijhu watuwwnwupubn bwhuonnp thfupbgywé puwhnnnd hniuh

4 | nuinndwu hwdwp bpu.1.0d3 2., pwpdnd w/h b inbnwih. guynywn g3 5 2257,2 11 286
1.0ud. hbin. ypw 206VIII
Lnnujhu wgtuwwnwupubp bwiuopnp thfupbgywd puwhnnnud

5 | unnnyuwlh thnunpwlh tinpdwt hwdwp Epu. 1.043 2. w. pwpdnwd gl 404 2257,2 911 909
w/h W nbnwihnfunid lgwlnywn 3.04d hbn. Ypw 20aVil
<nnuhb watuwwwupubip Uwhuopnp thtupbgwd puwhnnnid

6 | unnndwlh dhnunpubh thinpdwt hwdwp fpu. 1.083 9. . pundnud § 392 22572 884 822
w/h U inbnuithnfunud igwbingun 3.044 hen. Jpw 208V
Bwuwwwphwiht hwunyehg. twhiwwbu Ynunwiwsd 10e-1V Yunpgh

7 | puwhnnh pwpdmd w/h bpu. 2.503 2.1, L wbnwithnfunud hbnwnwps | @@ 477 950,4 453 341
thgph hwdwp 2.0yd

8 <nnwjht watuwwnwuputp hnuh nipndwy hwdwp Epu.1.0 43 2.;. 5 0 1295 1 0
pwpdnd w/h W inbinwih. jguwlnywn 1.04d htin. Ypuw 10elV !

9 <nn. wzfu-ubip thnunpwliubph thnpdwl hwdwp Epu. 1.043 2.1 £ 0 1295.1 0
pwpand w/h b inbnwihnfu.gwynywn 1.04d hbn. ypw 10elV !

10 £nn. watuwinwupubp hnunpwlubiph thnpdwt hwdwp Epu.1.0d3 P 0 646.2 0
Ynnph dpw Ynunwlybnyg hbnwnwinpd thgph hwdwp 10elV '

1 | Wwquinwuwiht bwhuww. h=10ud g3 9,12 6421,5 58 564

12 | huwjhtu hhdp h=10ud g3 20,14 7210,8 145 226

13 | hunnndwlh hpwttbph hhdpbph dhwény; piunnu B 20.F 100 g3 173,9 64543,5 11224 115
Cbuwpwuubph hpwttbph hwywpnyh N5 pinlubiph pbiunnt

1| o, - 285x165x100ul. V=3.01u3. P=7.2un: hunn | 72| 3561813 | 25645054
Lbuwpwlubph hbpwtbph hbuwyubph Jhwdny] b/pbunnt. 5

15| .. 8 A240C-9.23 4g/d3. B12 AS00C-34.314q/u3: B25. F200 By B2 | 97082 | 1477 987

16 &/p hwjwpnyh gjfuwnhpubph N8 pinlubp suih. - 302x75x60ud. huitn 24 217749.6 5225 990
V=1.0943. P=2.7u:
Qfuwnhpubiph pinlubpp hbuwpwubbph pinlubiph hbin dhwynpdwt 3

17| (dnun|hinwguu) pbnn: B25. F200 d 1,46 | 799965 Lt
N31 dwdlh vwibph hudwpndh B/pbnnt. swth. - 53x100x660 ud .

18 | V=3.07uU3. P=7.7 w; hwtn 36 1185816 42 689 365

w.uy. Al= 33.1 4g/u3. All=152.3g/Jd3
19 | Dwdlh uwibph tnwy hbtwpwuwihu Jwubp bplbpun rnipbipnhnhg: g2 29,29 6863,4 201 029
20 Lnpnnuubiph dhwény| pbnnt funnndwih dnuinpnud W bgpnud 5 33 669105 220 805

banwiht uwitiph ypw: B20. F100




Twdlh uwiaph pinyubph bphgbipin unubdwihu gpwdblinuwgnud

21 | haqnqudny' wwywnuuwtihs sbpinh wdpwbwynpyws phnnuny U2 280,43 10809 3 031168
H=4ud:Udpwuwjhu gwug (100x100 dd) @4 Bp-l. P=0.217 wn:
Unyup' hbbwpwiubiph hpwutbiph pinubiph dhl Yuptiph

22 | unubduwht gpwdblynwgnwl wwownwwuhs obipnh 8x25x50ud g2 76,3 20844,9 1590 466
hwywpnyh pbwnnub uwihyubiphg B20.F100:
23 | dwph b hbuwlwiht winwdh Shwdny; plivnnu B20 F100 a3 12,78 81463,5 1041104
24 | lunnnuwlh hwwnwyh Ywnngnd Jhwény; pinnupg B20. F100 15 67,91 70365,6 4778 528
Ninnnpn. plbph Ywnnignw Jhwény| pbunnuhg B20. F100 0 0 0
25 | hhdphp Ul 40,02 64543,5 2 583 031
hpwulbp g3 31,68 66910,5 2119725
Funnndwlh hpwtubph W hhdplph. ninnnpn plbinh gpntunh hbn , ” S

26 2thynn dwlbplinypubph pudwdpwihtu opwdblnwwgnud: U 454,8 12582 572229

27 | Rwpughu thgp 3 0 6146,1 0
Lhinwnwpd thgp N 0 0 0

28 | w)pnynngbpny 10elV 5 430 808,2 347 526
p)dbnph wotuwwwupny 10elV gl 47 1796,4 84 431

Lunwdbup 111728 765
noanopHasn cteHa 1. Km 64725 - Km 6+782
Lhbwyuwin 1. Ud 6+725 - Ll 6+782

1 | 98-V lungh puwhnnh thupbgnud wuyewtgpuyht thgptinny h=1-2u e 0 1485,9 0

1" | 98-V Yungh puwhnnh thhupbignud hhnpndnipény b 0 1485,9 0
206-Vill Uwh bignud u u bpny h=1-

2 |20 Ywngh puwhnnh tifupbgnul wwjewugpwiht hgplipny, I 0 2715.3 0

2" | 206-VIll wpgh puwhnnh thfupbignd hhnpndnipny K 0 2715,3 0

3 | Lufuonng thiunbiguid 206-VIll huingh puwhnnh pundnu w/h 1.003 | 0 1972.8 0
2. wn. Epu.. b inbnwihnfund i gwlnyin 1 Yd hbn, Ypw '

4 | Lnyup &bnpny gl 0 15505,2 0

5 Luwluopnp thfupbigywd 9a-V Ywpgh puwhnnh dowynuip bpui 1.04° 5 0 8415 0
28w Ynnph Ynunwlynwiny hbnwnwpd thgph hwdwp o
Lnyup Shinpny 15 0 9898,2 0
Lwiwwwunpwunwywl obpn g3 0 6436,8 0

8 | <buwwwwnh hhdph hpwlhwuwgnd dhwény bpljwepbnnuhg o3 0 74455,2 0

2 | <hbwwwwnh hpwuh hpwlwlwgnd dhwény bplwppbunthg g3 0 73001,7 0

10 | <hdpbiph nt hpwth wdpw lg 0 450,9

11 | <bbwwwunp hbvnbwdwuh ppbiwdh (gudwpnimnh) hpwlwbwgnud d 0 10293,3 0

12 | Mpbuwdwiht funnndwlubiph nbnwnpnud d 0 2480,4 0

13 | <buwwwinh ublghwubiph dhele dhgwnhp u? 0 433,8 0

14 | Rudwdpwiht opwdbyniuwgnud 2 0 1260,9 0




Buwuwwwphwiht hwunyphg. twhuwwbu Ynunwlwd 95-V Jupgh

15 | puwhnnh pwpdnui w/h bpu. 2.5d3 2., L imbnwithnfund hbnwnwps | @8 0 1505,7 0
(hgph hwdwp 1.0yd
16 | <bwnwnwnd (hgp pnungbipny 9a-V u’ 0 810,9 U
17| Stunwnwpd thgp dbnpny,. 9a-V g 0 1800,9 0
Cunwdkup 0
nognopHas cteHa 2 . Kkm 6+930 - Km 64993
Chuwgywin 2. Ud 64930 - Ud 64993
1 9a-Y Yungh puwhnnh thiupbgnui wwypwugpuiht (hgpbipnd h=1-2d 5 0 1485,9 0
i" | 8A-Y Qupgh puwhnnh-thfupbignud-hhnpadnipéing OE 0 1485,9 0
206-V Uwh bgnud u u bpny h=1-
5 2\:6 It Ywipgh puwhnnh thjupbignid wwjerwugpwiht |hgpbipny e 0 2715.3 0
27" | 206-VHi Ywpgh puwhnnh thjupbignud hhnpndnupdnyg g3 0 2715,3 0
3 Luwfuopnp thjupbgywd 206-VIll Yunpgh puwhnnh pwpdnd w/h 1.043 £ 0 1972.8 0
2. . Epu.. b inbnuihnpunyd (gulnyw 1 4d htin. Jpw s
4 | Unyup Sbnpny g3 0 15505,2 0
5 Luwtuopnp thfupbgywd 9a-Y Jupgh puwhnnh dowlnuip kpud 1.00° P 0 8415 0
28w Ynnph Yrunwlnuing hbhuwnwpd thgph hwdwn y
6 | Unyup dbinpny g2 0 9899,1 0
7 | Lwhiwwwinpwuwnwlwl 2bpun e 0 6436,8 0
8 | <huwwwuwnp hhdph hpwywbwgnd dhwény, bpywepbnnuhg sl 0 74457 0
9 | <buwwwuinh hpwuh hpwlwuwgnud dhwény bpluwepbnnuhg g3 0 73003,5 0
10 | <phdpbiph nuhpwuh wdpw Ug 0 450,9 0
1t | <buwwwinh htwbwdwuh npbuwdh (guidwpnipink) hpwlwlwgnud ] 0 10283,3 0
12 | pbuwdwiht unnndwlubiph inbinwnpnwd d 0 2480,4 0
13 | <Buwwwwnh ubyghwlbph dhelt dhownhp U2 0 433,8 0
14 | Lujwdpwiht gpwdblyntuwgnid 2 0 1260,9 0
Buwbwwwnphwiht hwunyehg. bwlwwbu Ynnwlywsd 9a-V Yuipgh
15 | puwhnnh pwpdn w/h bpu. 2.543 2.n. U wbnwihnfund hbnwnwps | @ 0 1505,7 0
thgph hwdwn 1.048
16 | <bwinwnuwnd |hgp pninngbinny 9a-V g3 0 810,9 0
17 | <hwnwnwnd hgp Gbinpny  9a-V I8 0 1800,9 0
Cunwdkup 0
nognopHan creHa 3/{bbwujunn 3
KM/ u7+425 - km/Yu7+454.5
9n-V uwh d u bpny h 1.0-
1 2% : Yungh puwhnnh thtupbignu wwjrwugpwiht thgptinny h 1 5 0 1483.2 0
1" | 9a-V Yungh puwhnnh thfupbignud hhnpndnipéng B 0 1483,2 0
Luwtuopnp thtuptigpwd 94 -V Yupgh puwhnnh dowlnudp L
2 | pwpdnu kpu. 1.083 2.un.w/h wbn.gulnyn Jhusl 1.044 3 0 1642,5 0
3 | Unyup &hnpny I8 0 11523,6 0




Luwfuopnp thfupbigwd 9a-V Yuwpgh puwhinnh dywinwdp tpu@ 1.0d3

3
2 28w Ynnph Ynuwnwlnwing hbnwnwns thgph hwdwn d g 839.7 *
206 -Vill Uwh bgnwd u u tpny h
5 1‘0?2.00 Ywpgh plwhnnh thfupbignd wwpwlgpwhl (hgplipny 7 0 2710.8 0
206 -VIIl upgh puwhnnh thtupbgnid hhnpndnipényg IE 0 2710,8 0
Lwfuopnp thtupbgpwsd 206 -VIll Yupgh puwhnnh dowlyndp W
6 | pwpanu Epu. 1.083 2.wn.w/h wnbin.iguinywn dhgl 1.04d g3 0 1969,2 0
7 | Lbnyup &hbnpny g3 0 15477,3 0
8 | Lhuwwunnh hhdph hpwlwbwgnd dhwdny, pbwnthg g3 0 65168,1 0
9 | <bbwwjwiinh hpwuh hpwlwuwgnmd dhwény pbinnuhg s 0 67460,4 0
10 Lhbwwwinh hbinuwdwuh npbuwdh (gudwpnipnh) hpwiwtwgnd odi 0 10275,3 0
11| Hphuwdwihu funnndulutinh tnbnwnpnid qdd 0 2475,9 0
12 | Rujwdpwipu gnwdbiynwwgnid u? 0 1258,2 0
13 | <buwwwwnh ubyghwubph dhol dhownhnp U2 0 432,9 0
14 | <bhwnwnwpd thgp prynngbnny 9a -V gl 0 809,1 0
15 | Unyup &kinpnd 9g -V us 0 1797,3 0
Cununibup 0
noanopHas cteHa . Km 16+810 - Km 164838
CEuwwuwn. U 16+810 - LUl 164838
10e-IV Ywpgh puwhnnh dawynwip bpu. 1.043% 2.1, Ynnph
1| Ynunwynuing hbwnwnwnd hgph hwdwn (hnunpwih thnpduwu 3 850 648 550 800
dwdwuwy)
2 | Lnyup dbinpny. $ 9436 5261,4 496 466
3 | Uduwiguypwbuyptu stipw h=20ud d? 16,05 6437,7 103 325
4 | <huwwwwnh hpdph ppwlwbwgnd dhwény; pbunnuhg gl 103 64685,7 6 662 627
5 | <buwwwwh ppwth hpwlwiwgnu dhwany) phinnthg g3 96,19 66982,5 6 443 047
bu hwnuwd buwd d u d
6 Chuwwwnh hbinuwdwuh npbtwdh (gudwpnipnh) hpwlwiwgn a5 28 10294.2 288 238
7 | Mpbuwdwhu funnndwlubph inbnunpnd qdd 23,1 2481,3 57 318
8 | Rudwdpwihu onwdbynwwgny 2 193,21 1260,9 243 618
9 | <buwwwwnh ublighwubiph dhol dhownhp 02 43,05 433,8 18 675
10 | <bwnwnuwpd thgp pnynngbpny 15 653,93 810,9 530 272
11 | <bwwnrwps thgp Sbtnpny 10e-1V o2 72,66 1800,9 130 853
Luwluonnp dpwlwd 10e-IV Yuwpgh puwhnnp pwpsnuip tpu. 1,003
12 | 2-wn. w/h wbnwihnfunid \gwynywn dhehup 3.04d hbn. Ypuw g3 217,77 1125 244 991
Cunuitup 15770 230
nognopHan crexa . Km 17+355 - Km 174385
CEbwwyuwn LY 174355 - Uy 184385
10e-1IVywngh puwhnnh dawlnwd Epu. 1.25 43 2. . pupdmd w/h
1| whnwihnfunwd dhtgle 1hd, Yninwynwt hbiwwwwnbph hbwnwnwnpd g3 1317,66 1055,7 1391 054
thgeh hwdwp
2 | Unyup &bnpny gs 69,35 6521,4 452 259
3 | bwliwwwwnpwunwlwt sbpn g3 34,15 6428,7 219 540




4 | <Guwwwwh hhdph hpwywbwgnyd dhwényj Bplwepbnnihg d 375,18 74356,2 27 896 959

5 | <buwwwwnh hpwih hpwlwlwgnwd dhwény) bplwepbnnthg g 411,17 72905,4 29 976 513

6 | <phdpbph nt hpwuh wdpw g | 40309,65 450 18 139 343

7 | <Buwwwnh hbnuwdwuh npbuwdh (gudwpnipinh) hpwlwuwgnid qdd 30,6 10279,8 314 562

8 | Mbuwdwyht funnndwiubph nbnuinpnul adu 58,92 2476,8 145 933

9 | Rujwdpw)ht gnwibyniuwgnid g 568,13 1260 715 844
Luwhwwbu dawhwsd b Ynunwlwd 10e-IVywpgh puwhnnh pwpdnwd

10 | w/h 1.25d3 2. w. kpu., L whnuihnfund dhush 144,  hbbwwwwnbph | @3 846,06 842,3 797 242
hbnwnwnd (hgph hwdwn

11 | <bwnwnwpd thge pmnngbpny 10e-1V g 803,75 809,1 650 314

12 | Lbwnwnwpa |hgp dtnpny  10e-1V @ 42,3 1798,2 76 064
Luwhuwybu dawlwd b Ynunwlws 10e-IVjwpgh puwhnnh pwpdnud 5

13 | Wh1.2503 9. in. kpu., L inbmuithnfunud (gulynywn 346 htin, dpw | 940,96 | 11736 g3487

Cunwdbup 81 410 498
Rnuqdh unnignid d15+350-4d15+720 ,
d15+920-1;016+870

11 20a-Vll uwpgh puwhnnh thtupbignud hhnpndnipény I8 86,4 2509,2 216 795

2 | 9p-V wpgh puwhnnh thjupbignd hpnpndnipéng @3 21,6 1960,2 42 340
Fupwdninnt pwunnud bwiuwwbiu thfupbgywsd 20a-Vil Ywpgh

3 | puwhnnnu fpuB0.658 28 n@ pwpdnud wbnwihnfunw (gwlnywn g3 77.8 2395,8 186 393
3yd dhe@htin@ (0.9x0.6x160)

4 | Lnyup dbnpny e 8,6 15662,7 134 699
fupwidnunnt pwbinmd twhawwbu hupbgyws 9a-V Ywpgh

5 | puwhnnnud Fpu@0.6503 28 wnl pupdnd whnuihnlunw igulnyn a3 38,9 1298 77722
34d dhg@htn@ (0.9x0.6x80)

6 | Lnyup &bnpny gl 4,3 11646 50 078
Fupwdninnt pwunnud t0e-lV Yupgh puwhnnnud kpu@0.6543 ]

4 2B8wn@lnnph Ynunwlnud (0.9x0.6x941) u 5° G741 EoE

8 | Lnyup &bngny s 50 5265 263 250
Fupwdninnt pwunnwd 33r-ll Yuwpgh puwhnnnud Epu@0.658° ; o

% | JBunaynnph Ynunwlnu (0.9x0.6x200) g 28 488.7 s

10 | Lnyup &bnpny g3 10 2985,3 29 853
Ubinwnwywy funnniwih (wwwnjwt) inbnunpnid d=530x544

1 (154350 3534, 16+870 13q84) 1q81=64.744q gdd | 48 | 937718 | 4501051

12 | hunnndwlubiph gpwdbyniuwgnud qdu 48 3060,9 146 923

13 | Minjhtehibuwht funnnjwih tbppwantd wwunjwuh dbg d=90x4.300 | qdd 48 3703,5 177 768

14 | Mnthbehibuwht funnndwlh bbppwend wwnjwth dbg d=110x5.3dd | qdd 48 3703,5 177 768

15 | Uugnul danwnwlwu-wnihbrhlbu d=108-d=110 (4x0.5=24) hwn 4 5569,2 22277

16 | Uugnud wnipkpehybu-wnihkphlbl d=90-d=90 (4x0.5=24) hwn 4 5048,1 20192

17 | Wwgh bwhwwwinpwunwlwl obpun h=10ud (1381x0.6x0.1) 43 82,86 81441 674 820

18 | Lnp wnihtehibuwihu unnnwyp ibnwnpnu d=90x4.344 qdd 1381 2871 3 964 851




19 | Unp wnihkphibuwhu unnnduiyh wbnwnpnud d=110x5.3dd qdu 1381 3655,8 5 048 660
20 | Uhwgnui gnjniejniu ntubignn gdhu d=90dd hwun 4 6638,4 26 554
21 | Uhwgnud gnjnyejniu nitubignn gdhu d=110dd hwuwn 4 6952,5 27 810
22 | Wwah wwoinwwhs otipn h=25ud (1381x0.6x0.25-19.62) $3 187,53 81441 1527 263
93 | <bwnwnwnd [hgp prysnganny me-l\gSr-lll ® | 8 810,9 253 001
24 | CBwnuwnwind hgp &bnpny 1oe-|°v°r_|“ P 34 1801,8 61 261
Luwiuwwbu Ynunwlywd 10e-1IV Yupgh puwhnnh pwpdnu 3
25 | 1oum0.65° 22, U inbinuithnfunid jgulnyin 344 dhoBhbng u 201 102 RIS
Luwuwwbu Ynunwlwd 33r-11l Yupgh puwhnnh pwpdnwd ]
8 Lpu@0.65u3 9B, L inbnwihnunwt |gwinywn 34d dhe@hbin d 69 12028 86,443
Cunwdkbup 18 356 246
QYhwwhnpbp
1 Pnunpwlh pwunnd 10e-1V Yupgh puwhnnnud kpu@0.6543 2@w, P 6 1584 9504
pwpanw tnbnwthnfunud |gwlnywin 34d dhoBhbind
2 | Ujwquynwbwiht bwhuwwwwnpwunn h=10ud 18 0,68 5852,7 3980
3 | Hhwwhnp (d=1.0d &/p funnnywel) hwun 6 59765,4 358 592
4 | QpudbYniuwgnud d? 22,6 1261,8 28 517
5 | Uywdnunmwddwsd thwhwubbph wnbnwnpnid huin 8 2319,3 18 554
6 | Qpenn funnnwlubph wbnunpnu d=219x3ud 1g3J=15.98q, (1.5x6) | qdd 9 15699,6 141 296
7 | hunnnjwlubph opwdbynwgnid qdd 8,4 1264,5 10 622
B/p uwibph whnwnpnu, pnigk dinngny W Yuwithwphsny
8 (1.20x1.200.22) hwwn 6 264187,8 1585127
Cunwdbup 2156 192
Gnynieynitt nibgnn 9pwqdh wywdnunwdnid
Snjnueyniu ntubignn nhwnwhnpbiph pwunnud wbnwitnfunid lgulnywn
1 344 dhomhtin hwtn 4 560,7 2243
Sn)nupintu niubignn opwgdh funnnywlubiph wwwdnuwnwdnug
2 Ybpwnwnd ubthwlwuwmnhpngp 90x4.3dd 44 il 2817 SE3I020
Snynuejniu niubignn 9pwigdh funnnwlubph wwywdnunwdnid
3 | ybpwnwnd ubtwluwtwnhpngp d=108x54d dd | 1381 453,68 626 422
Qnnipniu ntsbignn hwlwuubph wwwdntunwdnd hbinwaquw
4 1 Jbpwwnbnunpnung - d=108 44 huin 4 1159,2 4637
Qnnipyniu niubignn thwiwuubnh wwywdnunwdnid hbnwquw
5 Jbpwinbnunpnuing - d=90 4 hwun 4 1159,2 4637
Cunuitiup 1026 966
Rpugsh hwwnnd §d17+695-nud 0
Fupwdninnt pwunnd 10e-1V Yupgh ptiwhnnnid Epu@0.6543 5 = 48 -
1 2BwnBYnnph Ynunwynud (1.1x0.6x45) d 23,7 6741 20021
Ubnwnwwt funnnduwyh (wywnjwt) inbnwnpnid d=325x5404 :
2 1q8U=39.464q qdd 40 42601,5 1704 060
3 | tunnpndwlyp opwidbynwwgnid qdu 40 1876,5 75 060
4 | Ubnwnwwl funnnywyh ubippwgnid wwwnjwuh dbg d=108x34d gdu 40 12359,7 494 388




5 | Uhwgnw gnjnyentu niubignn qdéht d=108dd inbin 2 8465,4 16 931

6 | <hwnwnwnd |hgp pnynngbipny gl 24 810,9 19 462

7 | <bwuwinwna [hgp dlinpny g3 2 1801,8 3604
Lwluwwbu Ynunwlwd 10e-1V Yupgh ptwhnnh pwpdnd 3

8 kpu@0.650° 9@, L wnbnwithnfunwt (guynywn 34d JheZhbna 4 3.7 1402,2 5188
Snjnyeyniu ntubgnn dbnwnuwy funqndwiyh wwywdnuwnwdnud

9 ybpwnwpd ubthwywuwwnppngop d=108dd q%d 40 453,6 185t

Cunwdbup 2 356 857
Qquigdh hwinmy Yd174+700-n1 0

fupwdnunnt pwunnd 10e-IV Yupgh puwhnnnud Epu@0.654° 5

1 28w BYnnph Yninwlynu (1.5x0.6x45) u 2018 6741 ersy
Ubitnwnulwl funnnjwyh (wwunjwt) inbnunpnid d=325x50d

2 1q8U=39.46lq qdd 40 42601,5 1704 060

3 | tunnnduwyp opwdbynwgnid qdd 40 1876,5 75 060
Mnihkphlybuwhu funnndwlh ubppwand wuwinjwup Jdbg

4 d=110x5.3dd qdd 40 7431,3 297 252
Uhwgntd gnjnyejntu niubignn gdhu d=110dd inkin 2 6952,5 13 905
Gnjnyejntu niubignn wwwnjwup wujwdnUnwdnd bepwnwpd

6 | ubhwlwtiwinhpnop d=325x54 98d | 40 2126,7 85 068
Snynuentu niubgnn wnihkphybuw;ht unnnjwbh wywdntnwdnid

7 Ybpwnuwnd ubthwywlwinhpngp d=110d4 984 e 281,7 1183l

8 | <bunwnwps thgp pnynngbinny I8 34 810,9 27 571

9 | <bwnwnwns hgp dhnpny gl 3 1801,8 5 405
Lwhuwwbu Ynunwwsd 10e-IV Yupgh puwhnnh pwpdnd 3

10 Lpu@0.65° 9@, L inbinwihnfunud (gulnywn 344 Shohting d 35 1402,2 +208

Cunudtup 2 252 361
Cunhwunipp 7 959 142 488
Cunwdbup' spwjuunnbudwé swiuubp ** 130 404 243
Wdpnnep 8 089 546 731

* Uhunjnph wpdbipp Gkpwnnud £ pnynp dwuubpp, bbpunpuy «Gwhnyppes b UU2Z-U 20%

* 2uwpiuntudws wphnwinwipubph b swjuubph hwdwp ywndppwnnih hnndhg Guwuwunnihtt npudwnpdnn wjwhnonnwgh dhenguibpp
Eupuljuw kb J&wpdwl’ Jepghithu Ynnhg hhdluynpnn thwunupnpbpp (quinwpnquijwb whnbph, hinhlwlught b ubkftihwljub

hulinnmpynit hpwljwbiugling whakph bqpuljugnmpinibhibph weljuynipyub) bbplupugdtine nhupnuk
Zhlp’ 22 Yunwdwpmpyub 2011 pywljwbh hnibhuh 23-h N 879-U npnpuwh 8-pn hunjhipws:

Owywjwpbpp-twluwhwihy
<< Uymuhph dwpgh $-8-93.LéLU-Swpl mbnwljwt tywtwlnipjut wdnnfwbwuwwphh Yd

0+000-4d 19+889 hwwnywsh Yhpwlwnnigdwt wrluwwnwupubph
(4d 0+000-Yd 9+500 hwinjuws

«Pwpwyuwt» UM puljtpnipjut Ynndhg hpwwbwgybijhp wiluwnmwuputip)

<< Hpuwd




3 <o g o
35 I | £5 38
NN W luunnwliptbph  wiyjwbnuip 23 H 3% _g.-g
s P S 53
1 2 3 4 5 6
1. <nnuypb wpfuunpuiipbibp
1 gga-V" Ywpgh puwhnnh thiupbignid wuypwugpwiht hgpipny h=1- | o 0 1996,2 0
1" | 20a-VIl uipgh puwhnnh thiupbignud hhnpndnipény a2 270383 1996,2 539738 545
2 }2191%/;" Yupgh puwhnnh thiupbignd wwjewgpusht thgpbipny P 0 2763 0
2" | 206-VII Ywpgh puwhnnh thjupbgnid hhnpndnipény a3 238746 2763 659 655 198
3 | 9a-Y Ywpgh puwhnnh tjupbgnud wwyrwugpwht thgpbpnd h=1-2d | J® 0 1512,9 0
3 | 98-V Gunah puwhnnh thfupbignud hhnpndnipéng g3 65403,5 1512,9 98 948 955
* | 9e-VI ungh puwhnnh thtupbignwd hhnpndnipény I8 0 1996,2 0
Luwfuopnp thtupbgywsd 20a-VIl fwngh puwhnnh dywynwd Epu. 5
4 2.543 9.in. pwpsnud w/h  inbnwihnfunad jgwlnyn dhske 1 4d J 52934 1575,9 BSSBET
Lwluopnp thjupbigyws 20a-VIl Yuwpgh puwhnnh dawynid ;
> pninngbpny. wbnwihnfuntd 304 Ynnph Ynunwynid 4 UL 575,1 1AL45r1
Luwfuopnp thfupbgyws 20a-VIl Ywpgh puwhnnh dawlnu
* | pnynngbipny, inbqwihnfund 304 Ynunwlynid, pwpdnud bpu. 2.503 IE 0 2457 0
2.tn. w/h wbnwihnfunud gwlnywn 3 Yd dhohu hbn.
6 Luwfuonpnp thfupbigywsd 20a-VII wpgh puwhnnh dawgnud bpu. P 0 1874.7 0
2.503 2., pwpdnd w/h nbnwihnfunud (gulniyin dhohtp 3 Yd !
Luwjuopnp thfupbigws 20a-VIl uwpgh puwhnnh dywlynd tpu. 2.543
7 | 2w pwpdnu w/h W wnbnuithnfunwd (hgp 14d, hwnyws Yd15+615- P 0 19915 0
4u15+635,  Ydi18+800-yd18+850 L Ld 19+300-4d19+370 '
{(hwppnd, ppnud, futnwgnid)
Lwiuonpnp thjuptigywd 20a-VII upgh puwhnnh dowlnud bpu.
2.543 2.wn. pwpdnu w/h L wbnwihnfund (hgp 1Y, hunywsd
ju0+360-yu0+340,  LU0+680-}yd0+900, km1+860-km2+000, u? 5700 1921,5 10 952 550
km3+020-km3+120 L Yu 3+240-4d3+360 (hwppnud, 9pnud,
fuinwgnud)
Luwfuopnp thjupbigyws 206-Vill Ywpgh puwhnnh dawynud Epu. 3 . _— "
8 2503 .01, puipding wh nbnuhnfunud (gwlnyw dhtsl 1 4J d 47644 1575,9 75082180
9 Luwfuopnp thjupbgyws 206-VIll upgh puwhnnh dowynud P 190574 574,2 109 427 591

pnynngbnny. tnbnwtinfunw 304 Ynnph Ynunwlnud




Lwfuopnp thtupbgdwsd 206-VIIl Ywnpgh puwhnnh dowlnud bpu.
2.543 2.un. pwpdnud w/h U inbinwihnfunid thgp 14d, hwnyws

4J0+360-4yu0+340,  LU0+680-4J0+900, km1+860-km2+000, u? 528 1921,5 1014 552
km3+020-km3+120 L Yd 3+240-4d3+360 (hwppenwd, 9nnud,
funwgntid)

10 Luwluopnp thfuptigywsd 206-VIIl jupgh puwhnnh dowlnd bpu. 5 0 1874.7 0
2.5u3 2.un. pwnpdnul w/h  wbinuihnfuntd guinywn 3 Yd dhghu hbin. ’
Luwfuopnp thtupbgywsd 98-V Ywnpgh puwhnnh dowhynw bpu. 2.543 ]

1 2-n. pupdnul w/h wbinwihnfunud lgulnywn dhusl 1 Y4 u L 1202:2 2518821930
Luwlfuopnp thtupbgyws 9a-V Yuwpgh puwhnnh dwynu )

2 pnynngbipnd. wbnwithnfunwd 304 Ynnph Ynunwlnud d 79280 5742 45522578

13 Lwfuonpnp thtupbgwsd 9a-V Yungh puwhnnh dowlynwd bpu. 2.503 5 0 1546.2 0
2.n. pundnud w/h wbnwihnfunud (gulnywn 3 Yd dhehtu hbn. !

14 9a-V Ywpgh puwhnnh dawlnid pnynngbpny wnbnwihntunut 504 P 12173 1327,5 16 159 658
thap (hwpenid. gpnud. futnwgnud)
9an-V Ywnpgh puwhnnh dawynwd tpu. 1.0d3 2.1, pwpdmd w/h b 5

= nbnwihnfunwd thgp 144 {(hwppnu. gpnid. futnwgnd) u 19534 1650,6 SagCe
9a-V Yungh puwhnnh dawynud kpu. 2.5 U3 2. n. pwpdnid w/h

16 | whnwthnfunwd dhtug 144, hnunwynd hbuwwwwnbph hbnwnwpa e 0 967,5 0
Lhgph huidwn

« | Lutuonnp thtupbgws e-VI Yupgh puwhnnh dowlnid kpu. 2.503 P 0 1503 0
2.1, pwndnd w/h b inbinwihnfunid |gwynywn 1 4d Shehu hin.

« | bwluonnp thtupbgywsd 9e-VI Yungh puwhnnh dowlnud 53 0 575 1 0
anynngtinny. wbinwihnfunw 304 Ynnph Ynunwlnut !

« | 9e-VILwpgh puwhnnh dwynw pnynngbpny wbinwihnfunud 504

Y 0 1330,2 0

thap (hwpenud. gpmid. futnwgnud)

» | 9e-VIwnpgh puwhnnh dowynud kpu. 2.543 2.1n. pwpdnud w/h L P 0 1846 8 0
wbnwithnfunwd thgp 1yd (hwpenud. gpnid. funwgnu) ’

+ | 9&-VIGwngh puwhnnh dawYnid bpu. 2.503 2.0, pwpdnd w/h b 5 0 1981.8 0
wbnuwithnfund hgp 2U4d (hwpenw. gpnwd. fuwnwgnud) ’

_ 3

17 103-V Jupgh puwhnnh dawynud fpu. 2.5¢ 9.1, pwpsnd w/h b P 0 1546,2 0
nbnwihnfund [guiynywnn 3 Y dhehtu htin.
103-V Yuwngh puwhnnh dawynud pnynngbipny wnbnwithnfunid 504 5

18 d 0 1327,5 0
thgp (hwpenud, gpnud, fuinwgnid)

. 3
19 10e-1V Yungh puwhnnh dawynud Epu. 2.50° 9.1, pwpdnul w/h b i 18889 1067.4 20162 119

tnbnwihntunwd lguwynyn Jhugh 14d




20

10e-IV Lpupgh piwhnnh dawilinud prignngbipny. inbnuthaunad 3000
Ynnph Ynunwlnut

u'3

75558

298,8

22576 730

1Ue-V Ywpgh puwhnnh dowlnud paynngbipny, nbnwdinfund 304
Ynunwynud, pwpdnud Epu. 2.50% 9.1n. w/h inbinwithnfunwd (gwiynijn
3 Y dhghtu hbin.

dS

1467,9

21

10e-IV Ywpgh puwhnnh dawlnud bpu. 2.50° 9.in. pwpénud w/h b
nbnwihnfund (guiynywn 3 Yu dhohu htin.

d3

1291,5

22

10e-1V Ywpgh gphwgbgwd puwhnnh dwlnu Epu. 2.5 2.,
pupdnud w/h b nbinwdhnfund jgwynyin 3 Y dhohu hbin.
{4d17+330-Yui17+400)

da

1291,5

23

10e-1V Ywpah 9phwabgwd puwhnnh dawynud bpu. 2.50° 2.0
pwpdnul w/h W mbnwithnfunud igwlnywn 3 Yd dhoht hbn.
{(L4d18+800-018+850)

u’3

1291,5

24

10e-1V Yupgh gphwabgws puwhnnh dwlnd bpu. 2.54% 5.,
pwndnud w/h b wbnwithnfunut |guinyin 3 Yd'dhght hbin.
(L4d19+300-4u19+370)

1291,5

10e-1V Ywpah onhwagbgwsd puwhnnh YHwlnud tpu. 2.5d3 7.1n.
pwndnd w/h b wmbnwthnfunwt lguwlnywnn 1 4d dheht hbin. Lu0+360-
Lu0+340,  L4uU0+680-Yyu0+900, km1+860-km2+000, km2+740-
km2+780, km2+940-km2+980, km3+020-km3+120 L YU 3+240-
yu3+360

lj3

7504

1067,4

8 009 770

25

10elV Ywpgh puwhnnh dzwynid pnynngbpny inbnwihnfunut 504
thgp (hwpenid. gpnid. fuinwgnul)

d3

19401

1166,4

22 629 326

26

10e-1V Ywngh puwhnnh dwynul kpu. 2.503 2.un. pupdnud w/h L
wnbnuwithnfun (hgp 14d (hwppnid. 9pnud. funwgnu)

0‘3

1699,2

67 874 544

27

10e-IV Ywngh puwhnnp dawlnid bpu. 2.5d3 2.un. pupdnd w/h b
nbnwthnfunwd |hgp 24d (hwpenw. 9pnud. funwgnud)

d3

13650

1812,6

24 741 990

28

10e-1V Jungh puwhnnh dwynud tpu. 2.5d3 9.1, pwpdnud w/h L
wbnwihntunud hgp 44d (hwpenud. gpnud. funwgnud)

d3

9310

2037,6

18 970 056

29

10e-1IV Ywngh puwhnnh dawynid kpu. 2.5 43 2. n. pwpdnd w/h
wbinuihnfunud dhusl 14d. Ynwnwymd funnnduiubph hbwwnwpé
thgph hwdwin

d‘3

231

1007,1

232 640

30

10e-1V Ywngh puwhnnh dawynud kpu. 2.5 43 2. n. pwpsnid w/h
nbnwihnfunud dhugl 14d.  Ynunwynd howwbintiph thgph hwidwp

03

172

10071

173 221

31

10e-1V Jungh pwhnnh dowlnwd bpu. 2.5 43 2. w. pwpsnud w/h
wnbnuihnfund dhgl thd.  YnunwYnwd Ynnuwlubph thgph hwidwn

d3

6205

10071

6 249 056

32

10e-1V Yungh puwhnnh dowynud Epu. 2.5 43 2. in. pwpdnud w/h
wnbnuihnfunud dhugl 14d. Ynunwynwt npbuwdh hbvwnwna thgph
hwdwp

lj3

28

1007,1

28199




33r-11 Yuipgh plwhnnp dowlynud Epu. 2,583 2., puipdnul wi/h

’ inbnwihnfunw (gwynywn 1 Yd dhehu hbn. u v 9378 v
33r-lll upgh puwhnnh Jawlynud pnynngbipny. inbnwithnfunwd 304
* a2 0 2925 0
Ynnph Yninwynd
33 33r-ll Ywpgh puwhnnh dawlnud fpu. 2.543 2.in. pwpdnud w/h 5 0 1161 0
inbnwithnfunwd |guynyw 3 Yd dhoht hbin.
33s-1i Ywpgh puwhnnh dawynd Epu. 2.543 2.1, pwpdnud w/h P 0 802.8 0
inbnwihntund gwlnyn 1 Yd dhehu hbin. ’
33s-l Ywpgh puwhnnh dawlnid pnynngbpny. ibnwihnfund 304 5
i S S : u 0 283,5 0
Ynnph Ynunwynd
33s-If Ywpgh ophwgbigwd puwhnnh dawynid kpu. 2.50° 2.wn.
pwpanw w/h b ibinwihnfunid (guynywn 1 Y4d dhohu htin. g? 0 802,8 0
(L4u14+030-Yyu14+120, yd 15+314-L4d15+500)
33e-1l wpgh puwhnnh dowbnu Epu. 2.543 2., pupdnd w/h P 0 1005.3 0
tnbnwinnfund |guwynywnn 3 Yd dheht hbn. !
33e-Il uwpgh ophwqbgwsd puwhnnh dwlynu bpu. 2.503 ..
pwnpanw w/h W inbnwithnfunud [gwlynywnn 3 Yd dhoht hbn. g3 0 1005,3 0
(Ld15+500-yd15+900)
98- Ywpgh puwhnnh dowlynud kpu. 1.0082 2.1, pwpénud w/h b
34 | nbnuhnfund 64y, wwindhpwunth Ynndhg hunljwgdwsd I8 0 11331 0
nwpwdp, ywhbunwynpnw hbtnwqu oquinwgnpddwt hwdwp
WuwinhGwbtbph Yunnignd
: gga-V" Ywngh puwhnnh tfuptignud wwjpwiugpwiht (hgplipnd h=1- | 0 1996,2 0
1" | 20a-VIl Ywpgh puwhnnh thfupbgntd hhnpndnipényg I8 7449 1996,2 14 869 694
2 ﬁg?_—;’llj“ Yungh puwhnnh thtunbgnud wwjpwugpwih thgptinny 53 0 2763 0
2" | 206-VIll Ywpgh puwhnnh thtupbignid hhnpndnipéng, gs 876 2763 2 420 388
3 | 98-V Ywpgh puwhnnh hjupbignid wwypwugpwihu thgpbpny h=1-2d | & 0 1512,9 0
3" | 9p-V Lpupgh pwhnnh thhuphgnul hhnpridnipéing i3 1166 1512,9 1764 041
Uuwnhwutbph Yuwnnignud bwhuwwbu thtupbgwsd 20a-VII Yupgh 5
4 puwhnnnul pnynngbipny (nbnwihnfund dhusle 204) i 7449 43,7 3305,
UuinhGwititbph Yunmgnud bwhuwwbu thfupbgdwd 206-VIIl Gupgh 5
> | puwhnnnud pnyrngbnny (abnwinfunud husl 204) d 876 43,7 S68;60]
Uuinhfwtubph Ywnnignd bwhuwwbu thiupbgdws 9a-V Ywpgh )
6 puwhnnnu pnynngbipny (nbnwithnfunud dhusle 204) u 2332 43,7 1038
7 Uuwnph6wuubiph unngnd 10e-1V Yupgh puwhnnnud pnynngbipng P 15116 M5 3197 034

(nbnwithntunwd dhusl 204)




Linnhutiibiph Luinnignud 10a-V lpupgh plidhnnnud pagnngbipnd

8 | (ntiwthnfunud dhtsk 204) v v 4437 v
Uuinh&wutbph Yunngnut 338-1l Ywpgh puwhnnnud pnynngbpny s 0 195.3 0
(nbnwihnfunud Jhugl 204y '

Cunuwdbup I. 2038 448 696
1. Unnuyhlr wnnibibp

1| 202-Vil jungh pwhnnh thiupignud wwypwtigpuihl hgptipny 5 0 56988 0
h<0.54.

1" | 20a-Vil wpgh puwhnnh thtupbgnid hhnpndnipény 2132 5698,8 12 149 842

5 | 206-VIll juingh pwhnnh thfupbignud wwipwitigpwihl hgptipny P 0 9338,4 0
h<0.54.

2' | 206-VIll upgh puwhnnh thtuptignd hhrpadnipéng 2254 9338,4 21 048 754

3 | 9A-Y Gungh ptwhnnh thupbignud wuwjewlgpwyht |hgptinny P 0 4435 0
h<0.54.

3' | 9a-V Jwpgh puwhnnh thupbignud hhnpndnuinény 657 4435,2 2913926

* | 9e-VI jupgh puwhnnh thfupbgnid hhnpndnipéing g3 0 5698,8 0
Ynnwihtu wnniubph hpwwuwgnw bwhuwwbu thfuptigdws 20a-Vil

4 | hwpgh puwhnnnd kpu 0.65d3 2.w.. pwpdnd inbnwihnfunw B 2025 2199,6 4 454190
gwlynyw 14d dhohu htin
Ynnwyht wnniubiph hpwiwbwgnd bwiewwbu tjuptigdwd 20a-Vil

5 | Ywpgh puwhnnnui dbnpny. pwpdnid kpu 0.65U3 2.1n. g2 107 12532,5 1340978
wnbnwihntunwd gwynyn 14 dheht hbin.

Ynnuwijht wnniubph ppwlwtiwgnd bwiuwwbiu thtupbgduws 20a-Vil

6 | Yupgh puwhnnnd bpu 0.658° 9.un., pwplnud wbnwihnfund a? 0 2499,3 0
[guynywn 3yd Shohtu hbn
Ynnwht wnniibph hpwfwiuwgnud, uwhuwwhy, thupbagdwd 2Qa-Vil

7 | Ywpgh puwhnnnid dbnpnd, pwpdnd kpu 0.65d3 9.un. gl 0 12830,4 0
tnbnwihntund (gwynywn 3yd dhohu hbin.

YUnnwihtu wnniubph hpwlwuwgnd Bwhuwwbu thupbgywsd 206-VIil

8 | Yupgh puwhnnn kpu 0.65U3 2.u1n.. pwpdnw nbnwihntunwd gl 2141 2199,6 4709 344
lgwlnywn 14d dhohu htin
Ynnwiht wnnubiph hpwhwuwgnd bwiuwwbu thiupbgyws 206-VHI

9 | Yupgh puwhnnnu dinpny. pwpdnw kpu 0.6543 2.0 o3 113 16326 1844 838
nbnwthnfunwd (gulnyw 144 dhoht hbin.

Unnuht wnnitbiph hpwwtwgnud Bwhewwbe thhupbgdwd 206-Vill

10 | wpgh puwhnnnut kpu 0.6503 .., pupdnd  inbqwihnfunud g3 0 2499,3 0
[guiynywn 3Yd dhohu htin
Unnuwjht wantubph hpwlwuwgn uwhuwwbu tiupbgdwsd 206-VII

11 | Ywpgh puwhnnnui dknpny, pwpénid tpu 0.6543 2.un. g3 0 16623,9 0

inbnwihnfunwd (gwynywn 34d dhohu hbn.




12

Ynnuwjht wnniusbph ppwywuwgnul twiuwwbu thfupbagyws Sa-v
Ywpgh puwhnnnud Epu 0.6543 2.in.. pwpdnd wbnwdnfunwd
igwynyin 14d dhohu htin

0’3

1248

1843,2

2 300 314

13

Unnwjhtu wnnibiph hpwlwiwgnyt twiuwwbu thjupbgdwd 9a-V
Ywpgh puwhnnnut Gnpny. pwpsnud Epu 0.6543 9.tn
inbnwthnfunud |gwinywn 14d dhohu hbin.

u‘3

66

12175,2

803 563

14

Unnuwjht wnniubph hpwywuwgnud bwhiwwbu thiupbgywsd 9a-vV
Ywpgh puwhnnnui kpu 0.654° 2.1n., pwpdnwd nbinwithnfunud
[gwynywn 3yd dhohu hbin

d3

2084,4

15

Unnwiht wamubph hpwlwtwgny bwhiwwbu thfupbgyws 9a-V
Ywngh puwhnnnud dtinpny, pwpdnid kpu 0.654U3 9.tn
inbnwihnfunyt |gwinywn 34d dheht htin.

lj3

12416,4

Unnwjht wnmubph ppwiwiwgnd bwhiwwbu ghupbgws
9e-Vi upgh puwhnnnud kpu 0.658° 2.11., pwpdnid  nbnwihnfunud
[guynyin 14d dhohtu htin

03

2128,5

Ynnwiht wnnibph hpwywbwgnud bwhwwbu thfupbgws
9e-VI wpgh puwhnnnwd dbinpnd, pwpsnu tpu 0.6543 2.0
nbnwthnfunwd |gwlynywn 1Y4d dhohu hbn.

63

12003,3

16

Unnwihu wnniubph hpwlwlwgnd 10e-lV wpgh puwhnnnd bpu
0.65u3 2..n.. pwpsnu nbnwihnfunw lguynywn 14d dhehu htin

da

1464

1427,4

2089714

17

YUnnwihu wnntuph hpwywuwgnid 10e-IV Juipgh puwhnnnd
Sbnpny. pwpdnwd kpu 0.65d3 2.t wbnwithinfunud guibjnyw 14d
dhghu hbin.

d?

77

6731,1

w
co
5]
w
w

18

YUnnuwihtu wnniubiph ppwlwuwgnut 10e-1V Yupgh puwhnnnud kpu
0.6503 .un., pwpdnul wbinwihnfunid lgwlnywn 34d dhght htin

d3

1651,5

19

Unnwiht wnntubph hpwhwuwgnd 10e-1V uwpgh puwhnnnul
&binpny, pwp&nwd Epu 0.6543 2.0 inbinuihnfund jgwlnywn 34
dhght htin.

63

6954,3

20

YUnnwjhu wnniubiph hpwlwuwgnu 103-V Jupgh puwhnnnu bpu
0.652 2.1n., pwpdnud wbnwthnfunid lgulnywn 34d dhoht hbin

L}'3

2084,4

21

Unnuiht wnndibph hpwlwtwgnt 103V upgh puwhnnnut
&bnpnd, pwpdnul kpu 0.65U3 2.t inbnwithnfunud |guwlnywn 34d
dhghu hbin.

12416,4

Unnwiht wnnwbph hpwlwiwgnd 33r-1ll Yupgh puwhnnnud kpu
0.6503 2.un., pwpdnu  nbnwthnfunwd [guwynyw 1 4d Shoht htin

u’3

1236,6




Ynnwiht wnntibph hpwlwtwgnwt 33r-Il Yuipgh puwhnpnud

* | sbnpnd, pwpdnw Epu 0.65U3 2.1 nbnwithnfund (gwlnywniyd g2 0 4059,9 0
dhghtu hbin.
2 Unnwyhu wnnibiph ppwlwtiwgnwd 33r-1l Yupgh puwhnnnud Epu 5 0 1458 0
0.658% 9.1n., pwpdnud wbnwithnfunwd (gwlnywn 3 Yd Jheht hbin
YUnnwjht wnniubph hpwywuwgnut 33r-1l Ywipgh puwhnnnud
23 | &bnpnd, pwpdnul kpu 0.65U3 2.un inbnwithnfunut |gwilnywn 344 g 0 4419,9 0
Shoht htin.
« | “nnuiht wnntwbph ppwlwiuwgnd 33e-1l jupgh pluwhnnnd bpu P 0 1033.2 0
0.65° 9.1n., pwpdnwd  inbinwthnfunud (gwlnyw 1 4d dhohu hbin ’
YUnnwjht wnniutiph hpwywuwgnwd 33s-11 Ywnpgh puwhnnnd
* | &bnpny, pwpdnd Epu 0.6503 2.1 nbnwihnfunud guinywnild 15 0 2950,2 0
dhght htin.
« | Ynnwiht wnntubph hpwlwuwgn 33e-1l upgh puwhnnn Epu P 0 1235.7 0
0.654% 9.un., pwpdnuwd inbinwthnfuntd [gwynywn 3 Yd dheht hbin !
Unnwht wnnbph hpwlwlwgnd 33e-1l Ywpgh puwhnnnw
* | &bnpny, pwpand kpu 0.65d3 2.1 nbnwihnfunwd jgwlnyn3yd I8 0 3152,7 0
dhght hbin.
Cunuwdlp I. 54 173 756
. Ynnbuuljulip
10e-1V Yupgh LUwhiwwbiu dwlwsd puwhnnh pwpdnwd tpu. 2.5 d3
1 | 2. w. w/h. mbnwihnfund Ynnuwlubiph thgg 14d (hwppnud. gpnid. a3 6205 1539,9 9 555 080
jutnwgnid)  h=26ud
2 | Unnuwlubph wdpwgnu wjwqujnwwipu nyend hdhe.=10ud. a2 23864 639 15 249 096
Lunwdbup 1. 24 804176
** 1V. <mibh mpnnd §18+700-4Ud18+760
1 Lniuh pwunnid 10e-IV Ywpgh ptwhnnnd pnynngbipnd, P 0 1249 0
wbnwthntuntd 104, Ynnph Ynwnwynw ) ’
Cunwdbkup H1**. 0
V. Epplubhth duu
1 | Cwwnhlwynp Gupwhhdp. (wjwquinwhs) h=10 ud g2 0 507,6 0
1* Cwinhlwynp bupwhhdp lubwywquiht fuwnunipnny C4 2 | 109054,8 507,6 55 356 216

hdhg.=10ud.




FuGwlwquiyht hhdp (C-5) h=20ud
1004? hwdwp

fuh6 (40-70) 10% - 2.64°

fuh6 (20-40) 35% - 9.14°

2
2 uhé (10-20) 20% - 5.20° it 75745,6 2083,5 157 815 958
fuhG (5-10) 10% - 2.64°
fuh6 (0-5) wjwgq 25% - 6.54°
onip-1.1d3
Fungnpwhwuhly pupdp Swynnhbunyejwdp w/p h=6ud 2 72742,3 4149,9 301 873 271
4 | lungnpwhwwnhy w/p h=6ud U2 72742,3 5688,9 413 823 670
"B" inhyh dwupwhwwnhpl fuhin nwp w/p h=4ud U2 72742,3 4211,1 306 325 100
Cunwdbup IV. 1235194 215
V. hounpbinkip b dnupplip
1| 20a-Vll Yuingh puwhnnh thupbignud wwjpwtgpwht thgptinny gE 5604,3 0
h<0.50.
1" | 20a-VIl Ywpgh puwhnnh thiupbignid hhnpndnipényg g3 75 5604,3 420 323
5 | 9a-V Luingh puwhnnh thtupbignud wuypuiugpuht |hgptinny S 4362,3 0
h<0.54.
2" | 9a-V Ywngh puwhnnh thiupbgnid hhnpndnipéing 3 1041,5 4362,3 4 543 335
Lufuonnp thfupbigdwd 20a-VIl hwngh puwhnnh dowlnus fpu. 3
3 1.043 2.wn. pwpdn w/h wbnuiinfund |gwlnywn 1 Y4d dhe. <bn. u 7 1974,6 IHEI08S
Lwfhuonnp thtuptigdwd 9a-V Ywpgh puwhnnh dowlnmd kpu. 1.003 , - -
4 2-n. pwndnu w/h nbnwithnfund [gulnywn 1 4d dhg. <hn. J 2083 1647 3430 701
5 10elV Yuwpgh puwhnnh dawiynud pnynngbpny wbnwihnfund 5048 P 4 17,8 4 471
thgp {hwppnud. onntd. funwgnud)
Buwbwwwphh hwunyehg bwhiwwbu Ynunwlws 10elV Yupgh
6 | puwhnnh pwpdnu bpu. 2.5d03 2., inbinuithntunwd (hgp 1 Yu dhe g3 172 1507,5 259 290
hbn. (hwppnuw. gpnud. futnwgnid)
10e-IV Ywingh puwhnnh dawlynud Fpu. 2.5 9.un. pwpénd w/h b
* 3
nbnwihnfunud |gwynywn 1 Yd dhoht hbin. U o 1067,4 97133
- 3
7 10e-1V Yupgh puwhnnh dwlynud kpu. 2.50% 2., pwpénd w/h W £ 0 1240,2 0

wnbnwihnfunud |gwlnywn 3 Yd dhehu hbin.

opplblth Jwu




huSwJwquwjpht hhdp (C -5 ) h=12 ud
fuh6 (40-70)- 10% - 1.5643
fuhé (20-40)- 35% - 5.464°

1 | tuh6 (10-20)- 20% - 3.124° 2 467,78 1371,6 641 607
fuhé (5-10)- 10% - 1.564°
fuh6 (0-5)- wywq 25% - 3.943
onip-1.143
2 | b whwh dwupwhwwnhy fupin w/p h=4 ud U2 433,58 4223,7 1831312
Ubinwnuwlwy funnnywlubp @ 53044
1| Wwqulynwtwiht 2apin h=10ud (dbiwn. funn, nwl) W 4,095 5853,6 23 970
2 | Utw. funnnjwlubiph @ 530x5dd wbnwnpnud qdu 63 129420 8153 460
3 | Qpudbynuwgnud (2 sbipwn tnwp phuindng) qdd 58,8 3060,9 179 981
4 | Uhwény pinnub B-20 qluwdwubp a3 5,6 116515,8 652 488
5 | Sfuuniwubph enunibbnuiugnud (2 obipin inwip phranudm)) 2 21 1261,8 26 498
Lunwdbup V. 20 412 665
R Bwbwwwphht hwpnn wnpynipubph Swppnud
1 10elV Yungh puwhnnh Suwynul pnynngbipny inbnwihnfunud 504, P 0 4536 0
Ununwlntd
5 1_Qe|Y_L-|w!1qh Fhwhn‘qh dzufunld Gbinpny, wbnwthntunid P 0 5702.4 0
phigrngbnny 504, Ynunwlynul
Lunwdbkup V***. 0
Vi. Rpuiqdh Ywnnignid {d0+000-4u2+200
;| 20a-VIl huingh puwhnnh thfupbignud wuyewigpuiht thgptinny P 0 34335 0
h=0.5-1d
1| 20a-Vil Ywpah puwhnnb thhupbgnud hhrpndnipGny g2 248 34335 851508
2 1931-\’ Ywngh puwhnnh thfupbgnid wuypwgpwiht hgptipny h=0.5- | . 0 1978.2 0
2" | 9a-V Ywngh puwhnnh thtuptignud hhnpndnipéing e 34 1978,2 67 259
Fupwdninnt pwbinnd bwhuwwtiu thlupbigywsd 20a-VIl Ywpgh
3 | puwhnnnui kpuB0.650° 28 wl pwpdnid inbinwidinfund |gwlniyun I8 236 2127,6 502 114
1yd dheBhtin@ (ix0.4x5620)
4 | Lnyup &tinpny I8 12 15516 186 192
Rupwdninnt pwtnnud twhuwwbu hlupbgdws 9a-V Yupgh 5
° pUwhnnnul Epu@0.6502 9BwnBYnnph Ynunwlynud (1x0.4x170) ] 65 osp S24R13
6 | Lnyup Shnpny 3 3 9996,3 29 989
rupwdninnt pwunnwd 10e-1V upgh puwhnnnut bpu@0.654° )
i 28wndYnnph Ynunwynud (1x0.4x1410) U 236 A 254212
8 | Unyup &binpny U3 28 5312,7 148 756
9 | Uduwgh bwhiwwwinpwuwluwl sbipn h=10ud (2200x0.4x0.1) a3 88 6291 553 608
10 | Unp wnihkphibu funnnulyh wnbnunpnd d=50x344 qdd 2200 1288,8 2 835 360




11 | Nnhn dhwgnd d=504dd hwn 2 2619,9 5240
12 | Udwgh ywawnwwuhs obipn h=20ud (2200x0.4x0.2) I8 172 6291 1082 052
13 | £bwwnwnd thgp prynngbnny g3 586 818,1 479 407
14 | <hunwnwnd |hgp dkinpny gl 30 1818,9 54 567
Luwfuwwbu Ynwnwlhws 9a-V Yupgh puwhnnh pupdnd :
15 £pu0.654d3 28wn. U inbinuihnfunut (gulnywn 1Yd dhe@hbing J 16 1762 20
Cunwdbup VI. 7 244 349
ViI. Mbuwdh punmgnid
bphuwybwlwb nphbwdh Yunnignid L=1804d
LUy 3+240-Ud3+360. 4u3+540-4u3+560. Yu3+920-1i3+940.
jy4+080-i4+100 (L=1804)
. 206-Vlil wpgh puwhnnh thtupbignd wwjpwugpuwihu thgpbipny P 0 3408 3 0
h=0.5-14 (170x0.75x1) '
1" | 206-VIll Ywpgh puwhnnh thtupbgnwd khnpndnipéng g3 127,5 3408,3 434 558
9a-V Ywngh puwhnnh thfupbignud wwjpwugpwiht thgptinny h=0.5- § .,
2 d 0 1962 0
U (10x0.75x1)
2" | 9a-V Yupgh puwhnnh thfupbgniud hhnpndnipéng a3 3,75 1962 7 358
Luwtuopnp thtupbgywd 9a-V Ywpgh puwhnnh dwlnu tpu. 0.6503 3
3 | S0 pwpdnud w/h wbnunpunud jgwbnyn 1 44 dhe. <bn. u 6,5 1769,4 1301
4 | Uniup linpny g2 1 11431,8 11 432
Luwtuopng thtupbgywd 206-VIll Ywpgh puwhnnh dowynud Epu. 3
5 | 0.6563 9.un. pwpéinu wh wbnwinfunud @ulny:n 1 4 dhg. <. | & | V85| 223 24397
6 | Lnwp Sbnpny g3 12 15400,8 184 810
fupt 40-700d ubwwinpwsd puwhnnh dbg h=7ud 2 135 495 66 825
Ypbuwdh Yunnignud qdd 180 9816,3 1766 934
Luybwlwb npkuwdh Yunngnd L=744
Uii3+280. Y§3+320. 4u3+540. 13+920. Yui4+080
206-VIIl Ywingh puwhnnh thiupbgnud wwjpwugpuiht thgpbpny 3
1| h=0.5-14 (51x0.75x1.1) J 0 3408,3 0
1" | 206-Vill Ywpgh puwhnnh thfupbgnid hhnpndnpény (51x0.75x1.1) 42 3408,3 143 149
98-V Yungh plwhnnh thtupbignd wuwjpwugpuhl thgptipnyg h=0.5- |
2 | 1 @3x0.75¢1.1x0 5) d 0 1962,9 0
2' | 98-V Yungh puwhnnh thtupignid hhnpndninénd(23x0.75x1.1x0.5) 9,5 1962,9 18 648
Luwfuopnp thtupbigyws 98-V Ywngh puwhnnh dawynu kpu. 0.6543 | .
3 2.0, pwpdnu w/h wnbnwithnfunwd (gwlniwn 1 4d dhe. <bin. J 18 1769,4 31849
4 | Unwup &binpny g2 1 9921,6 9922




Luwtuopnp thfupbgywd 206-VIll wngh puwhnnh dawynid Epu.

3
5 0.6543 2.un. pwpdnwd w/h inbnwithnfunwd [gwynywn 1 Yd dhe. <bn. u 38 2112,3 ki
6 | LUniup &binpny, I8 4 15400,8 61 603
fuht 40-704d ubwwnpywd puwhnnh dbg h=7ud us 18665,1 55 995
“pBuwdh Yunnignid qdd 74 22395,6 1657 274
Bwuwwwphh hwinyphg bwuwwbu Ynunwlyws 10elV . puwhnnh
9 | pwpdnuw kpu. 2.503 .. nbnwithnfunw hbwnwnwpd (hgp 1 Yd dhe g3 28 845,1 23 663
hbn.
10 | <hwnwinwpd thgp pnynngbpny gl 26 812,7 21130
11 | <bwnwnwnd |hgp dbinpny g3 2 1805,4 3 611
Cunwdbup Vil 4 834 499
Vill. Bwbwupwuphught bpwbbbp
1 | Unp 6wl. upwuubph wnbnunpnd. wn pyaud
- bwuwggnigwgunn hwuwn 354 23304,6 8 249 828
- wnwybnipjut hwuwn 9 28793,7 259143
- wnaghnn hwuwn 14 28793,7 403 112
- phjwnpnn hwin 28793,7 86 381
, L inbnblwwnynipjwu hwin 10012,5 90113
- [pwgnighy nbnbywunynyzjwu hwn 19 13464,9 255 833
- wihwnwlul bwhwgddul 2 1,78 54377,1 96 791
(hwinnwy pbywnpwph)
- wuhwwwhwl twuwgddwt  (nbnklwwnyniew) g2 0 543771 0
Lwuquwl dbwn. funn 57x3.5dd hwuwn 357 222111 7 929 363
4 | Uhwbny) pbwnnub hhdp B-15 a2 37,49 48568,5 1820 833
Lunwdbup VIl 19 191 397
IX. Lywqdmd
Lawadnuwip punhwunp Jwhbpbup (ehpdnwwun h=3dd. wwwyb R e U
1 N ' ' u? 3007,6 9720 29233 872
qunhlubph wybjwgdwdp)
Lunuwdbup IX. 29 233 872
X. Upqljunpuwlyngulip
Ubwn. wpgbjwihwyngubiph wbnwnpnid 8 444, Ywugquwlubp odbibp
1| N16. puyp 24 Yngun hwnpgudwdwphsny qdd | 5464 28088,1 153 473 378
Utn. wpgbjwthwyngubph wnbnwnpnud 3 404, Yuuguwlutip oybitin
2 | N16. puyp 4d Yngin hunywdwdwphgny qdd 692 22952,7 15 883 268
3 | Mnjhdbpwiht ninnnpn uniubph (C-1) nbnwpnuwd hwin 203 4512,6 916 058
Cunwdtlp X. 170 272 705

YcraHoBua mer. Tpy6bi dap. =530 mm / Ubunwnwlwb dwpin=53044

unpniwlubph inknuwnpnid




<nnwjht watuwwnwputp 103-V Jupgh puwhnnnwd hntuh nipndwu

1 | hwdwp kpu.0,658 2.:n. pwpdnd w/h b inbmwith. (gwlnywn 1,044 gl 0 2080,8 0
htn. Ypw
<nn, watuwwnwlptbp 103-V Yupgh puwhnnnwd thnunpwyubiph
2 | thnpdwu hwdwp bpu.0,6503 9., pupdnud w/h W nbinuith. &2 0 2080,8 0
igwlnywn 1,04d hbn. Jpw
£nn. wptuwwnwptibp 10s-V Jupgh puwhnnnd thnunpwlubiph
3 | thnpdwu hwdwp Epu.0,6543 Ynnph dpw Ynnwlbing hbunwnwpa a2 0 1060,2 0
thgph hwdwp
Ugwquynwtwht twhuiww. h=10ud e 0 9700,2 0
huSwiht hhwip h=20ud $ 0 5382,9 0
Suwdwubiph Yunmgnud dhwany, plininuhg 820, F100 0 0 0
6 | hhdphtp g3 0 117405,9 0
hpwuubp gl 0 117405,9 Q
(Flbiph Yunmgnd Jdhwdény) pbnnuhg B20, F100 0 0 0
47 | hhdptn &3 0 67644,9 0
hpwulbp Y 0 69620,4 0
8 | Ywph L hEuwyuwhu wwnwdh dhwény piinnt B20 F100 g2 0 87286,5 0
Ubunwnuwlwy dwpw= 530 dd funnnywyh inbnuwnpnid
? 1q3U=90.294g, wwnh hwuun. 744 qdd 0 129583:8 0
10 | Npduwlwwwiht wdpwuubp @16A500¢ I=45ud ug 0 878,4 0
Lujwidpuiht opwdbyniuwgnl 2 sbpn tiwp phunwng 0 0 0
it | unnnjwy dwpun= 530 dd qdd 0 3522,6 0
pbunnu a2 0 14751 0
Chnwnwnd |hgp 0 0
12 | w) pnynngbipny (103-Y) W3 0 967,5 0
p) dbinph waluwwnwupny (10s-V) ¢ 0 1885,5 0
Cunuafblp X. 0
YctaHoeua meT. Tpy6bl dHap. =630 mm (komyx) / U Lunwnwlwi
dwpin=63044 funpnuwlubiph nbnunpnid (wwwnywh)
<nn. wytuwwnwbpubip 10e-IV  Juwpgh puwhnnnud funnnywlh
1| thnunpwlubph tinpdwt hwdwn Epu.0,65 &2 2., pwpénud w/h b us 0 1805,4 0
wnbnwih. [gwynywn 3,04d hbn. Jpw
<nn. wotuwwnwupubp 10e-IV  Juipgh puwhnnnui funqndwih
2 | thnunpwlulbiph hnpdwt hwdwp kpu.0,65 02 Ynnph Jpw a3 0 843,3 0
Ynunwlbnd hbnwnwpa thgph hwdwp
3 | UWwquynwBuht bwluww. h=10ud i 0 9701,1 0




Ubnwnuwljwt dwpin=630dd funnnduwlih (wwinjwt) wbnwnpnud

4 1q6d=107,554q, wwwnh hwuw. 7dd qdd 0 155035,8 )
Ubunwnwlwl dwpuin=325dd funnndwlh ubppuwonid wwinwuh dbg

5 [ 1984-54,904q, wwnh hwuwn. 744 gdd 0 6840,9 0
Ubunwnulwt dwpin=325d4d funnnduyp nbnwnpnu

6 | 1950=54,900, wwinh hwuwn. 7dd ad 0 56638, )

7 | d=325x7dd funnnywlh 90° wulntuwyh nbinwnpnwd ug 0 2319,3 0

8 | d=325x7ud funnnywlh 60° wulyniuwlh nbnwnpnd Ug 0 2319,3 0
Lujwsdpwihu gpwidbynuwgnid 2 gbpwn tnwp phinnwing 00 0 0

9 | tunnnquwl dwpn=630uUd wwwnjwu qdu 0 4187,7 0
funnnyuwy dwpin=32544 qdd 0 2160,9 0
Lhwnwnwnd thgp 0 0 0

10 | w) pnynngbipny (10e-1V) gl 0 967,5 0
p) dbnph woluwwnwpny (10e-1V) i3 0 1885,5 0
Snjnueynit niubignn dupe=3254d dbwn. funnnjuiyh wwywdnunwdnid
Ybnwnwnd ublthwluwuwinhpngp 44 0 2455,2 0

Cunuibup X. 0
Ycratosra mert. Tpy6ei duap. =1020 mm / Ubunwnuljut
dwpwn=10208d unnndwlubph nbnwnpnid

: gfbvsuuwnqh puwhnnh thupbignud wwjewugpwyhl |hgptinny P 0 4347.9 0

1" | 98-V Jwpgh puwhnnh thiupbgnud hhnpndnipéng g 102 4347,9 443 486

2 '21(366-\5/)':’ Yupgh piwhnnh thiupbignud wwjpwligpwht |hgpbpny 5 0 5586,3 0

2' | 20a-VIl Yupgh puwhnnh tlupbgnid hhnpndninGny g3 290 5586,3 1620 027

3 ﬁ?g-\gllljl Yungh puwhnnh thiupbignud wwjpwugpwiht |hgplinny P 0 9154,8 0

3 | 206-VIll Ywpgh puwhnnh thjuptignud hhnpndnipéng g3 228 9154,8 2 087 294
<nnujhb watuwwnwuputip 10e IV fwpgh puwhnnnd hniuh nipndw

4 | bwdwp kpu.1.0 43 2.1, pupdnud w/h b nbnwith. |gwinywn 1.04d 3 46 1295,1 59 575
htn. ypw
<nnujhu watuwwnwupubip uwfuopnp thjupbgywsd 9a-V Ywpgh

5 | puwhnnnui hntup nipndwu hwdwp Epu.1.0d3 2., pwpdnuf w/h b | &3 54 1641,6 88 646
wnbinwih. [gwynywn 1.0Yyd. htin. dpw
<nnwiht watuwwnwptbin bwhuonng thfupbigyws 20a-VIl upgh

6 | puwhnnnu hntuh nupndwt hwdwp Epu.1.0d3 2.1, pupdnud w/h W gl 38,5 1967,4 75 745
wntinuih. jgwynywn 1.04d. hbn. Ypuw.
<nnuwjht watuwwnwupttip bwuopnp thfupbgywd 20a-VIl Yupgh

7 | puwhnnnui hnup ninndwt hwdwp bpu.1.0d3 2.0, pupsnud w/h e | &2 0 2255,4 0

wnbinwih. jguynywn 3.044. htin. Ypw




Lnnwiht wzhuwnwlpubip Uwhuonnp thtupbgywd 206-VIIl Yuwpgh
puwhnnnd hniuh nunndw hwdwp bpu.1.0d3 2., pupdnd w/h b
inbnwith. (gwynyw 1.04d. hbn. Ypw

lj3

62

1967,4

121 979

<nnuijht waotuwnwupubip uwfuopnp thjuptigywsd 206-VIIl Lwpgh
puwhnnnd hntuh ninniwu hwdwp Epu.1.0d3 g.n. puwpdnd w/h U
tnbinwith. [guynywn 3.04d. hbn. Ypw

ljS

2255,4

10

<nn. wpluwinwupubp 10e IV Ywpgh puwhnnnud thnunpwlyubph
thnpdwu  hwdwp kpu.1.0 d3 2.un. pwpdnud w/h L nbinuah.
[guynywn 1.04d hbn. Jpw

d3

240

12851

310 824

1

<nnwjht watuwwnwupbtip Uwhiopnp thfupbgywd 98-V Yungh
puwhnnnud fjunnndwlyh thnunpwih thnpdwt hwdwp tpu. 1.043 2.
wn. pwpdnud w/h b inbnwignfunwd [guynign 1.04d hbn. ypw

63

123

1641,6

201 917

12

<nnuiht waluwwwptbip bwjuopng tfupbydwé 20a-VIl upgh
puwhnnnud funnnyuwyh thnunpwih thnpdwy hwdwp bpu. 1.043 2.
wn. pwpdnd w/h W inbnwithnfunwd igwynyin 1.04d hein. Jpw

d‘3

251,5

1967,4

494 801

13

Lnnujht wotuwnwuptbin Uwfuopnp ttupbgdwd 20a-VIl Ywpgh
puwhnnnud funnnyuwiyh thnunpwlh hnpdwu hwdwp bpu. 1.043 2.
. pwpénid w/h b inbnuithnfund igwynywn 3.044d hbn. dpw

0’3

2255,4

14

<nnujht wzuwinwupubp bwjuopnp thfupbgywsd 206-VIIl Yungh
puwhnnnud unnnbwibh dinunpuayh dinpdwt hwdwp bpu. 1.0483 5.
w. pwpdnd w/h U inbnwidinfund lgwinyn 1.04d hbn. Jpw

63

166

1967,4

326 588

15

Cnnuht wtuwinwtpbbip bwfuopnp thiupbgywd 206-VIll Yungh
puwhnnnud funnnwih thnunpwyh thnpdwu hwdwp bpu. 1.0d3 9.
. pwpdnud w/h L whnwithnfund igwynywn 3.04d hbn. Ypw

0'3

2255,4

16

4nn. watuwwinwlpbip 10e 1V Ywpgh puwhnnnd thnunpwlubph
thnpdwl hwdwp Fpu.1.0 U3 Ynnph ypw Ynunwlbind hbunwnwns
thgeh hwdwin

63

150

646,2

96 930

17

4nn. watuwwnwupubip bwpuopnp thiupbgywsd 98-V Yupgh
puwhnnnut funnnywyh  thnunpwyubiph dhnpdwt hwdwp bpu.1.0
43 Ynnph Ypw Ynunwlbyw] hivwnpuwnd thaph hudwn

0‘3

27

838,8

22 648

18

Buwuwwwphwiht hwunyphg 10e-1V Yunah puwhnnh dowynud Epu.
2.543 .. pwndnud w/h W inbnwihnfund hiinnwnwnd thaph
hwdwp 2.04d

u’3

227

949,5

215 537

19

UJwquynwbwiht bwhuww. h=10ud

d3

11,53

6421,5

74 040

20

FuGuwihu hhdp h=30ud

d3

243,31

5263,2

1280589

21

Qihuwdwuh Gwnmgnud dhwény) pbinnthg  B20 F100

0

0

hhuptip

38,92

115962,3

4 513 253




hpwultp @ 67,84 115962,3 7 866 882
22 | Npduwlwuuwihu wdpwuubp @16 A500c |=134ud el 127,2 7911 100 628
Utinwnwlwl dwpwn= 1020 dJ funnndwlh wbnwnpnid
23 1q50=249.08 Ug. wwinh hwun. 1068 qdd 281,1 369042,3 103 737 791
24 | Jdwph W hbuwlwjht wnwdh dhwany| pbinnt B20 F100 o2 19,32 81470,7 1574 014
Ludwdpuyht opwibiynuwgnud 2 2bpn wnwip phuinnwdng 0 0 0
25 | junnnywy qdd 268,8 5872,5 | 578 528
pbwnnu 269,01 1257,3 338 226
* | Pwpuyhl thgp O 13,8 6141,6 84 754
Lhunwnwnd thgp 0 0 0
w)pninngbnny 10elV &3 339 808,2 273 980
26 | w)pnynngbipny 9g-V g3 24 808,2 19 397
p)&tinph wafuwwnwupny 10elV I8 38 1796,4 68 263
p)abnph woluwinwupny 9a-v I8 3 1796,4 5389
Cunwdikup 127 681 730
YcraHosKa mer. Tpy6bi drap. =1220 mm / Ubkunwnuljwt
dwpwn=1220d04 funpndwlubph nbnwnpnd
i ﬁfbvsudwnqh puwhnnh thtupbignud wwyrewugpwht thgptinny 5 0 43443 0
1" | 98-V Ywpah puwhnnh thfupbgnud hhrpndnipéng i3 47,5 43443 206 354
5 i?g—\élllj Ywngh puwhnnh thfupbgnud wwjrwugpwh fhgptinny P 0 5581,8 0
2" | 20a-Vil upgh puwhnnh ttupbgnid hhnpndnwpény g3 60 5581,8 334 908
3 ﬁ%?&l Yungh puwhnnh thfupbignud wwyewugpwiht hgplinny 5 0 91467 0
3" | 206-Viil wpgh puwhnnh thtupbignud hhrpndnipany e 1 9146,7 S 147
<nnuihb wotuwwnwupbp 10e IV upgh puwhnnnd hntuh nipndwt
4 | hwdwp kpu.1.0 d3 2.u. pwpsnw w/h b mbnwid. (guiynywn 1.04d I8 0 1294,2 0
hbn. Jpw
Cnnwjht watuwwnwiupbbip bwjuopnp thtupbgywd 98-V Yunpgh
5 | puwhnnnu hmuh ninndwb hwdwp bpu.1.0d3 2., pwpdnd w/h b | o3 41 1640,7 67 269
wnbinwth. gwynywn 1.04d. hbn. Ypw
<nnuhU watuwwnwupubip bwhuopnp thfupbgywd 20a-VIl Ywpgh
6 | puwhnnnui hniuh ninndwu hwdwp pu.1.0d3 2.0, pupdnd w/h b | 3 5 1137,6 5688
wnbnwith. (gwynywn 1.0Yd. htn. Jpw
<nnuwjht watuwwnwupubip bwhuopnp thiupbgywd 206-VIIl Guwngh
7 | puwhnnnui hniuh ninndwl hwdwp bpu.1.0d3 .. pupdnd w/h b | 03 0 1137,6 0
wnbnwih. gwlnywn 1.04d. hbn. Jpw.
<nn. watuwnwupubip 10e IV Jupgh puwhnnnud thnunpwyubiph
8 | thnpdwt hwdwp tpu.1.0 d3 2.un. pwpdnd w/h W inbinwth. B 0 1294,2 0

(gwlynywn 1.0yd hbn. pw




Lnnujhtu watuwwnwtptbp bwiuopnp thfupbgyws 9a-V Yupgh

9 | puwhnnnut unnndwlh thnunpwlh dhnpdwu hwdwp Epu. 1.0d3 2. 18 38 1640,7 62 347
wn. pwpdnid w/h U wbnuithnfund guwlyniw 1.044 hbn. pw
<nnuwjht watuwwnwupubp Uwfuonpnp thfupbigdwd 20a-VIl Ywngh
10 | puwhnnnud funnnywlh thnunpwyh thnpdwt hwdwp bpu. 1.043 2. I8 55 1137,6 62 568
. pwpdnd w/h b nbnwihnjfunut igulynywn 1.04d han. Ypw
<nnuhu wohuiwnwupubip Uwhuopnp thfupbgywd 206-VIll Jwpgh
11 | puwhnnnud funnndwlh thnunpwbh thnpdw hwdwp kpu. 1.043 2. g3 1 1137,6 1138
wn. pwpdntd w/h b wanwithnfund gulynyin 1.044d hbn. Ypw
<nn. wptuwwnwuptip 10e IV Yupgh puwhnnnud thnunpwlubiph
12 | thnpdwt hwdwp kpu.1.0 43 Ynnph ypw Ynunwlbing hbnwnwnps a3 0 645,3 0
thgeh hwdwp
<nn. wzuwwnwuptbip wtuopnp thtupbgywé 9a-V Ywupgh
13 | puwhnnnud funnnjwlh thnunpwlubph hinpdwu hwdwp kpu.1.0 g3 16 838,8 13 421
43 Ynnph Ypw Ynunwybnd hbvnwnwpd thgph hwdwn
Bwlwwwnphw)ht hwunypehg 10e-1V Yupgh puwhnnh dowlnud bpu.
14 | 2,503 g.in. pwpdnud w/h b imbnuithnfumd hbuinwnwpd jhgph g3 4 948,6 3794
hwdwp 2.044
15 | UJwquiynwSuwiht twiuww. h=10ud g2 7,72 6417 49 539
16 | huSwihu hhdp h=30ud @@ 70,75 5259,6 37217
Suwdwup Yunemgnd dhwény| piinnuphg B20 F100 0 0 0
17 | hhdphlp I8 6,45 115869,6 747 359
hpwtubp gl 17,64 115869,6 2 043 940
18 | Npduwlywww)hu wdpwuubp @16 A500¢ I=144ud lg 18,16 790,2 14 350
Ubirnwnwlwt dwpin=12200d funnnwyh wnbnwnpnid. iqdd=
19 357.49 Ug. wwunh huun 1204 qdd 63,4 581018,4 36 836 567
20 | dwph b hEuwlwiht winwdh dhwdny| pbivinu B20 F100 Ik 0 81405,9 0
Lujwdpwihu gpwidbyniuwgnd 2 obipun nwp phunwing 0 0
21 | funnnjuy gqdd 61 7018,2 428 110
phiwnnu U2 52,31 1256,4 65722
22 | Rwpuwyhtu thgp g3 0 6141,6 0
Lhtnwnwing thgp 0 0
w)pninngbpny 10elV g2 3 808,2 2425
23 | w)pnynngbinny 9a-v gs 14 808,2 11315
p)atinph wotuwwwupny 10elV g3 1 1795,5 1796
p)dbnph wluwwwupnd 9a-V a3 2 1796,18761 3592
Cunwdbup 41 343 464

YctaHoBxa met. Tpy6bl drap. =1420 mm / Ubkumwnuwlw
dwpun=142008 funnnjwluph nbnwnpnud




nfwght wizluwinwtpubip hatuh nepdwy bwdwp Epu.1,0 d3 ..

3

1 pwpdnd w/h b wbnwih. (gwynywn 1,04d hbn. ypw 10elV J 4 1298,7 382,
£nn. wpluwwnwupubn funnndubp hnunpwyubiph thnpdwl hwdwp

2 | kpu.1,0 43 9., pwpdn w/h W wbnwih. gulnywn 1,044 hbn. Ypw g 115 1298,7 149 351
10elV
<nn. wouwuwnwupubp unnnywlh thnunpwyubiph thnpdwl hwdwn

3 | kpu.1,0 &3 Ynnph dpw Ynunwybing hanwnwnd |hgph hwdwp g 123 648 79704
10elV

4 | Wwquinwbuyht twpiww. h=10ud g2 10,56 6417 67 764

5 | hubwht hhdp h=30ud g3 14,82 5259,6 77 947
Giuwdwuh  Yuwnngnd dhwdny; pivntuhg  B20 F100 0 0

6 | hhdpbp us 4,21 1164231 490 141
hpwuubp I8 13,914 116423,1 1619 911

7 | Npduwlwwwihu wdpwuubp $16 A500c [=235ud bq 14,84 790,2 11727
Ubunwnwiwu dwpin=14200d funnndwyh wnbnwnpnud, 1gdd=

8 622.36 g, wuwinh hwuun.184d gdd 33,4 300763,35 10 045 496

9 | dwpbph L hbuwYuwyht wwnwdubph dhwény pivine B20, F 200 u? 5,192 81700,2 424187
Lujwodpwiht gpwdblyniuwgmd 2 gbpn nwp phuinudng 0 0 0

10 | punnndwy qdu 32,6 8738,1 284 862
pbwnnu i 14,33 1255,5 17 991
Chunwnwnd |hgp 0 0

11 | w) pniynngbinny  10etV a3 m 810,9 90 010
p) &bnph woluwwnwupny 10elV g 12 1801,8 21622
Qnjnyeintu niubignn gfuwdwubph pwunnud hbtwhwn dapénd, 5

12 pwpdnut w/h L inbnwithnfunwd (gwlnywn 1,04d hbin. Jpw u 12 26757 32108
Snjnueintu niubignn, &/p onwlubiph wwwdnuwnwdnud, pwpdnd w/h 5

13 | wnbinwihigwynyin 1,04d htin. dpw (d=1.00) d 473 | 38464,2 181936

Cunwibup 13 648 003
YctaHosKa meT. Tpy6bi dHap. =1520 mm / U bkunwnuljwb
dwpwn=152044 junnndwlubph wknwnpnud

. i:::szhdwnqh Ruwhnnh thfupbgnid wwpwugpuihl haptinny g 0 43416 0

1| 98-V Ywpgh puwhnnh thtuptignud hhnpndnipényg g3 0 4341,6 0

2 igao\élllj bYwngh puwhnnh thtupbignud wwyewlgpwiht |hgplipny i 0 5578,2 0

2 | 20a-VIl Yupgh puwhnnh thtupbgnud hhnpndnipGng a3 0 5578,2 0

3 | 206-Vll ungh puwhnnh thfuptignid wwjpwlgpwiht thgptinny P 0 01404 0

h=0.54




3’ | 206-VIll wngh puwhnnh thfupbignw hhnpndnipéng I8 0 9140,4 0

4 <nnuijht watiwwnwupubp hntuh ninndw hwdwp bpu.1.0 33 9.un. P 0 1293 3 0
pwpénu w/h b inbnwih. (gulynyw 1.04d hbn. Jpw 10e-1V ' o '
<nnujht wluwwnwuputip Uwiuopnp thiupbgwsd puwhnnmd hnlup

5 1 nuipndwt hwdwp bpu.1.0d3 2.1, pupdnid w/h b inbquith. jgulnywn | 03 0 1638,9 0
1.0Ld. hbn. Jpw 9n-V
<nnuiht waluwwnwupltip Uwluopnp thiupbgdwd puwhnnnd hnluh

6 | nipndwl huwdwp kpu.1.0d3 2., pwpdnud w/h b wbnui. gwbnywn | 8B 0 1964,7 0
1.04d. hbin. ypw 20a-VII
Lnnuijht wigiuwinwupubn Uwhuopnp thfupbigdwd puwhnmad hntuh

7 | ninndwl hwdwp bpu.t.0d3 .. pupdmd w/h b nbnuidh. gwynywn | & 0 1964,7 0
1.04d. hbn. ypw 206-VIl
<nn. wizfuwnwtgubn unnnjwih dinunpwubph inpdwte hwdwn

8 | kpu.1.0 d3 2.un. pwpdnud w/p L binwih. gwlnywn 1.04d hbin. Ypw gl 0 1293,3 0
10e-1V
<nnujhu wotluwwnwupubip Uwfuonpnp thfupbigywd puwhnnnd

9 | unmnnywbh thnunpwlh hnpdwt hwdwp kpu. 1.0d3 2. n. pwpanud I8 0 1964,7 0
w/h b nbnwithnfunud |gwlnywn 1.04d hbn. Ynw 20a-Vi|
Lnnuwjht waluwunwupubin bwiuopnp thiupbigywsd puwhnnmu

10 | tunnndwilih thnunpuyh thapdwt hwdwp bpu. 1.0d3 9. w. pupdnud @3 0 1964,7 0
w/h L inbnuithnfunud igwlinyun 1,040 hbn, Jpw 206-VIHI
<nnuiht watuwwnwuptbn bwiuopnp thiupbagywéd puwhnnnid

11| tunnndwyh thnunpwbh thnpdwt hwdwp Epu. 1.0d3 2. n. pup&nud I8 0 1638,9 0
w/h b inbnuthnfunud (gulnywn 1.04d htin. ypw 9a-V
<nn. wpfuwwinwupubp unnndulh thnunpwlubph thnpdwu hwdwp

12 | Fpu.1.0 U3 Ynnph dnw Ynunwlbyny htitnwinwnpé (hgph hwdwn {Oe- ud 0 645,3 0
v
<nn. watuwnwupubp Uwfuopnp thiupbgywd puwhnnnwd

13 | unnndwyh thnunpwlubph thnpdwl hwdwp bpu.1.0 & Ynnph ypw | @3 0 837,9 0
Ynunwlbny hbnwnwpd |hgph hwdwp 9g-V
Suwiwwwnhwiht hwunyehg 10e-IV Yupgh puwhnnh dowynu kpu.

14 | 2.5d3 2..n. pwpdnul w/h b wnbnuihnfund hbinwnwnd thgph 18 0 947,7 0
hwdwp 2.04d

15 | UdwquinwGuihtu uwhuwy. h=10ud gl 0 6410,7 0

16 | tuwyhu hpdp h=30ud gd 0 5255,1 0
Suwdwuh Yunnignd dhwdny) pitnnuhg  B20 F100 0 0 0

17 | hhdphp Y 0 115786,8 0
hpwtbp g2 0 115786,8 0




18 | Npduwlwwwihu wdpwtubp @16 A500¢ 1=235ul L 0 790,2 0
19 Ubnwnwlwu dwpwn=1520ud funnnywlh wibnwnpnud. 1gdd= 537 o84 0 870459,3 0
4g. ywinh hwuwn.1504
20 | dwpbph W hbuwlwihu wwnwdubph dhwény| piwvnu B20. F 200 a2 0 81347,4 0
Lulwdpwihu gpwdbynwwgnd 2 2bpin tiwp phindng 0 0 0
21 | funpnqwiy vhs] 0 8738, 0
phwnnu g 0 1255,5 0
Lhwnwnwnd thgp 0 U U
w)pntnngbpny 10elV g3 0 807,3 0
22 | w)pnynngbipny 9a-V a3 0 807,3 0
p)dbnph wyoluwwwupny 10elV g3 0 1793,7 0
p)abinph wafuwwnwupny 9a-V g3 0 1793,7 0
23 | Rwpwihu |hgp gs 0 6138 0
Cunwkup 0
Ycranoska /6 Tpy6 d=1.0m / Lwywpnih &/p funnnjwlubph d=1.0d
wbnwnpnd
1 | 94V Yungh pwhnnh thiupbignud wwjpwiugpwhl hgptinny P 0 43713 0
h=0.54
1| 98-V Ywpgh puwhnnh thtupbgnud hhnpndnipéng g2 0 4371,3 0
7 ﬁgz\élllj Yungh puwhnnh thiupbignud wwjpwugpwht hgptinny P 0 5616 0
2" | 20a-VIl fwpgh puwhnnh thtupbgnud hhnpndnipény 3 0 5616 0
3 ﬁgg-\sllllrl Ywigh puwihnnh thlupbgnud wugepwlugpught hgpbpnyg P 0 9203.4 0
3" | 206-Vill Ywpgh puwhnnh thuptignd hhnpndnipéng g 0 9203,4 0
<nnuwjhu watuwwnwuptbp 10e 1V Jupgh puwhnnnu hnuh nigndwu
4 | hwdwp kpu.1.0 43 2.u»n. pupdnud w/h W wbinwith. |gwlnyn 1.044 g2 0 1302,3 0
htn. ypw
<nnujht watuwwnwuptip 10e IV fwpgh puwhnnn hnieh ninpndwu
5 | hwdwp kpu.1.0 43 2.1n. pwpdnd w/h b inbnuih. (gwynywn 3.04d g3 0 1518,3 0
hbn. Ypui
<nnwjhtu watuwwnwuptbp uwtuopnp thjupbigywsd 9a-V Ywngh
6 | puwhnnnui hniuh ninqiwu hwdwn Epu.1.0d3 2. pwpdnd w/p i | &3 0 1650,6 0
wnbnuih. jgwlnywn 1.04d. hbon. ypw
<nnujht watuwwnwupubip twfuopnp thfupbigdwd 20a-Vil Ywpgh
7 | puwhnnnui hnh nipndwt hwdwnp bpu.1.003 2.n. pupdnd w/h e | @3 0 1978,2 0
inbinwth. |gwynywn 1.04d. htn. dnw
<nnuwijht watuwwnwuputin bwhuepnp thfupbgywsd 20a-VII Yunpgh
8 | puwhnnnui hniuh nipndwt hwdwp Epu.1.0d3 2.1, pwpdnud w/h L | & 0 2267,1 0

inbnwih. [guwynywn 3.04d. htin. Ypw




nnught waluwwnwtpbp bwhuonng thiupbgywd 206-VII Lwnpgh
puwhnnnd hniuh ninndwu hwdwp bpu.1.0d3 2., pupdnud w/h b
inbnwih. gwynyw 1.044. hbin. dpw

u‘3

1978,2

10

<nnuhtu waluwwnwupubp Bwhuopng thfupbgywsd 206-Vill wpgh
puwhnnnid hntuh ninndwt hwdwp £pu.1.0d3 2.1, pupdnid w/h b
wnbnwith. lgulnywn 3.04d. han. Ypw

d3

2267,1

"

<nn. wotuwwnwpubp 10e IV Ywpgh puwhnnnwd thnunpwyubiph
thnpdwt  hwdwp Epu.1.0d3 2., pwpdnd w/h b inbinwi.
fgwlnywn 1.04d hbn. Jpw

u’3

1302,3

12

<nn. watuwwnwupubp 10e IV Yupgh puwhnnnud thnunpwyubiph
thnpdwu hwdwp kpu.1.0d3 2.in. pwpdnd w/h L inbinuih.
lgwlnyw 3.0yd hbin. Ypw

03

1518,3

13

<nnwjht wotuwwnwupubin Uwfuonnp thfupbgwd 9a-V Ywngh
puwhnnnud funanqwith thnunpwlh thnpdwu hwdwp bpu. 1.043 2.
. pwndnd w/h bk wnhqwihnfunyd lgwynywn 1.04d hbn. Jpw

0'3

1650,6

14

Lnnwiht woluwwnwtputip bwhuopnp thiupbgywd 20a-Vi Yupgh
puwhnnnud funnnywih thnunpwih thnpdwl hwdwp bpu. 1.043 2.
wn. pwpdnid w/h b nbnwihntund gulynywn 1.04d hbn. ypw

da

1978,2

15

Znnuwihu wotuwwnwupubip Uwluopnp thiupbgywd 20a-VIl Yungh
puwhnnnd funnnywlh thnunpwbh thnpdwu hwdwp bpu. 1.043 7.
wn. pwpdnd w/h L nbnuihntund guynyn 3.044 hbin. Jpw

lj3

22671

16

nnwihu watuwwnwupubp bwhuopnp thiupbgywsd 206-VIIl Ywpgh
puwhnnnud junnnywlyh thnunpwlp thnpdwu hwdwp Epu. 1.003 2.
in. pwpdnuw w/p b inbnwithnfunud lgwynywn 1.0Yyd hbn. Ypw

d‘3

1978,2

17

<nnwiht wotuwwnwupubip Uwhuopnp thfupbgwsd 206-VIll Ywpgh
puwhnnnui funnnywlh thnunpwlp thnpdwu hwdwp bpu. 1.043 2.
wn. pwpdnd w/h b inbnwihnfunud guwiynywnn 3.04d hben. Ypw

u‘S

2267,1

18

£nn. wptuwinwupubp 10e IV Yupgh puwhnnnid thnunpwyubnh
thnpdwl  hwdwp £pu.1.0d3 Ynnph Ypw Ynunwlbing hbunwnwps
Ihgeh hwdwn

d3

649,8

19

<nn. wptuwinwupubn Uwfuonnp thiupbgywsd 9a-V Ywpgh
puwhnnnu funnnuyh  thnunpwlubph thnpdwu hwdwp Epu.1.0d3
Ynnph Ypw Ynunwybng hbinwnwpd (hgph hwdwn

u‘3

843,3

20

Bwuwwwphwihu hwunyehg 10e-1V Jupgh puwhnnh dawlnud Epu.
2.5d3 9..n. pwpdnud w/h b wnbnwihnfund  hbitiwnwnpd |hgph
hwidwp 2.0yd

63

954,9

21

Ujwquinwtuwht twhiwwwnpwuinnd h=10 ud

d3

6456,6




Sluwdwup Yunmgnd dhwany plvinuhg  B20 F100 0 0 0
22 | hhdptp I8 0 116587,8 0
hpwttibip g 0 116587,8 0
23 | dwph b hbuwlwiht wnwdh dhwsny) pbvinu B 20.F 100 g3 0 81910,8 0
Cwjwpnuh bf/p N12 onulh nbnunpnud V=0.35 U3 P=1.1un swihbpp
24 :322(8(10Fg)88ud wdp.wwpni.Ac240=25.7 41g/J3. Ac500=67.714q/d3 hutn 0 101020,5 0
Onuwlubph Ywpbiph dzwlnud (Yuwubthweb) ubpddywd phinnwing)
25 | Onwlubph hhdptiph dhwdny| pbnnu B 20.F 100 Ul 0 81910,8 0
26 | Unuudwihu gpwdblniuwgnu 12 0 6221,7 0
27 | Lujwdpwiht opwidbyniuwgnid 2 obipn twp phuinwng g2 0 1264,5 0
Lhunwnwnd |hgp . 0 0 0
w)pninnabnny 10elV g3 0 812,7 0
28 | w)pnynnqbipny 9a-v gl 0 812,7 0
p)atinph woluwwnwupny 10elV gl 0 1806,3 0
p)dbnph woluwinwupny 98-V 3 0 1806,3 0
Cunwdbkup 0
YcraHoswa #/6 Tpy6 d=1.25m / Swjwpnyh &/p funpnjwljiliph
d=1.254 inbnwnpnud
i ﬁ_n—ovsudwnqh puwhnnh thfupbgnul wwjrwugpwht (hgplipny P 0 4365 0
1 | 9a-Y Ywpgh puwhnnh thfuptignud hhnpndnuiényg I8 0 4365 0
2 ﬁgg-\éléuwnqh puwhnnp thfupbignud wwjrwugpwiht hgptipny e 0 5608 8 0
2' | 20a-Vil Ywpgh puwhnnh thfupbignud khnpndninGny gl 0 5608,8 0
3 igg-\éllljl Yungh puwhnnh thfupbgnud wwjrwugpwiht hgplinny 5 0 9190,8 0
3" | 206-VIll Ywpgh puwhnnh thruptignud hhppndnipény g3 0 9190,8 0
4 Lnnuiht wfuwwnwupubip hnth ninndwt hwdwp bpu.1.0 43 2.1n. P 0 1300.5 0
pwndnd w/p b wbnwth. gwynywn 1.04d hen. Ypw 10elV !
<nnwjht watuwwnwuplbin Uwpuopnp thfupbgywd puwhnnnul hniuh
5 | ninniwl hwdwp Epu.1.0d3 g.in. pwpdnwd w/h b inbquidh. jgwlnyn | & 0 1647,9 0
1.0yd. hbn. dpw 9p-V
<nnwjht wgtuwwnwuptbip bwiuopnp thtupbgywd puwhnnnu hniuh
6 | ninndwu hwdwp tpu.1.0d3 2., pwpdnud w/h L wbnwih. |guynywn | &3 0 1975,5 0
1.0yd. hbn. Jpw 20a-VIl
Lnnuwijht wfuwwnwtptbp bwiuopnp thtupbigywd pwhnnnid hniuh
7 | nipndwt hwdwp Epu.1.0u3 2., pupdnwd w/h W inbnwith. [guynywn | 63 0 1975,5 0

1.04d. hbn. dpw 206-VIil




<nn. wigfu-tbip hnunpwubiph dinpdwt hwdwp pu. 1.0d3 p.an

3

8 pwpanut w/h L nbnwihnfu.guwynywn 1.04d hbn. dpw 10elV ) 0 1300,5 0
<nnujht wluwwnwuptubp bwfuopng thiupbgywsd puwhnnnud

9 | unqnywlh thnunpwih thnpdwl hwdwp bpu. 1.003 9. n. pwpsnid w3 0 1647,9 0
w/h b wmbinwihnfunad [gwlniywn 1.04d hbn. Ypw 9a-V
<nnwjhu wotuwwnwupubip bwhiopnp thtupbgwd puwhnnnud

10 | tfunnndwlh thnunpwyh thnpdwt hwdwp kpu. 1.043 2. . pwpénid g2 0 1975,5 0
w/h W inbnuithnfunwd jgwlinywn 1.04d hbn. pw 20a-VII
<nnwjhtu wotuwinwupubip bwhuopnp thtupbgywd puwhnnnd

11 | junqndwyh thnunpwyh thnpdwt hwdwp Epu. 1.0d3 9. n. pwpdnud I8 0 1975,5 0
w/h W nbnwihnfunwd [gwiynywn 1.04d han. dpw 206-Vili

1 <nn. watuwwnwupubp funqnyuyh thnunpwubph thnpdwt hwdwp P 0 648 9 0
kpu.1.0 @3 Ynnph Ypw Ynunwlbnd hbnwnwns |hgph hwdwn 10elV !
<nn. wptuwwnwupubp bwiuopnp thiupbigdwd puwhnnnud

13 | unnnuwlh  thnunpuubph thnpdwy hwdwp Epu.1.0 @B Ynnph g3 0 842,4 0
Ypw Ynunwlbng hbnmwnwpd |hgph hwdwnp 9a-V
Bwuwwwnphwiht hwunyehg. bwiuwwbu Ynunwlws 10e-IV Yupgh

14 | puwhnnh pwpdnud w/h Epu. 2.503 9.1, L nbnwidhnfunud g2 0 953,1 0
hbunwnwpd (hgph hwdwn 2.04d

15 | Ujwquynuwbw)ht tvwuwwwunpwunnd  h=10 ud i3 0 6447,6 0
Quwdwup Yunngnd dhwdny pbinnthg B20 F100 0 0

16 | hhdptp gl 0 1164231 0
hpwubp s 0 116423,1 0
fFlbph Ywnnmgnd Jhwdny| pbiinuphg B20. F100 0 0 0

17 | hhdphbp I8 0 64805,4 0
hpwuubip g3 0 67182,3 0

18 | Onwlubiph hhdpbph dhwény) phinnu B 20.F 100 g3 0 81793,8 0

19 | dwph U htbwlwiht wunuwdh Jhwény pinnu B 20.F 100 d3 0 81793,8 0
Lwywpnyh b/p N14 onulh nbnunpnud V=0.52 43 P=1.3wn swihbipp

20 :;Qome('))ggud win. wuwnnu.Ac500=17.1 Yg/u3d. Ac500=78.34g/d3 hwtn 0 142940,7 0
Onwlubiph Ywnbiph dawlynd (Yuubihweby ubpdsdws phnnwing)
Lwywpnyh b/p N15 onwlh wbnunnpnud V=0.61 43 P=1.5i swihbpp

21 153x100x14ud wdp.wwpniu.Ac500=17.2 Ljg/d3. Ac500=103.34g/u3 huitn 0 163501.2 0

B20. F200
Onwlubiph Yuwpbph dawynwd (Gubbthweb) tbpddywsd phinnwing)




22 | Rujwdpwiht spwdbynwwgnd 2 sbpin twp phinndng 02 0 1262,7 0
23 | Unuudwjhu gpwdblyniuwgnud g2 0 6212,7 0
24 | Bwpwjhu thgp g3 0 6171,3 0
<bunwnuwnd |hgp ! 0 0
w)pnynngbpny 10elV g? 0 811,8 0
25 | w)pnynngbpny 9a-V g3 0 811,8 0
p)abinph wofuwwnwupny 10elV g3 0 1803,6 0
p)dbnph wafuwwnwupny 9a-V g 0 1803,6 0
Lunwdbkup 0
Ycranoeka #/6 Tpy6 d=1.200mm / Lwijupnyh &/p
funnnquljubph d=1.200dd inbnunpnud
I | 9a-Y Yupgh puwhnnh thupbgnwd hhnpndnugpény g3 401 4365 1750 365
2 | 206-Vill Ywpgh puwhnnh thtupbgnwd hhnpndnipéng g3 261 9190,8 2398799
Lnnwjht wzluwwnwlptbp Uwhionnp thfupbgqwd puwhnnnd hnh
ninndwt hwdwp Epu.1.0d3 2.in. pwpdnd w/h b wnbnuih. |gwynyn | &8 4 1298,7 5195
1.0yd. hbn. ypw 10elV
£nnuwjht watuwwnwupubp Uwfuopnp thupbgdwd puwhnnnid hniuh
3 | ninndwt hwdwp Fpu.1.0d3 g.in. pwpdnd w/h b nbnuih. jgulnyn | 03 156,03 1647,9 257 122
1.0yd. hbn. ypw 9g-V
Lnnujht watuwwnwupbbip Uwfuonpnp thlupbigwd puwhnnnd hniup
4 | ninndwu hwdwp kpu.1.0d3 2., pwpdnid w/h b inbnwidh. |gwbnyn | @8 64 1975,5 126 432
1.0ud. hbn. ypw 206-VIIi
<nnuijhu wafuwwnwupubp unnndwip thnunpwbp thapdwu hwdwp
kpu. 1.043 2. . pwpdnud w/h L inbnwihnfunyd (gulnywn 1.04d hbn. | &3 53 1298,7 68 831
ypw 10elV
<nnwjht watuwinwuptbin Uwpopnp thfupbgywd puwhnnnd
5 | funnndwih dinunpwyh thnpdwt hwdwp Epu. 1.003 9. . pupdnud a2 180 1647,9 296 622
w/h L ibnwibntundd |gwlynyn 1.04d htin. ypw 9g-v
Lnnuijhu wbuwwnwupubp bwfuonpnp thfupbigywd puwhnnnid
6 { junnnwlih thnunpwbh thnpdwt hwdwp bpu. 1.043 2. n. pupanud e 197 1975,5 389 174
w/h W nbnuihnfunwd igwbnyw 1.04d hbin. Jpw 206-Viil
<nn. watuwwnwupubp bwtuopnp thtupbigwd puwhnnnud
7 | unnnwyh  thnunpwlubiph thnpdwt hwdwp Epu.1.0 &2 Ynnph 3 467 8424 393 401
Ypw Ynenwlbny hbiinwnwnd thgph hwdwn 9a-V
<nn, wfuwwnwplbin bwfuonnp thiupbigyws puwhnnnud
funnnulh  thnunpwlubph hnpdwt hwdwp bpu.1.0 02 Ynnph g3 30 648 19 440
Upw Ynunwybny hbnwnwpd (hgph hwdwp  10elV
8 | WwquynwBuiht twhwwwwpwuwnnd  h=10 ud g3 60,09 6447,6 387 436
Suwdwuh unngnd dhwdny piinnuhg  B20 F100 0 0




hhdpbp I8 18,25 1164231 2124722
hpwtbp I8 36,53 1164231 4252936
felubph Yunnignd dhwény; piinthg B20. F100 0 0
10 | hhdpbp gl 18,96 64805,4 1228710
hpwttbp 18 21,89 67182,3 1470 621
11 | dwph b hEuwuwihu wnwdh dShwény pbunnt B 20.F 100 e 18,39 81793,8 1504188
12 b/p bwhwiwpdwd funnndwlubiph wbnwapn qdu 186,17 | 153220,95 28 525144
13 | Rudwdpuyht gpwdbynwgnid 2 obipun wwp phuinwdny 02 888,56 1262,7 1121 985
Lhuwnwnwpd thap B 0 0
w)pnynngbpny 9ap-V I8 421 811,8 341768
14 | w)pnynngbipny 10elV a3 27 81,8 21 919
p)abinph uphmnauipny 9a-vV 2 46 1803,6 82 966
p)abnph wotuwwnwupny 10elV g3 3 1803,6 5 411
15 | Rwpwihl thgp g? 3 6164,1 18 492
Cunwdkup 46 791 677
Ycranoska /6 Tpy6 d=1.5m / Swdwpnyh ti/p funpnjwilubtiph d=1.54
wnbnwnpnid
Qq- | !
1 ;ﬁo\’sudwnqh puwhnnh thiupbignud wuypwigpuwyht thgpkipny e 0 43605 0
1| 98-V Yupgh puwhnnh thlupbignud hhnpnudnipéng B 0 4360,5 0
5 ﬁgg—\él& Ywngh puwhnnh thfupbignid wwyewugpwjht thgplipny 5 0 5601,6 0
2 | 20a-Vil Yuipgh puwhnnh thtupbgnud bhnpndniptmg @ 0 5601,6 0
3 206-VIll wpgh puwhnnh thfupbgnud wwjpwugpwht thgpbpny P 0 9180 0
h=0.54
3 | 206-VIIl Yupgh puwhnnh thiupbignud hhnpndnipény g3 0 9180 0
4 <nnujht wotuwwnwupubip hnth ninndwy hwdwp kpu.1.0 43 2.0, P 0 12987 0
pwndnud w/h W inbnwith. [gwynywn 1.04d hbn. pw 10elV !
<nnuiht watuwwnwupubp 33s-1l Ywpgh puwhnnnud hniuh ninndwt
* | hwdwp tpu.1,0 @2 2., pwpdnd w/h W ibinuith. |gwynyn 1,044 g3 0 945,9 0
hbn. dpuw
<nnwjht watuwwnwupubip 338-11 wpgh puwhnnnud hnwh nigndwu
* | hwdwp tpu.1,0 &3 .. pwpdnd w/h W wbinwih. gwlnywn 3,044 1y 0 1138,5 0
htn. ypw
<nnwiht wtuwinwupubip bwhuopnp thfupbgywd puwhnnnud hntuh
S | ninndwl hwdwp kpu.1.0d3 2.1n. pwpsnwd w/h U wbnwih. guinywn | @3 0 1646,1 0
i.0yd. hbn. Yypw 9a-V
<nnwiht wgtuwwnwuptbp bwiuopnp thiupbgdwd puwhnnnd hniuh
6 | ninndwu hwdwp Epu.1.0d3 2., pwpdnd w/h W wnbnwih. (gulnywn | @3 0 1973,7 0

1.04y. htin. Upw 20aVIl




<nnwjhu woluwnwupubp uwfuonng thjuptigywsd puwhnnnw  hntup
ninndwl hwdwp Epu.1.0d3 2.un. pwpdnud w/h L inbnwih. [gulnywn
1.04d. hbn. ypw 206-VHl

u’3

1973,7

<nnwihu watuwwnwupubip hntuh ninndwu hwdwp kpu.1.0 43 2.n.
pwpdnud wr/h W inbnuih. i gwlynywn 3.04d hen. Yypw 10elV

u’3

1514,7

<nn. wylu-ubp thnunpwlubph thnpdwt hwdwp kpu. 1.0d3 2.1
pwpdnuwl w/h W wnbnwithnfu. gwynywn 3.04d han. Ypw 10elV

lj3

1514,7

10

<nn. wolu-ubp thnunpwlitipp thnpdwu hwdwp tpu. 1.043 2.1
pwnanwd w/h b nbnwihnfu. gwynyw 1.04d hbn. Ypw 10elV

63

1298,7

£nn. woluwwnwuptbip 33s-1l Ywpgh puwhnnnud thnunpuwlyubph
thnpdwu hwdwp Epu.1,08 2., pwpdnd w/h W inbiquith. gulnyn
1,04d hbn. ynw

u‘3

945,9

<nn. wotuwwnwupubp 33e-l Yupgh puwhnnnud thnunpwlubiph
thnpdwl  hwdwp kpu.1,08® 2.0, pwpdnud w/h b inbnwit. (gwlnywn
3,04d hbn. Jpw

0'3

1138,5

11

Cnnuwjhu wafuwinwupubn bwpuopnp thjupbgywsé puwhnnnwd
funnnywbh hnunpwyh thnpdwu hwdwp bpu. 1.043 2. w. puwpdnid
w/h U inbinwihnfunud [guwlnywn 1.04d hbn. ypw 9a-v

K

1646,1

12

<nnwjhtu waluwwnwupubp uwpuopnp thfupbgywd puwhnnnid
funnnuyh thnunpwih tinpdwt hwdwp Epu. 1.0d3 2. . pwp&nd
w/h W nbnuihnfunud jgwynywn 1.048 hbn. Ypw 20aVil

d3

1973,7

13

<nnwiht woluwinwupubip Uwfuonnp thiupbigwd puwhnanwd
funnndwyh tnunpwilih thnpdwt hwdwp Epu. 1.0d3 2. n. pupdnwd
w/h b inbinwihnfunud |gwlnywn 1.04d hbn. ypw 206-VIil

u'3

1973,7

14

<nn. wohuwwnwupubn unandwbp  thnunpwlubph thnpdwt hwdwp
kpu.1.0 W3 Unngh Ypw Ynunwlbing hbwnwnwnpd thgph hwdwn 10elV

03

648

15

<nn. watluwwnwpubp Uwpuopnp thfupbgywéd ptwhnnnud
funqndwih  dhnunpwliubiph thnpdwy hwdwp kpu.1.0 & Ynnph ypw
Ynunwlbny hbnwnwpd (hgph hwdwp 9a-V

03

841,5

Bwluwwwphwiht hwunyphg 10e-1V upgh puwhnnh dawlynid bpu.
2,503 2.:n. pundnu w/h b nbnwihnfunwd hbtnwnwpd |hgph
hwdwn 2,044

u’3

1812,6

16

Udwqulrwlwiht bwhiwwwinpwunnd  h=10 ud

03

6439,5

17

Qluwdwuh Yunngnd dhwdny| pbitinuhg  B20 F100

0

hhuptip

d3

116289

hpwutbp

33

116289

18

faubiph Yunnignd dhwany| pwninthg B20. F100

| O |O0O|O0| O

0

o|jojo|O| O




hhdphip gl 0 64729,8 0
hpwuubp I8 0 67105,8 0
19 | Onwlutiph hhdpbinh dhwény) pownnu B 20.F 100 e 0 81700,2 0
20 | Jdwph W hbuwbw)hu winwdh dhwényj pbinnu B 20.F 100 g2 0 81700,2 0
Cwywpnyh b/p N16 onwljh inbnwnpnid V=0.72 03 P=1.8un
stuthbipp 178x100x 14w wdp.wwpnii Ac500=16.5 Lg/d3.
21 | Ac500=76.7Ug/iP B20. F200 fgn 0 220797,9 0
Onwlubph Ywpbph dawlnud (uubthweb) ubnpddywsd phinnwiny)
Cwywpnyh b/p N17 onwyh nbinunpnid V=0.84 43 P=2.1un swihbpp
— — 3
2 :3872:1;%)8%\3 widp.wuwpni. Ac500=15.743g/ud3. Ac500=113.044g/d huwn 0 254021,4 0
Onwlubph Yupbph dawynd (Yuubthweh ubpddywd phunnwinyg)
Cwywpnyh b/p N7t onwlyh nbnwnpnid V=119 d3 P=3.0w swihbpp
194x100x22ud wiip.wwpniu.Ac500=14.20yg/d3.
23 | Ac500=118.04q/03 B20. F200 hun 0 347505,3 0
Onwlubiph Yunbph dawlymd (ubdthweh) tbpdddwd phinnuind)
24 | Rujwdpwihu opwdbynuwgnid 2 2bipn tnwp phuinnudng £ 0 1260,9 0
25 | Unubdwjhu gpwdbyniuwgnid i 0 6205,5 0
Lhwnwnwnd |hgp B 0 0 0
wipnynnqapny 9p-v 8 0 810,9 0
26 | w)pnynngbinny 10elV a2 0 810,9 0
p)abinph watuwunwupny 10elV w3 0 1801,8 0
p)dbinph wzluwwnwupny 9a-V g3 0 1801,8 0
27 | Rupuwjht |hgp a2 0 6164,1 0
28 Snynipgnit niubgnn qfuwdwubph pwunnid hbtnwhwp dnipéng. P 0 26757 0
prupdnut w/h b inbquthnbunud jgwnyn 1.04d hbn. Ypw
Qninysiniu niubignn b/p onwliubiph wwywdnuwnwdnid. pwpdnd w/h 3
28 U nbnwihigwlnyn 1.04d hbn. Ypw (d=1.0d) J 0 38464,2 0
Lunwdbkup 0
Ycratoeka /6 Tpy6 d=1.500mm / Swjwpnih t/p
tunnndwljubph d=1.5000d mbnwnpmd
1 | 98-V Yupgh puwhnnh thjupbgnud hhnpndnipény gs 36 4360,5 156 978
2 | 20a-VIl iwipgp ptiihnnh thhupbignu hhnpnidnipam} 3 12 5601,6 67 219
3 <nnuiht wotuwwnwupubip hnup nipndwu hwdwp tpu.1.0 43 2., P 51 1298,7 66 234

pwpdnwi w/h b wbquit. \gwynywn 1.04d hbn. ypus 10elV




Lnrwht watuwwnwuputp bwhuopnp thtupbgywsd puwhnnnud hntuh

4 | nipndwu hwdwp £pu.1.0d3 2.:. pwpdnd w/h W wbnwid. guingn | § 42 1646,1 69 136
1.0yd. hbn. ypw 9a-v
<nnwihtu wotuwwnwuputip bwhuopnp thtupbgwsd puwhnnnd hniup
5 | nipndwu hwdwp kpu.1.0d3 2.un. pupdnud w/h W mbinwidh. [gulnyn | 03 4 1973,7 7 895
1.04d. hbin. ypw 20aVil
<nn. wytu-ubp thnunpwiubph thnpdwt hwdwnp Epu. 1.003 2.1 ]
6 pwpénw w/h W wnbnuihnfu.gwlnywn 1.0Yd hon. gpw 10elV d 12 1298,7 158582
<nnwjht wotuwinwuputip bwhuopng thtupbgywd puwhnnnd
7 | unnnquwyh thnunpwlh thnpdwt hwdwp Epu. 1.0d3 2. wn. pwp&nwd e 13 1646,1 21399
w/h W inbnwihnfunud |gwlnywn 1.04d hen. Ypw 9p-V
Lnnuwjhu waluwwnwupubp bwfuopnp thfupbgywsd puwhnnnid
8 | unnnywyp thnunpwyh thnpdwu hwdwp kpu. 1.043 2. n. pupdnud gl 8 1973,7 15790
w/h L nbnuwihnpunid (gwdynywn 1.04d hbin. 4pw 20avil
9 <nn. wptuwinwuptbp funnnwyh thnunpwlubph hapdwt hwdwnp P 16 648 10 368
tpu.1.0 W Ynnph 4pw Ynunwlbing hbnwnwnd thgph hwdwp 10elV
4nn. wpluwwnwupubp bwhopng thtupbgwd puwhnnnul
10 | funnndwlh thnunpwlubph thnpdwt hwdwp bpu.d.0 Bhnnph Ypw | &3 17 841,5 14 306
Ynunwbbny hbwnwnwpd thgph hwdwp 9a-V
11 | Udwquynubuwiht bwhwwywipwuinnd  h=10 ud I8 12,06 6439,5 77 660
Ghuwdwuh Yunmgnud Shwdinyg) piwnuhg  B20 F100
12 | hhdpbp g3 4,21 116289 489 577
hpwuubp a2 8,68 116289 1009 389
feubph Ywnmgnu dhwdny pbuninuhg B20. F100 0 0 0
13 | hhupbn a3 4,48 64729,8 289 990
hpwuutp 15 517 67105,8 346 937
14 | dwph b hbbwlwihtu wwnudh dhwany) pbnnb B 20.F 100 g3 5,192 81700,2 424187
15 b/p bwhiwwpdws funnnulubiph wbnwnpnud qdu 56,3 300763,35 16 932 977
16 | Rudwidpunhty epuniblnuiugnul 2 sbpuin inp phuinudm g2 328,37 1260,9 414 042
Chwnwnwpd hgp N 0 0 0
w)pnynngbipny 9a-V s 15 810,9 12164
17 | w)pnynngbipny 10elV g? 14 810,9 1 353
p)atinph woluwwnwupny 9a-V g3 2 1801,8 3604
p)atinph wotuwwnwupny 10elV I8 2 1801,8 3604
18 | Rwpwyht hgp g 27,04 6164,1 166 677
Cunwdkup 20 627 067
Ycrahoswa #/6 Tpy6 d=2.0m / Swluwpnih &/p funnnulubph
d=2.0d inbnwnpmd
1| 20a-Vil hwngh puwhnnh thfuptignud wuypwUgpwiht |hgptipny P 0 55998 0

h=0.5d




1" | 202-VIl Yupgh puwhnnh thfuptignud hhrpndninGny, B 5599,8
206-VIlI Yupgh puwhnnh thfupbgnd wwjpwugpwihu thgpbipny 5

2 h=0.5 ) 9177,3

2' | 206-Vill Ywpgh puwhnnh thtupbgnid hhnpndninény I8 9177,3

3 | 98-V Ywpgh puwhnnh thfupbgnud hhnpndnipényg gl 4360,5

4 | Sonwjht waluunwipubip hnth ninndwiu hwdwn tpu.1.0 43 2.0 £ 12987

" pwpdnd w/h b inbnuith. gwlynyn 1.04d hbn. Ypw 10elV o

5 <nnuyht watuwwnwiuputip hntuh nunndw hwdwp bpu.1.0 U3 2.1n. P 15111
pwpdnd w/h W inbnwih. gwynyw 3.04d hbn. Ypw 10elV !
Znnwihtu wotuwiinwupubp Uwuopnp thtupbgywd puwhnnnd hntuh

6 | nipndwl hwdwp kpu.1.0d3 2., pwpdnd w/h L mbnwidh. [gulynywn | 83 1972,8
1.0yd. hbn. ypw 20aVll
<nnwihu watuwwnwupubin bwhuopng thfupbgywd puwhnnnd hntup

7 | ninndwt hwdwp £pu.1.0d3 2.in. pwpsnd w/h U inbnwih. (guynywn | G3 1972,8
1.04d. hbn. ypw 206Vl
Lnnuwihtu wotuwnwupubip Uwuopnp thjupbgywd puwhnnnd hnuh

8 | ninnuwu hwdwp £pu.1.0d3 2.1, pwpdnd w/h U inbqwith. (gulnywn | 3 18774
3.0yd. hbn. ypw 9a-V

9 <nn. wpltu-ubp thnunpwlubph thnpdwt hwdwp Epu. 1.0d3 9.un P 1298.7
pwn&nd w/h W inbnwidinfu. guynyw 1.044d hbn. ypw 10elV !

10 <nn. wofu-ubip nunpwyutiph inpdwt hwdwp kpu. 1.0d3 2. N 15111
pwpdnw w/h b wnbnwihnfu.jgulynyn 3.04d hen. ypw 10elV !
Cnnuihu wahuwwnwuptbip bwfuopng thtupbgywd puwhnnmd

11 | unandwlh thnunpwyp thnpdwu hwdwp bpu. 1.003 2. in. pwp&nud a2 1972,8
w/h W wnbnwihnfund [gwynuywn 1.04d hbn. pw 20aVil
<nnw)ht wopuwnwupubp Uwfuopnp thtupbigwd puwhnnnul

12 | funanqwiyh thnunpwlih thnpdwb hwdwp kpu. 1.043 2. . pwpénid g3 1972,8
w/h U nbnwihnfund (gwiynywn 1.04d hein. ypw 206VIlI
<nnujht woluwwnwupbbp bwhuopnp thjupbigdwsd puwhnnnud

13 § fjunnndwyh drunpuyp thnpdwu hwdwp Epu. 1.083 2. n. pwpdnid g 1877.,4
w/h W wbnwihntunyd (gwlnywn 3.04d hbn. dpw 9g-V

14 £nn. wofuwwnwpubp funnnduwbh thnunpwlubiph thnpdwtu hwdwnp 5 648
pu.1.0 B Ynnph dpw Ynunwlbng hbitnwnwns thgph hwdwp 10elV

15 <nn. wotuwwnwupubp funqnduwyh thnunpwlubph thnpdwu hwdwp P 840.6

Epu.1.0 & Ynnph Ypw Ynuwnwyainy hbunwnwnd (hgph hwdwnp 9a-V




Bwuwwwphwiht hwunyphg 10e-1V Yupgh ptwhnnh dawynwd bpu.

16 | 2.5d3 2..nn. pwpdnu! w/h L wbinwihnfund hbnwnwnpd thgph e 0 952,2 0
hwdwp 2.0yd
17 | Ujwqulnwtwiht twjiwwwunpwunnd  h=10 ud gl 0 6437,7 0
Stuwdwup Yunngnud dhwény) pbinnuhg  B20 F100 0 0 0
18 | hhdpbp gl 0 116253 0
hpwuubp Iy 0 116253 0
(Gubph Ywnmgnu Jdhwdany piinnuhg B20. F100 0 0 0
19 | hhdpbp #3 0 64710,9 0
hpwiiibip 3 0 67084,2 0
20 | Onwyubiph hhdpbph dhwény| phunu B 20.F 100 g3 0 81675 0
21 | dwph L htuwhwiht winwdh Jhwény ptivinu B 20.F 100 15 0 81675 0
Cwywpnuh b/p N72 onwyh nbnwnpnd V=1.09 U3 P=2.7n
swithbpp 232x100x16ud wdp.wwpnit.Ac500=14.5 Yg/d3.
22 | Ac500=81.44g/d® B20. F200 huun 0 426324,6 0
Onwlubph Yupbph dwynd (Yuubhweb ubipddywd phunwind)
Cwywpnyh b/p N74 onwlh wnbnwnpnwd V=1.69 U3 P=4.2in
swithtipp 248x100x24ud wdp.wwpnit.Ac500=23.6 Ya/u?.
23 | Ac500=192.04q/# B20. F200 it . 678477,5 0
Onwlubpp Yupbph Gwynid (Yuubthweb) ubpddwsd phunwing)
24 | Rudwdpunht gpwdbyniuwugnyd 2 bpn wwp phnnuing e 0 1260,9 0
25 | Unuudwihu gpwidtiyniuwgnd 12 0 6203,7 0
26 | Ruwpwjhu |hgp B 0 6162,3 0
Cbunwnwnd thgp . 0 0
w)pnynngbpny 10elV I8 0 810,9 0
27 | w)pnynngbipny 94-V @3 0 810,9 0
p)abnph wluwwnwugny 10elV a2 0 1800,9 0
p)dbnph waluwwnwupny 9a-V g2 0 1800,9 0
Snjaieintu ntubignn dhnwnwywy funnnjuith wywdnuinwdnid.
28 Jdbpwnwnd ubthwlywuwwhpngp  d=630Ud 994 0 2590,2 0
Cunwdbkbp 0
Ycranoeka /6 Tpy6 d=2.0x2.0m / Cunjuipnilp E/p
funnnulubph d=2.0x2.0d inGnwnpnd
Znnuyhtu wotuwinwiupubp 10e IV Yungh puwhnnnud hntth ninndw
1 | hwdwp bpu.t,0 B o pupdnud w/h b inbquidr, jgwlngur 3,044 a3 0 1511,1 0
htin. ypw
<nn. watuwwnwiupubip 10e IV Yupgh puwhnnnd thnunpwljubiph
2 | hnpdw hwidwp Epu. 1,002 2.0, pupdnud w/h Linbquah. gubngin |8 0 1511 0

3,04d htin. ypw




£nn. wotuwnwtpubp 10e IV Yuipgh puwhnnnud thnunpuwlubiph

3 | tinpdwu hwdwp bpu.1,0d2 Ynnph dpw Ynunwybing hbnwnwpd 18 0 646,2 0
thgph hwdwp
UJwquynwwjht twuwwwwnpwunnd  h=10 ud @ 5919,3 0
G luwnhph Yunngnui dhwdény) pinnuhg B20, F200 a2 0 66945,6 0
6 | Ninnnpn plbiph Ywnnignid Jdhwény) pinnuhg B20, F100 0 0 0
3
7 hhuptn d 0 64576,8 0
8 | hpwuubp w3 66945,6 0
Onwilubph hhdpbph dhwany pbnnt B20,F 100 & 0 81505,8 0
10 | dwph L htbwywiht winwdh dhwdny| pbinnu B 20,F 100 ud 0 81283,5
Lwwpnyh b/p N48 onuwlh wnbnunpnwd V=1,69u0° P=4,2in swihbipp
226x250x100ud wdp,wwpniu. A500C=122,904q/d°, A240C= 47,5
11 ] Yg/d® hutn 0 613675,8 0
B20, F200
Onwlubph Yupbph dwynwd (Gwubithweb) ubpddywd phnnuind)
12 | Rujwdpwyhu gpwdbyniuwgnd 2 obipin inwp phinnuing 2 0 1258,2 0
14 | Unuudwihu opwidbyniuwgnul 2 0 6191,1 0
15 | Rwpwjhu |hgp I8 0 6149,7 0
Chunwnwind hgp 3 0 0 0
16 | wipnynnqbpny (10elV) g 0 809,1 0
p)abnph watuwnwupny (10elV) a? 0 1797,3 0
Cunwdkup 0
YctaHoBka m/6 Tpy6 d=3.0x2.5m / Swywpmjh &/p
funnnjuljubph d=3.0x2.50 wnbknwnpmd
<nnwihu watuwwnwupubip 10e 1V upgh puwhnnnd hnth nipndwt
1 | hwdwp tpu.1,002 2.in. pwpénwd w/h W imbnuih, lgwynywn 3,04d gl 0 1511,1 0
hbn. ypw
Bipnd hnnwihu wotuwwnwupubip 10e IV Yuwpgh puwhnnnmd hntuh
2 | ninndwl hwdwp bpu.1,00° 2.0, pwpdnud w/h W inbinwid. gwynyin | 8B 0 1511,1 0
3,0ud hbn. ypw
£nn. wztuwwnwupubn 10e IV Yupgh puwhnnnwd thnunpwlubiph
3 | thnpdwtu hwdwp Epu.1,08® 2.1, pwpdnud w/h L wbnwih. (gwynywn | @3 0 1511,1 0
3,04d hbn. Jpw
<nn. wzfuwwnwptbp 10e 1V fupgh puwhnnmd thnunpwlubph
4 | thnpdwu hwdwp kpu.1,00® hnnph dpw Ynunwlbind hbrnwnwns a3 0 645,3 0
thgph hudwn
Lnnuijht watuwwnwupbip 33s - 1 upgh puwhnnnid hniup
* ) ninndwt hwdwp bpu,00? 2.0 pwpdnid wifh W wbinwid. [guilynyin ¢ 0 1138,5 0

3,0ud hbn. Yypw




Bipnw hnnwjhtu watuwwnwuptbp 33s - i upgh puwhnnnd  hntup

* | ninndwt hwdwp kpu.1,08 2. pwpdnud w/h W b, jgwynyn g3 0 1138,5 0
3,040 hbn. Ypw
<nn. woluwwnwupubn 338 - 1 Jupgh puwhnnnud thnunpwlubph
* | npdwt hwdwp Epu.1,00® 2., pwpdnud w/h b mbnwih. (uynygn | @3 0 1138,5 0
3,04d hbn. Jpw
Bwuwwwphwihu hwunyehg 10e-1V upgh puwhnnh dawlnud tpu.
* 12,503 2.n. pupsnud w/h b inbnuihntunwd hbiinwnwing (hgph W 0 1812,6 0
hwdwn 2,044
5 | Ujwquynwtwihu bwhiwwwinpwuwnnd  h=10 ud K 0 6425,1 0
6 | Ununpnid gqifuwnhpp Ywnngnwt dhwaény) pinnuhg B20, F100 I8 0 66954,6 0
7 | Spenw gifuwnhph Yunmgnd dhwdany| piiinuhg B20, F100 gl 0 66954,6 0
Ununpnud L bpnud ninnnpn plbiph Yunnignud dhwéing] piinnupg
8 0 0 0
B20, F100
3
9 b d 0 64585,8 0
10 | hpwuubp g 0 £6954,6 0
11 | Onwlubiph hhdpbiph dhwény| phwnu B 20,F 100 i 0 81516,6 0
12 | dwph U hbuwlwiht wwnwdh dhwany; pbwnnu B 20,F 100 Ul 0 81522 0
Cwywpnip b/p N92 onwlh nbnwnpnd V=3,200°% P=8,0wn swihbinp
340x314x100ud wdp,wwpniu. A500C-110,3lg/U3, A240C- 43,1
13 | Yo/d® hwn 0 913520,7 0
B20, F200
Onwlyubph Ywpbph dwynud (Yuubthweh) ubpddws phuinwing)
Cwywpnudh b/p N93 onwiyh nbinwnpnid V=4,0243 P=10,0un
swithbipp 346x332x100ud wp,wwpniu. AS00C-212,5q/4%, A240C-
14 | 12,6 Yg/u® hwwn 0 1136476,8 0
B20, F200
Onwlubph Yupbph dowlynd (Yubbhwpb) ubpddywsd phinnuiny)
15 | Rujwdpuwiht gpwdbyniuwgnul 2 obipun wwp phundny U2 0 1251 0
16 | Unuuduwhu gpwdbyniuwgnud U2 0 6192 0
Chnwnwnd |hgp 0 0 0
17 | w)pnynngbpny 10elV gl 0 809,1 0
p)atinph watuwinwupny 10elV gl 0 1797,3 0
Cunwdibkup 0

YcraHoska m/6 Tpy6 6.0x3.0m / &/p 6.0x3.0 pugjwépny
junnnywiip wbnunpoud




20a-VII Liwingh ptawhnnh thhuphgnot wugpuwtigpuyght hgphipny

1 h=0 5. gl 55499,8

2 | 206-Vilt upgh puwhnnh thhupbgnud hhnpndnipGng g2 9177,3
<nnwjhtu wauwinwupubp Uwhiopnp thiupbgyws puwhnnnd hniuh

3 | nindwu hwdwp Epu.1.0d3 2., pupdmd w/h W b, guynywn | 03 2257,2
3.0yd. hbn. ypw 20avil
<nnwhtu wluwinwupubp Uwpuopnp thiupbgywsd puwhnnnud hniup

4 | ninndwu hwdwp pu.1.0d3 2.wn. pwpénu w/h L wnbnwith. gulnyun | 8 2257,2
1.0yd. hbin. ypw 206V
<nnwhtu woluwwnwupubip twhuopnp htupbgywsd puwhnnnul

5 | unnnduyh dnunpwyh hnpdwt hwdwp tpu. 1.083 2. n. pwpdnud g? 2257,2
w/h b wbnwihnfund [gwinyn 3.044 hbn. pw 20aVil
Cnnujht watuwwnwuptbip bwfuopnp thiupbigwd puwhnnnud

6 | unnnywyp thnunpwyh thnpdwu hwdwp bpu. 1.003 9. n. pwp&nud a2 2257,2
w/h b nbnwihntunwd iguynywn 3.04J hbn. Ypw 206Vill
Bwuwwwphwihu hwunyphg. bwhiwwbu Ynunwlwsd 10e-1IV Yupgh

7 | puwhnnh pwpdnuwi w/h kpu. 2.503 9.1, b wmbnwithnfund g3 950,4
hbunwnund thgph hwdwp 2.044

8 <nnujht watuwwnwupubip hniuh nipndw hwdwp pu.1.0 43 2., P 1295.1
pwpdnwl w/h U wbnwih. [guynyin 1.04d hbn. Ypw 10elV !

9 <nn. wgfu-ubp thnunpwyubph thnpdwu hwdwnp Epu. 1.0d3 2.1 5 12951
pwp&nwt w/h W nbinwithnju.(gulynyw 1.04d htn, Ypw 10elV ’

10 <nn. wptuwinwupubp thnunpwlubiph thnpdwu hwdwp kpu.1.04d3 5 646.2
Ynnph Ypw Ynunwybnyd hbnwnwps |hgph hwdwnp 10elV !

1 | Wwquiynwbuwjht twhuww. h=10ud a3 6421,5

12 | huGwjhu hhdp h=10ud g3 7210,8

13 | hunnnywiyh ppwuubph hhdpbph dhwény pbiwnu B 20.F 100 e 64543,5
Lhuwpwutbph ppwuubph hwywpnyh N5 pinljubph pbnnu

141 uih. - 285x165x100ud. V=3.0143, P=7.2un: hun 356181,3

5 Chwpwuubiph hpwuttph hBuwyubph Jhwdny) b/pbnnu. P 97108.2
w.uy. @8 A240C-9.23 Yq/d3. @12 A500C-34.31Yq/d3: B25. F200 ’
&/p hwywpnyh qiluwnhpubph N8 pinlubp swih. - 302x75x60ud.

181 v=1.0003. P=2.7n: hiun 25

i7 Qtuwnhpubiph pinlubpp hbuwpwuubiph pinlubph hbn P 79995 5

dhwynpdwt (dnunihinwgdwl) phwnnu: B25. F200




N31 dwdlh uwibph hwdwpnyh b/pbnnt. swih. - 53x100x660 ud .

18 | V=3.0743. P=7.7 ny; hwn 0 1185815,7 0
w.w. Al= 33.1 Yg/u3. All=152.34g/u3

19 Twdlh uwibph tnwy hbtwpwuwht Jwubp bpbobpn P2 0 68634 0
nnipbinnhnhg:
Ynpnnuubph dhwdnyy pbnnt funnndwlp dnunpnud L Bpned 5

20 bqpuyhu uugbiph Ypw: B20. F100 J 0 669105 0
Dwdlh uwibph ppnljubinh bplabpn unutdught opwdblnwgnud

21 | panquidny’ wwownuwhs sbpuinh wdpwuwynpywd phununy 2 0 10809 0
H=4ud:Udpwuwihu gwug (100x100 dd) @4 Bp-l. P=0.217 w:
Unyup' hbuwpwulbph hpwtbph pinubph dhol Ywpbph

22 | unutdwjhu opwdbynuwgnul wwanuwwhs 2pnnh 8x25x50ud g2 0 20844,9 0
hwdwpnyh ptitnnut uwihlubphg B20.F100:

23 | dwph b hbtwlwiht winwdh dhwany piinnnu B20 F100 g2 0 81463,5 0

24 | flunnnwyh hwwnwyh Yunmgnid Jdhwany| plivnuhg 820. F100 g3 0 70365,6 0
Ninnnpn plbpp Ywnnignud  dhwényi pbtninuhg B20. F100 0 0 0

25 | hpdptip $ 64543,5 0
hpwuubp d? 0 66910,5

2% Funnnywlh hpwuubiph L hhdpbph. ninnnpn pliiph gpniuwnh hbn P2 0 1258 2 0
othnn dwybplnyeubph pujwdpwiht onwdblntuwgnud: !

27 | Rwpwjhu hgp I8 0 6146,1 0
Chinwnwnd hgp . 0 0 0

28 | w)pnynnatipny 10elV g3 0 808,2 0
p)atnph woluwwwupny 10elV ul 0 1796,4 0

Cunwdkup 0
nognopHasn ctena 1. Km 64725 - Km 6+782
ChEbwuywn 1. Ul 64725 - LUd 64782

9a-V Yungh puwhnnh thtupbignid wwjpwugpwht hgptinny h=1-2d

1 @ 0 1485,9 0

1| 98-V Ywpgh puwhnnh thtupbgnu! hhapndninény g 0 1485,9 0
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u‘3

43575

1503

65 493 225

Luwjuopnp thjupbgws Je-Vi wpgh puwhnnh dawynid
pnynngbinny. wbnwihnfund 304 Ynnph Ynwnwynid

d3

101675

575,1

58 473 293

9e-Vi Ywpgh puwhnnh dwynd pnynngbipny nbnwihnfunid
504 thgp (hwpenwl. gpnid. futnwignid)

63

10742

1330,2

14 289 008

9e-VI Yungh puwhnnh Jawynid pu. 2.563 2.1, pwpdnud wih
W wbqwignfundd hgp 140 (hwippnd. spnw. funiwgnud)

dS

9393

1846,8

17 346 992

9e-V| uwngh pwhnnh Sowhnud kpu. 2.503 2.0, puipdnut w/h
L nbnuwithnfunid [hgp 244 (hwpend. gpnwd. fuinwgnud)

LP

4120

1981,8

8165 016

17

103-V Yuipgh puwhnnh dowynid Epu. 2.58% 2.in. pupdnid wih
U nbnuihnfund lguwynyw 3 YJ dhoht hbn.

u‘3

17519

1546,2

27 087 878




18

10s-V Jwngh puwhnnh dzwlnd pagnngbpng wbnwidgnfunad
500 hgp (hwppenid, opnd, futnwgnud)

d3

1460

1327,5

1938150

19

10e-1V Ywpgh puwhnnh dowynud kpu. 2.50°% 9.1, pwpénwt w/h
L nbnwithnfuntd |gulnywn dhusl 14d

d3

32384

1067,4

34 566 682

20

10e-IV Ywpgh puwhnnh dawlynid pnynngbpny. wbnuihnfunud
304 Ynngh Yrwnwlynd

d3

190956

298,8

57 057 653

10e-IV Ywpgh puwhnnh dawlynid pnynngbpny, whnwihnfunul
30d Ynuwnwynwd, pwpsnud bpu. 2.50% 9.in. w/h nbinuidinfunud
[gwynyw 3 Yd dhohu hbin.

lj3

602

1467,9

883 676

21

10e-1V Yupgh puwhnnh dwlnw kpu. 2.543 2.in. pwpdnd wih
U nbnwthnfunu (guinywn 3 Yu dhoht hbn.

150890

1291,5

194 874 435

22

10e-1V Yuipgh gphwgbgwd puwhnnh dawiynud tpu. 2.5d3 9.,
pwpdnwd w/p L imbnwihnfunw (gulnyw 3 Yd dhohts htin.
(L4u17+330-4017+400)

lj3

367

1291,5

473 981

23

10e-1V Ywpgh gonhwgbgwd puwhnnh dowlnid kpu. 2.5 2.un.
pwpand w/h b inbnwihnfunwd lgwynyn 3 Y dhgh hbn.
(LUd18+800-4U18+850)

03

1555

1291,5

2 008 283

24

10e-1V Yupgh 9phwgtigwsd puwhnnh dowynd kpu. 2.5 2.un.
pwpsnd w/h b wbnwthnfund [gulnyw 3 Yd dhohu hbn.
(4419+300-Yu19+370)

d3

622

1291,5

803 313

10e-1V Ywpgh gphwgbgwd puwhnnh dowlnud Epu. 2.5403 9.un.
puipdnud w/h b nbnwithnfunud jgwinywn 1 4d dhoht hbn.
4u0+360-4J0+340, LU0+680-4U0+900, km1+860-
km2+000, km2+740-km2+780, km2+940-km2+980,
km3+020-km3+120 L Y 3+240-4u3+360

d’3

1067,4

25

10elV Ywpgh puwhnnh dwynid pnynngbipny wbinwithnfunud
504 (hgp (hwpentd. gpnid. funwgnd)

ua

770

1166,4

8 363 088

26

10e-1V Yuwpgh puwhnnh dawlnud bpu. 2.5403 2.1, pwipdnud w/h
L inbnwithnjunud |hgp 144 (hwppnwd. gpnwd. funwgnud)

d’3

31383

1699,2

53 325 994

10e-1V Ywpah puwhnnh dywynud tpu. 2.543 9.wn. pwpdnud w/h
L inbinwithntunw |hgp 24d (hwppentd. gpnd. funwgnid)

1812,6

28

10e-1V Yupgh puwhnnh dawlnud Epu. 2.503 9.tn. pwpdnwd w/h
L inbnwithnfunu (hgp 44d (hwppend. gpnid. jitnwgnuwd)

d’3

2037,6

29

10e-1V Ywpgh puwhnnh dawynu Epu. 2.5 43 2. in. pwpdnud
w/h wbnwthnfunud dhug 1yd.  Ynunwynwd unnnduwljuph
htinwnwpa |hgph hwdwp

u‘3

1337

1007,1

1346 493




10e-1V Jwnah puwhnnh dawlnud kpu. 2.5 43 2. . pwpdnud

30 | w/h nbnwihnfun dhusl 14d. Ynunwlnud hguwwnbinbiph thgph gl 244 1007,1 245732
hwdwn
10e-1V Yupgh puwhnnh dawlnud tpu. 2.5 43 2. i, pwpénud
31 | w/h whnwihnfunw dhtsle 144, Ynunwlynud Ynnwlubiph thgph g2 5857 1007,1 5 898 585
hwdwp
10e-1V Ywpgh puwhnnh dowynud Epu. 2.5 43 2. wn. pwpdnwd
32 | w/h mbnwthnfund dhtgl QY. Ynunwlymd npbuwdh g2 0 1007,1 0
hbwnwnwpd |hgph hwdwp
« | 33r-lll juwngh puwhnnh dowynud kpu. 2.503 2.1n. pupdnud 5
w/h wbnwihnfunui jgwlnyw 1 Yd dheht hbn. u 205 937.8 P
« | 33r-lll Yupgh puwhnnh dowlnd pgringbipny. wbnwiginfunad P 12005 292.5 3511 463
30d Ynnph Ynwnwynd
33r-Hl Ywngh puwhnnh dgwynud Epu. 2.543 2.0, pup&md 5
33| Wh wbnwinfunud igulnyn 3 4 dheht hn. v 1878 el 2180338
33s-H Yupgh puwhnnh dawlnud Epu. 2.543 9.un. pwpdnud w/h 5
inbnwithnlund gwbinyw 1 4d dheht hbn. i 21009 802,8 16666 02
33s-l ywpah puwhnnh dawlnud pnynngblipnd. tnbnwihinfunud P 49020 2835 13 897 170
304 Ynnph Ynunwynw
338-1l Quipgh gphwgbigwd puwhnnh dowlmy bpu. 2.543 9.un.
puipdmd w/h L inbuidinfunmd jgwynyin 1 Yt Shohu hbn. § 8004 802,8 6 425 611
(41414+030-Lu14+120, U 15+314-u15+500)
33e-Il Yupgh puwhnnh dowlnud Epu. 2.503 2., pupdnud w/h "
inbruithrhum (gulnyur 3 4 dhoht b, 0] 27377 1005,3 27 522 098
33e-1l Ywpgh ophwagbigwd puwhnnh dawlynid Epu. 2.543 9.1n.
pwpdnul w/h W whnwihnfunwd guynywin 3 Yd dhohu htin. g 6557 1005,3 6 591752
{L4d15+500-4u15+900)
98-l Ywpgh puwhnnh Jowlnid kpu. 1.00° 2., pwpdnud w/h b
34 | nbnwihntunwd 44, wwwnyhpwwnth Ynndhg hwinlugdwd u? 733 1133,1 830 562
nwpwdp, wuwhbunwynpnw hbnwqw oginwgnpddwl hwdwn
Uuinhfwlbitiknh Lummgnud
1 ,2,2?;:; Ywngh puwhnnh thiupbignud wwjpwugpwht thgptinny 5 0 1996,2 0
1" | 20a-VIl Yuwpgh puwhnnh thjupbgnid hhnpndnpéng gl 485 1996,2 968 157
2 ﬁ??_—;&” Ywngh puwhnnh thtupbgnud wwjpwugpwhl thgptipny 5 0 2763 0
2" | 206-VIll Yupgh puwhnnh thiupbgnud bhnpndnipény &3 0 2763 0




9a-V Yungh puwhnnh thiupbignid wjwjpwugpwht thgptipny

2 3

3 | hetad d 1512,9 0

3" | 9a-V Jupgh puwhnnh thfupbignid hhnpndnipéng g3 303,5 1512,9 459165
Uuwinhdwtutiph Yunnignud bwhuwwbu thiupbigywd 20a-VIi .

4 Yuwpgh puwhnnnud pnynngbipny (inbnwthntunad dhtusl 204d) J i 43,7 SOEe

5 UuwnpGwuutpp Ywnnmgnud bwhuwwbu tphfupbigqwsd 206-Vili P 0 443.7 0
Ywpgh puwhnnnd pnynngbipny (tnbinwithnfunad dhtisl 200) ’
Uuwnp§wuubph Ywnnignut uwhuwwbu thjupbgywsd 9a-V 5

6 Ywpgh puwhnnnu pnynngtipny (tbinwihnfunud dhugl 204) U 607 4437 I
Uuwnp6wlllbiph Yunnignid 10e-V Yupgh puwhnnnd )

7| anynnqbinny (wbnuihnfunis dhtisls 200) v V832 21,5 11021 958
UuinhSwbiubph Gwnnignui 10s-V fuwpgh puwhnnnud 5 - . ey g

8 paynngbipny (inbnwithnfund dhtsle 204) u 1357 43,7 ol
UuinhGwuubiph unmgnd 33s- Yupgh puwhnnnwd ]
pninngbipny  (inbnwihnfunid dhtsh 204) J 968 195.3 185,050

Lunwdbbp 1. 1788 272 606
Il. Unnuyhl wnmubp

4 | 208Vl Yuingh pwhnnh thtupbignud uwjewlgpuwht ihgplinny 53 0 56988 0
h<0.54.

1" | 20a-VIl Ywpgh puwhnnh thfupbgnid hhnpndnipény, g3 1148 5698,8 6 542 222

2 206-Ylil Ywngh puwhnnh thtupbgnul wwrwugpwiht (hgptipnd P 0 9338 4 0
h<0.54.

2' | 206-Vill Yupgh puwhnnh thfupbgnd hhnpndnpénd I8 1048 9338,4 9786 643

3 | 9a-V bwngh puwhnnh thtuptignul wwjreuiigpuht (hgpinny P 0 44352 0
h<0.5u.

3' | 98-V Ywpgh puwhnnh thfupbgnid hpnpndnpény g3 16,5 4435,2 73181

* | Qe-Vl Yupgh puwhnnp thtupbgnd hhnpndnipény 5 838 5698,8 4775594
Ynnwjht wnniubiph hpwlwuwgnd uwhiwwbu hfupbigywd

4 | 20a-VIl Ywpgh puwhnnnud kpu 0.6543 2.un.. pwpdnud g3 770 2199,6 1693 692
nbnwihnfund (gwlnywn 14d dhghu htin
Unnuwjht wnniubph hpwlwuwgnd twuwwbiu thjupbgyws

5 | 20a-VIl hupgh puwhnnmd dbnpny. pwpédnid tpu 0.6543 2.wn. g3 85 12532,5 1065 263
inbnwthnfunwd |gwynywn 14d dhohu hbn.
YUnnwjhu wnniubiph hpwlwbwgnd twfuwwbiu thfupbgwsd

6 | 20a-VIl jwpgh puwhnnnid kpu 0.6503 9.un., pwpsnid 18 264 2499,3 659 815

wnbnwdginfunwd guilnywn 3Yd dhght htin




Ynnwjht wnnibph hpwywuwgnud bwiuwwbu thiupbgywd
20a-VIl Yupgh puwhnnnui dbingny, pwpdnwd Epu 0.65U3 2.0,
nbnwihnfund [gwlnywn 34d dhght hbin.

d3

29

12830,4

372 082

Unnwiht wnnbph hpwlwbwgn bwhuwwbu thfupbgdwsd
206-Vill hwngh puwhnnnud tpu 0.6543 2.in.. pupdnud
inbnwihntunud jgulingn 1bd Jhoht hbin

d’3

662

2199,6

1456135

YnnwjhU wnniubph ppwywbwgnud bwhiwwbu thhuptigywsd
206-VIll hwngh puwhnnnw dbnpny. pwpdnud Epu 0.6543 7.un.
inbnuihnfunid jgwlynywn 14d dhoht hbn.

d3

73

16326

1191798

10

Ynnwpt wnntubpp hpwjwuwgnd bwjuwwbu hjuptgywsd
206-Vill Ywngh puwhnnnud kpu 0.6543 2.un., pundnd
inbnwithnfund |gwlnyn 34d dhoht htin

03

282

2499,3

704 803

1

Unnw)htu wnniubipp hpwwuwgnwt bwfuwwbu thfupbgywd

206-VIll Ywpgh puwhnnnud bnpny, pwpdnd Epu 0.6543 9.un.

inbnwthnfund (gulnywn 34d Jhehu htin.

03

31

16623,9

515 341

12

YUnnuwjht wnniubiph hpwlwuwgnd twhiwwbu thfupbgdws 9a-
v

Yupgh puwhnnnu Epu 0.6543 2.wn.. pwpdnud inbinwdnfunid
fgwlnywn 1yd dhohu htin

d3

1843,2

13

Ynnwjht wnniibph ppwlwbwgnd twhuiwwbu thupbgwsd 9g-

V upgh puwhnnnwi dbnpny. pwpénud fpu 0.6503 2.1
wbnwhnfund ywynyw 144 dhohu htin.

0'3

12175,2

14

Unnwjhtu wnniubiph hpwlwuwgnw vwhuwwtiu thiupbigws 9a-
\

Yupgh puwhnnnd bpu 0.65¢ 2.uin., pwp&nul inbinwithnfunud
gwlnywn 34d dhohu hbn

30

2084,4

62 532

15

YUnnwjhtu wnntubiph hpwhwlwgnd bwhiwwbu thupbgdws 9a-

V Yupgh puwhnnnwt dbinpny, pwpénd kpu 0.6503 9.1n
wnbnuwithnfund lgwlnywn 34d dhehu hbn.

d3

12416,4

37 249

Ynnwjhtu wnntubph ppwlwuwgnul bwuwwbu thlupbgws
9e-VI Yupgh puwhnnnu tpu 0.6502 9.un., pwpdnud
intinwihnfunid (guynyw 14d dhghu htin

d‘3

1257

2128,5

2675525




Ynnuwiht wnnwbph hpwywuwgnul bwhuwwbu thfupbgwd
9e-VI Qungh puwhnnnud bnpny, pwpdnud Epu 0.65d3 2.1
inbnuwithnfund [gwynyw 1440 dheht hbin.

|j3

140

12003,3

1680 462

16

Unnwjht wnntubinh hpwlwuwgnw 10e-IV fupgh puwhnnnw
kpu 0.6543 ... pwpdnud wbnwithnfunid igwynyn 14d dhoht
hbn

63

1292

1427,4

1 844 201

17

Unnwyht wnniubph hpwhwuwgnid 10e-1V Ywpgh puwhnnnud
Sbnpny. pwpdnud Epu 0.65u3 2.1n inbnuahnfunud igwbnyn 1Yd
thght htin.

d3

144

6731,1

969 278

Unnwjhu wnndubiph ppwlywuwgnd 10e-1Y Yupgh puwhnnnud
bpu 0.650% 2.un., pwpdnud whnwihnfunyd (gwyniywn 34d dheht
htin

d'.‘\

1774

1651,5

2923763

19

Unnwjht wnntubiph ppwlwuwgnud 10e-1V Yunpgh puwhnnnu
gbnpny, pwpdnud kpu 0.65d3 2.1 nbnwihnfunud [gulynyn
3yd dhohu hbn.

u’3

197

6954,3

1369 997

20

YUnnwhb wnniubph hpwlwbwgnul 103-V Jupgh puwhnnnud
kpu 0.65% 2.un., pwpdnud wnbnwithniunid \gwynywn 34d dhoht
htn

dﬂ

180

2084,4

396 036

21

Ynnwjht wnniubiph hpwlwuwgnw 103-V Jupgh puwhnnnud
abnpny, pwpdnu tpu 0.6543 2.tn tnbnwihnfunud jgwynywn
344 dhohu hbin.

03

21

12416,4

260 744

Unnwhtu wnnwbph ppwlwtwgnw 33r-1ll wpgh puwhnnnud
kpu 0.6503 g.un., pwpdnu wibnuithnfunud gulnywn 1 4d dhehu
htn

d’3

54

1236,6

66 776

Ynnwjht wnniubiph hpwwuwgnd 33r-1ll Yuwpgh puwhnnnud
dbinpny, pwpanmd kpu 0.65d3 2. inbinwithnfunid gwynyuniyd
dhghu htin.

lj3

4059,9

24 359

22

Ynnuwijhtu wnntubiph ppwlwuwgnd 33r-1 Yuwpgh puwhnnrud
kpu 0.650% 2.un., pwpdnu wnbnwthnfunud gwlnywn 3 Yd Jhohu
htn

165

1458

240 570

23

YUnnuwjht wnniubiph hpwlwuwgnw 33r-Ill Yuwpgh puwhnnnid
dtinpny, pwpdnw tpu 0.6543 2.1 wbnwthnjunw [gulnywn
34d dhehu hbn.

d’3

4419,9

79 558

Unnwjhtu wnniubiph hpwwuwgnd 33e-l ywpgh puwhnnnd
kpu 0.658% 9.un., pwpdnud wnbinwthnfunud |gwinywn 1 4d dhohu
htn

d3

334

1033,2

345 089




Ynnwihu wnniubiph ppwlwuwgnud 33s-H Yunpgh puwhnnnd

* | sbnpny, pwpdnu Epu 0.65U3 2.1 inbnwihnfunud [gwlnyuniyd a3 37 2950,2 109 157
dhght htin.
YUnnwjht wnniubph hpwywtwgnd 33s-1l juwpgh puwhnnnud
* | kpu 0.658% 2.n., pwpdnid  inbnwithnfunud guinywn 3 Yd dhghu a2 306 1235,7 378 124
htn
Unnuwjht wnniubph hpwywuwgnd 33s-Il Ywpgh puwhnnnd
* | dbnpnd, pupdnud bpu 0.6503 2.1n inbnwithnfuntd jgwlnyun3yd g3 34 3152,7 107 192
dhoht hbn.
Ctnwdtp 1. 42 413180
HI. Unntuliulp
10e-1V Yungh bwhiwwbu Buywsd puwhnnh pupdnu kpu. 2.5
1 | d3 2. mn. w/h. mbnwihntunwd Ynnuwlubph thge 144 (hwppnw. a3 5857 1539,9 9019194
opnud. jutnwgnud) h=26ud
2 Ynnuwlubph wdpwgnu wjwquijnw@uwht ynyeny P2 22597 639 14 394 753
huhg.=10ud.
Cunwdbup [, 23 413 947
** V. <nibth nignmd 4d18+700-4d18+760
i <ntup pwunnid 10e-1V Yupgh puwhnnnud pnynngbipny, P 108 1242 13 414
inbinwithnfund 104, Ynnph Ynunwlynud
Cunwdbup 111**, 13 414
1V. bpplkhbh Juu
1| Cwwnhlwynp Bupwhhdp. (wjwquynwhé) h=10 ud g 113752,3 507,6 57 740 667
[+ Lwwnphlwynp Gupwhhdp fubwlwquiht fuwnunpnny C4 P2 0 507,6 0
huhg.=10ud.
FuGwwaqught hhdp (C-5) h=20ud
100d* hwdwp
fuh6 (40-70) 10% - 2.64°
fupé (20-40) 35% - 9.14° 5
2 huh6 (10-20) 20% - 5.20° d 76852,2 2083,5 160 121 559
fuh6 (5-10) 10% - 2.64°
fuh6 (0-5) wywq 25% - 6.54°
onip-1.143
3 | lungnpwhwwinhly pwpdp Swynunybunyewdp w/p h=6ud U2 73673,7 4149,9 305 738 488
4 | bungnpwhwwnhy w/p h=6ud g 736737 5688,9 419122 312
5 | "B" mhwh dwupwhwwnhl fuhn tnwp w/p h=4ud g2 73673,7 42111 310 247 318
Cunwdbup IV, 1252 970 344
V. hounpbinbip U dnuppbip
1| 202-Vil ungh pwhnnf thfupbignid wuwjpwugpwht thgptinny 5 0 5604,3 0
h<0.54.
1" | 20a-VIl Yuipgh puwhnnh thtuptignud hhnpndnipény B 0 5604,3 0




9a-V bungh puwhnnh thfupbignud wwjrwugpwiht thgpbipny

3 2 2
2 h<0.50. ] 0 4262,3 0
2" | 98-V Yungh puwhnnh thfuptignui hhnpndnipény a2 0 4362,3 0
Luwfuopnp thfupbgywd 20a-V!l Ywnpgh puwhnnh dawynd kpu.
3 | 1.0d3 2.1, pwpdnd w/h nbnuihnfund (guiynywn 1 Yd dhe. gl 0 1974,6 0
Chin.
Luwluopnp thjuptigyws 9a-V Ywnpgh puwhnnh dawynud Epu.
4 1 1.003 2. pwpénwi w/h wbnwthnfunw lguynyn 1 4d dhe. o 0 1647 0
<bn
10elV Yupah puwhnnh dawynd pnynngbpny tmbnwdinfunid :
° 504 thgp {(hwpenud. spnul. funwgnud) J 20 17,8 28558
Bwuwwwphh hwunyphg twwwbu Yninwyws 10elV Yupgh
6 | puwhnnh pwpénw fpu. 2.543 9.tn. wbnwihnfunud (hgp 1 Yd gl 224 1507,5 337 680
dhg htn. (hwppnw. opnud. futnwgnud)
« | 10e-1V upgh puwhnnh Jawlnud fpu. 2.54% 2.1, pwpdnid wih P 0 10674 0
U wbnwihnfunud igwynyw 1 Yd dhehu htin. ’
10e-1V bwpgh puwhnnh Sawynwd bpu. 2.58% 2., pwpdnd w/h 5
/ b wnbnwithnfunud lguiynyunn 3 Yd dhohu hbn. u 1074 1240,2 1331983
Gppelubykh Jwu
huwlwquiht hpdp (C-5) h=12 wd
fuhé (40-70)- 10% - 1.5643
fuhé (20-40)- 35% - 5.46.3
1 | tuh6 (10-20)- 20% - 3.12¢° u? 1356,96 1371,6 1861206
fuh& (5-10)- 10% - 1.5643
fuh6 (0-5)- wlwq 25% - 3.983
onin-1.143
2 | B wmhwp Jwupwhuwinhl juhin w/p h = 4 ud U2 1301,96 42237 5 499 088
Ubwnwnwlwu funnnjwlubp @ 53044
1 | UWdwquynuGwiht sbpin h=10ud (dbwn. junn. nwly) a3 5,33 5853,6 31200
2 | Utin. junnnjwlubinh @ 530x54d wnbinwnpnid qdd 82 129420 10 612 440
3 | Qpudblynwwgnul (2 2bpin tnwp phwinwdng) qdd 76 3060,9 232 628
4 | Upwdny) pawnnub B-20 gluwdwubip ad 8 116515,8 932 126
5 | Sfuwdwubinh gpwidbynwwgnud (2 gbipwn tnwp phunnidng) g 30 1261,8 37 854
Cunuwdtup V. 20 898 554
Rl Bwtwuwwphhtt hwpnn wnpgnupibph dwippnud
1 10elV Ywpgh puwhnnh dawlynd pnynngbpny wbinwiinfunud P 466 4536 211 378

504, Ynunwynwd




10elV Yuingh puwhnnh dpuymd dbnpny, wbnwginfunid

3
2 BhRRGBrA 500~ (ARl ] 51 5702,4 290 822
Cunuwdbup V***, 502 200
VI. puqésh junmgnid [f0+000-4u2+200
1 | 202-Vil juingh puwihnnh thupbgnud wwpwligpwiht thgptinny P 0 34335 0
h=0.5-1d
1" | 20a-VIl Ywpgh puwhnnh thfupbgnid hhnpndnipény 1S 0 3433,5 0
2 gfbvsmnqh puwhnnp thfupbignud wwrpwugpwht thgptiny P 0 1978,2 0
2" | 9a-V Ywnagh puwhnnh thiupbignwd hhnpndnipény I8 0 1978,2 0
upwdninnt pwunnut wiuwwbu thiupbgywd 20a-VIl Yungh
3 | puwhnnnud kpuB0.650% 98 @ pwpdnw nbnwidinfunuyd u? 0 2127,6 0
lgwlnywn 14 dhe@hting (1x0.4x620)
4 | Lnyup Sbnpny g3 0 15516 0
5 Fupwdninnt pwunnud twhuwwbu thfupbgwsd 9a-V Yupgh 5 0 855 0
puwhnnnwd puB0.650% 9BwnBYnnph Ynunwlnud (1x0.4x170)
6 | Lnyup Sbinpny 1Y 0 9996,3 0
7 Fupwdninnt pwunnud 10e-1V Ywpgh puwhnnnd Epu@0.6543 P 0 679.5 0
28wnBYnnph Ynunwlynid (1x0.4x1410) !
8 | Lnyup dbinpny U3 0 5312,7 0
9 | Udwgh bwuwwwnpwuwnwlwl sbpn h=10ud (2200x0.4x0.1) a3 0 6291 0
10 | Unp wnihtphit funnnjulh tnibnunpnud d=50x3dd qdu 0 1288,8 0
11 | Ninhn dhwgnid d=5044 hwun 0 2619,9 0
12 | Wwgh wwowuwuhs 2bpin h=20ud (2200x0.4x0.2) g3 0 6291 0
13 | <bwwnwpd (hgp pnynngtinny 18 0 818,1 0
14 | <bwnwnwpd |hgp dbinpny 18 0 1818,9 0
15 Luwhiwwbu Ynunwwsd 94 V Gwpgh puwhnnh pupdnud £ 0 1782 0
Fpu0.6543 28w, L wnbnwithnfunud |gwlnywn 14 dhehting
CununfkEup V. 0
Vil. pbbwdh Qunnignuf
Eplwjtwlwt npbbwdh funnignid L=1804¢
U 3+240-Ud3+360. Yi3+540-4i3+560. {j113+920-
1j03+940. 4114+080-54+100 (L=1804)
206-Vill ungh puwhnnh ihfupbignud wwjpwugpwht |hgptipny 5
1| h=0.5-14 (170x0.75x1) d 0 3408,3 0
1 | 206-Vii wpgh puwhnnh thjupbgnid hhnpndnipény il 0 3408,3 0




9a-V wpgh puwhnnh tifuplighid wwjewugpuwiht hgpbipny

3

2 h=0.5-1d (10x0.75x1) u 155

2" | 9a-V Ywpgh puwhnnh thfupbignut hhnpndnipény B 1962
Luwluopnp thfupbgyws 98-V Yunpgh puwhnnh dwynw kpu.

3 ] 0.6543 9.un. pupdnd w/h inbrwthnfunwd jgwlnywn 1 4d dhe. ul 1769,4
<hn

4 | LUnwp kinpny 18 11431,8
Lwfuopnp thfupbigywsd 206-ViH Yupgh puwhnnh dawynud Epu.

5 | 0.6503 9.un. pwpdnmd w/h wbnwihnund igwlnyin 1 Y dhe. 2 2112,3
<hin.

6 | Lnuup sbinpny i3 15400.8

7 | luh6 40-70ud ubywynpywd puwhnnh Jbg h=7ud U2 495

8 | Mnhuwdh Yunnignud qdd 9816,3

Lwjbwlwb npbwdh Yunnignd  L=744
L¥3+280. 4u3+320. 4u3+540. Yud3+920. {i4+080

1| 206-Vill hungh puwhnnh ihtunbgnud wwypwugpwht (hgptipny P 3408.3
h=0.5-14 (51x0.75x1.1) !

T 206-VIll wpgh puwhnnh thiupbgnud hhaprdnipéng 3408 3
(51x0.75x1.1) ’

5 | 94V Ywngh puwhnnh htupbignud wuwjpwugpwht (hgppny 33 19629
h=0.5-1d (23x0.75x1.1x0.5) ’

o 9a-V Jungh puwhnnh thluptgnul 1962.9
hhnpndnipény(23x0.75x1.1x0.5) !
Luwtuopnp thfupbgywd 9a-V Yuwnpgh puwhnnh dawynyd tpu.

3 | 0.65d3 2.wn. pwpdnwd w/h inbnuihnfunud \gwlnyun 1 Yd dhy. gl 1769,4
<hn.

4 | Lntup dbnpny a2 9921,6
Luwfuopnp thfupbgyws 206-ViIl Yunpgh puwhnnh Jawlynud kpu.

5 | 0.65d3 2.wn. pwpanui w/h wnbnwihnunwd gulynyn 1 Yd dhg. 18 2112,3
<bn.

6 | Lniup dbinpny 18 15400,8

7 | fuh6 40-700d ubywydnpdwsd puwhnnh dbg h=7ud 3 18665,1

8 | buwdh Yunmgnd qou 22395,6
Bwuwwwphh hwunyrhg uwiwwbu Ynwnwlws 10elV 4.

9 | puwhnnh pwpdnu fpu. 2.583 9.1, inbnwthnfund g3 845,1
hbunwnwnpad hgp 1 Yd dhe hbn.

10 | <bunwnwpd |hgp pnynngbpny e 812,7

1 | <hunwnwnpd (hgp Stinpny g2 1805,4

Cunwdbkup Vil




Vill. Bwtnuwguphughl bpwtiibp

Unp 6w, tswutbph wbnunpmd. win pynd

- bwhiwqgnipwgunn hwtn 384 23304,6 8 948 966
- wnwybnuejwu hwn 29 28793,7 835 017
- wipghinn hwwn 1 28793,7 316 731
- phwnpnn hwin 5 28793,7 143 969
5 Lo nbnblwwinynieiwl hwuwn i 10012,5 110138
- \pwgnighs nbinbljwwndniejwu hwuwn 17 13464,9 228 903
- whhwwnwwl uwtuwgddwu "
(hwnniy phjwnpwuph) : ° i )
- wuhwwnwlwu twhwgddwt  (ibnBYunynyzjw) U2 3n 543771 169 113
3 | LYwlguwl dbwn. funn 57x3.504 hwn 354 222111 7 862729
4 | Uhwdény ptinnub hhdp B-15 2 3717 48568,5 1805 291
Lunwdbup VIII. 20 420 857
X. Lpwgémd
Lowgdnuip punhwunip dwybipbup (phpdnywuwn h=3dd. 5
1 wiywlt qunhlutnh wlbwguwd) d 3079,8 9720 29 935 656
Lununibip IX. 29 935 656
X. Upguufuilingubip
Ubwn. wpgbwihwyngubiph inbnunpnwd 8 4dd. Juwugquwlubn
1 | 24bitip N16. puyip 24 Yngun hwipdudwdwphsny qdu 8627 28088,1 | 242316 039
Ubn. wpgbwthwlngubph inbnunpnwd 8 4dd. Juwuguwlubp
2 | 24biibin N16. pwjip 4d Yngwn hwipjudwdwnhsny adu 1502 22952,7 34 474 955
3 | Mnhdbpwihu ninnnpn. ynsubiph (C-1) tbinwigpnud hwwn 34 4512,6 153 428
Cunwdkup X. 276 944 423
YctaHoBta meT. Tpy6br dHap. =530 mm / Uhunwnuiljut duipun=530d4d
hurpnjulubph wnbnunpnud
<nnuwjht waotuwwnwupubp 103-V Yupgh puwhnnnd hniuh
1| mnndwb hwdwp bpu.0,65¢3 2., pwpénd w/h b inbinuith. U3 9 2080,8 18727
[gwynywn 1,044 hbn. Jpw
<nn. wpluwwnwupubin 10s-V Yupgh puwhnnnud thnunpuwlubiph
2 | thnpdwu hwdwp Epu.0,650% .. pwpdnu w/h U inbnwith. 1Y 10 2080,8 20 808
jgwlnywn 1,04d hbn. pw
<nn. woluwwnwupubp 103-V Yupgh piwhnnnd
3 | thnunpwlubiph thnpdwu  hwdwp kpu.0,6543 Ynnph Jpw g3 22 1060,2 23 324
Ynunwybnd hawnwnwnd thgph hwdwp
4 | Ujwquynwbwihtu uwtuww. h=10ud I8 0,95 9700,2 9 215
5 | huGwhu hhdp h=20ud g2 2,5 5382,9 13 457
Suwdwubiph Yuwangnud dhwdny; pbiinuhg B20, F100 0 0
° | hhupbp 3 1,68 117405,9 197 242
hpwubp g2 1,62 117405,9 190198




f3lbph Ywnngnd dhwény phwnthg B20, F100 0 0

oL hhupbn I8 0,76 67644,9 51 410
hpwttbp a2 0,36 69620,4 25 063

8 | dwph L hbuwlwiht winwdh dhwdny) pitnnu B20 F100 gl 1,13 87286,5 98 634
Ubuinwnulwu dwpwn= 530 Jdd funnnjwlp inbnwnpnud 9583 &

% | 1950=90.294q, wwunh hwun, 744 a2 16:4= = II29005:68 212

10 | Npfuwlwwuyht wdpwuubp P16A500¢ 1=45ud bg 2,84 878,4 2495
Lujwdpwjhu opwdblniuwgnid 2 obipwin viwp phuninuing 0 0

T My dwpe= 530 & e 5.6 3522,6 54 953
phunnt 2 16,36 14751 24133
Chunwnwpd (hgp 0 0

12 | w) pnynngbpny (10s-V) 5] 20 967,5 19 350
p) &bnph wauwwnwupny (103-V) ud 2 1885,5 37N

Cunwdbup X. 2 877 954

YcraHoBka merT. Tpy6bi duap. =630 mm (komyx) /
Ubwnwnulwb dwpn=630dd funnnjulubiph mbnunpnud
(ywinyw)
£nn. wfuwinwuplbip 10e-IV  Yupgh puwhnnnud unnnywyh

1 | thnunpwlubph dnpdwts hwdwp Fpu.0,65 &3 2.1, pupdnu 15 10 1805,4 18 054
w/h W wnbnwih. |guwlnywn 3,04d hbin. Ypw
£nn. wtuwwnwiupubp 10e-V - Yupgh puwhnnnud fjunnnduwyh

2 | thnunpwlubph dinpdwl hwdwp bpu.0,65 & Ynnph Ypuw Ul 32 843,3 26 986
Ynunwlbny hbnwnwpd thgph hwdwp

3 | Ujwquynubwjht bwjuww. h=10ud I 2,57 97011 24 932
Ubnwnuwlwt dwpin=630ud funnniuwlh (wwunjwl)

| nbnwnpnu 1g80=107,554q, wuwinh hwuwn. 740 q8d 16,3 | 1550358 | 2527 084
Ubinwnuwu dwpin=325d4d funnndwlh Ubppuonid wwinywuh

5 | ubg 193u-54,904q, wwinh hwuw. 7dd qdu 16,3 6840,9 111 507
Utinwnulwl dwpwn=325dd unnndwlh wnbnwnpnut

6 1q8U=54,904q, wwinh hwuw, 744 géd 35,1 56638,8 1988 022

7 | d=325x70d funnnduih  90° wulntuwyh tnbqwnpnd Ug 39 2319,3 90 453

8 | d=325x7ud funnnywlh 60° wulniuwyh inbknunpnid Ug 52 2319,3 120 604
Rujwdpwiht gnwdbynuwgnd 2 obipn tnwp phinnuing 0 0

° junnndwl dwpin=630Ud wwinjwl qdu 16,3 4187,7 68 260
junnndwly dwpin=325d4 qdu 35,1 2160,9 75 848

10 Lhwnwnwipd thgp 0 0
w) pnynngbpny (10e-1V) e 29 967,5 28 058




b inbnuwih. lgwlnyn 1.04d0 hbn. Jpw

p) 8knph wotuwwnwupny (10e-1V) K 3 1885,5 5 657
Qnjnysyntt mubignn dune=325dd dlw. fjunnndwbyh
wwywdnunwdnd  Yepwnwnd ubthwlwuwwnhpnop a4 34 24552 e
Cunuwdbbp X. 5168 938
Ycranoska mert. Tpy6bl dHap. =1020 mm / Ubunwnuwlwh
dwpwun=1020404 junnpnjwlyubph wknwnpnid

1 35—0V5l4dwnqh puwhnnh thiupbignid wwyewugpwht thgptinny P 0 4347.9 0

1" | 98-V Ywpgh puwhnnh thuptignd hhnpndnipény e 0 43479 0

2 ﬁgg-\élllj Yungh puwhnnh thfupbgnud wwypwugpwiht |hgptipny P 0 5586,3 0

2 | 20a-V1 Yupgh puwhnnh thupbgnud hhnpndnip@ng ¥ 69 5586,3 385 455

3 ﬁgg-\élhlrl Ywngh puwhnnh thfupbgnud wwjewugpwiht thgplinny P 0 91548 0

3 | 206-VHlI Yupgh puwhnnh thtupbgnid hhnpndnpéng gl 89 9154,8 814 777
<nnwjht wotuwwnwuplbp 10e IV Yuipgh puwhnnnud hnduh

4 | ninndwl hwdwp fpu.1.0 U3 2.n. pupdnd w/h W nbnwih. g2 0 12951 0
gwinyn 1.040 hbn. Jpw
Cnnuiht watuwnwipbibip bwiuopnp thhupbigdwd 9a-V Juingh

5 | puwhnnnd hntih ninndwt hwidwn bpu.1.0d3 2., puipdnud g2 0 1641,6 0
w/h b inbnwith. igwlnywn 1.0Yd. hbin. Yypw
<nnwjht wotuwinwuputip bwhuopnp thhupbigywd 20a-VIi

6 | Ywpgh puwhnnnud hntuh ninpndwu hwdwp bpu.1.0d3 9.un. g3 0 1967,4 0
pwndnui w/h L nbnwih. gulnywn 1.04d. htin. gpw
<nnujht watuwwnwupubip bwfuopnp thtupbigywd 20a-VIi

7 | Yunpgh ptwhnnnd hnioh nipndwiu hwdwp kpu.1.0d3 2.1, g3 38 2255,4 85705
pwndnd w/h b inbnuith. [guynyn 3.044d. hbn. Ypw
<nnujht wtuwnwuplbip Uwtuonnp thiuptigywsd 206-VIi

8 | Ywpah puwhnnnud hniup ninniwl hwdwp bpu.1.0d3 2.un. e 0 1967,4 0
pwpdnd w/h L inbnwih. |[gwynywn 1.04d. hban. Jpw
<nnuwht wotuwwnwiupubip bwiuopnp thfupbgywd 206-VIIl

9 | Jwpgh puwhnnnd hniuh ninndwt hwdwn kpu.1.0d3 2.un. s 30 2255,4 67 662
pwpdnd w/h b wbnwip. igwlngun 3.04d. hbn. Ypw
<nn. wpfuwwnwipubn 10e 1V fupgh puwhnnnod

10 | tnunpwhubph thnpdwt hwdwp Epu.1.0 d3 2., pwipdnud w/h 15 0 12951 0




1

<nnuihtu woluwwnwupubip uwfuonng thfupbigywsd Sa-V Ywpgh
puwhnnnul funnndwlh thnunpwyh thnpdwu hwdwp bpu.
1.0d3 2. w1, pwpdnd w/h W inbnwihntund igulinywn 1.04d hbn.

Upus

da

1641,6

12

<nnujhtu wyluwwnwupubn wfuopnp thiuptigywsd 20a-VII
Yupgh ptwhnnnut unnnwyp thnunpwiyh thnpdwl hwdwp
bpu. 1.043 2. wn. pupdnud w/h L wnbnwithnfunad jgwlnyun 1.04d
htn. pw

|j3

1967,4

13

£nnwjht wotuwwwuptbip bwhuopnp thiupbgywd 20a-Vii
Ywpgh puwhnnnid fjunnnywlh thnunpwih thnpdwu hwdwp
Epu. 1.0d3 2. w1, pwpdnud w/h W inbinuidnfunud (gwlinyuns 3.044
hbn. ypw

lj3

31

2255,4

69 917

14

<nnwht wigtuwwnwupubp Ywhuopnp thfupbgywd 206-Viil
Ywpgh puwhnnnw funnndwbh hnunpwyh thnpdwu hwdwp
kpu. 1.043 2. wn. pwpdnud w/p L inbnwithnfunud igunywn 1.04d
hbn. pw

d3

1967,4

15

£nnuwjht watuwwnwupubip bwiuopnp thfupbgyws 206-Vii!
Yuwpgh pwhnnnwt funnnywbh thnunpwyh thopdw hwdwp
Fpu. 1.0d3 2. w. pwpdnud w/h b mbnwidinfund [guynywn 3.0yd
htin. ypw

u’S

59

2255,4

133 069

16

£nn. wyfuwwnwugpubp 10e IV Yupgh puwhnnnd

thnunpwlubiph thnpdwu hwdwp £pu.1.0 43 Ynnph dpw
Ynunwlbind hbnwnwpd thaph hwdwp

lj3

646,2

17

<nn. watuwinwuputip bwiuepnp thfupbigywsd 9a-V Ywngh
puwhnnnud funnnwlh thnunpwlbbph dinpdwt hwdwp
Epu.1.0 43 Ynnph dpw Ynunwlbny hbwwnwnd (hgph hwdwp

18

Buwbwwwphuyht hwunyehg 10e-1V Qupgh puwhnnh dawynud
tpu. 2.5d3 2., pwip&nud w/h L inbnuithniund hbunwnwind
thaph hwdwp 2.04d

lj3

949,5

49 374

19

Ujwqulnwbwihu bwjuww. h=10ud

6421,5

20

huwihu hhdp h=30ud

d3

5263,2

87 632

21

Suwdwup Yunmgnd dhwany) plivonuhg  B20 F100

0

0

hhdplip

63

115962,3

176 263

hpwutbp

us

115962,3

540 384

22

Npduwiwuwwiht wdpwuubip @16 A500c 1=134ud

Ya

7911

6709

23

Ubinwnwlwl dwpwn= 1020 dd junqnjuwih nbnwnpnd
1g6uU=249.08 lq. wwwnh hwuwn. 1044

gdd

369042,3

7048 708

24

Jwph U hbbwlwyht wnwdh dhwdny painnu B20 F100

d3

81470,7




Ludwdpwiht gpwdblynwwgnud 2 2bpwn wiwp phunnidng 0 0 0
25 funnnyuwy qdd 18,3 5872,5 107 467
phwnnu u? 23,78 1257,3 29 899
* | Rwpwyhu (hap g3 0 6141,6 0
Chunwnwnd (hgp
w)pnynngbpny 10elV P 47 808,2 37 985
26 | w)pnyngapny Sa-v g 0 808,2 0
p)abnph wluwwnwupny 10elV g3 5 1796,4 8 982
p)abnph wluwinwupny 9a-V i 0 1796,4 0
Cunwdkup 9 649 988
Ycranosxa meT. Tpy6ei drap. =1220 mm / Ubkwnwnwlwlb
dwpn=122004 junnnyuljuiph nbnwnpnid
: s_nszudwnqh puwhnnh thtupbignud wwjpwugpuwihl (hgpbpnd P 0 43443 0
1" | 98-V Ywpgh puwhnnh thtuptignd hhnpndnipény 3 0 43443 0
9 ﬁgg-\éltli Ywngh puwhnnh thfupbignud wwjrwugpwht hgptinny 5 0 5581.8 0
2' | 20a-VIl Ywpgh puwhnnh thtupbgnid hhnpndnipény a3 0 5581,8 0
3 f\?(s)'\slll;l Yungh puwhnnh thfupbignud wwjewugpwht thgptinny g3 0 9146,7 0
3 | 206-VIIl Yungh puwhnnh dhupbgnud bhnpadnipgny g 0 9146,7 0
<nnuiht wtuwwnwupubp 10e IV Yupgh puwhnnnu hnish
4 | ninndwt hwdwn Epu.1.0 d3 9.un. pupdnud w/h b inbinuih. g 56 1294,2 72 475
(gwynywn 1.04d hbn. ypw
<nnuijht wpluwnwupubip Uwfuopnp thupbigyws 9a-V Ywnpgh
5 | puwhnnnui hnwh nipndw hwdwp bpu.1.043 2.0, pupdnud gl Q 1640Q,7 0
w/h U wnbnuwith. [gulnyw 1.0Yd. htin. Ypw
<nnuijht wytuwwnwuplbip bwhuopnp thfupbigywsd 20a-Vil
6 | Ywpgh puwhnnni hniuh ninndwu hwdwp bpu.1.0d3 9.un. u? 0 1137,6 0
pwpdnid w/h b inbinwith. gwlnywn 1.04d. hbn. ypw
Lnnujht wigtuwwwupubip Uwfuopnp thfupbigywsd 206-VIII
7 | Ywpgh puwhnnnu hnwh nippdwu hwdwp Epu.1.0d3 2.u. Y 0 137,6 0
pwpanwd w/h W inbnwih. lguynyun 1.04d. htin. Jpw
<nn. watuwwnwupbp 10e 1V Ywpgh puwhnnnud
8 | thnunpwllbiph thnpdwt hwdwp Epu.1.0 03 2.w:. pwpdnud w/h s 94 1294,2 121 655

L wbnuwih. |gwynywn 1.04d hbn. pw




Lnnujht watluwwnwupubn uwfuopnp thiupbgws 9a-V wngh
puwhnnnd funpnjwbih thnunpwyh hinpdwyu hwdwp bpu.

3
9 1.0d3 9. nn. pwpdnud w/h b mbnwihnfunwd (gwlnywn 1.044d hbn. J 0 1640,7 0
dpus
<nnujht wtuwwnwupubp bwtuopnp thjupbagywsd 20a-Vil
10 Yuwpgh ptwhnnnut funnnduih thnunpulyp thnpdwt hwdwp P 0 11376 0
tpu. 1.043 2. wn. pupdinud w/h U inbnwithnfund jguwlnyn 1.044 i
htin. Jnw
£nnwjht watuwwnwupubip uwpuopnp thfuptigws 206-Vill
1 Yupgh puwhnanud funnnwbh thnunpwih thnpdwt  hwdwnp P 0 137.6 0
Lpu. 1.0d3 2. w. pwpdnui w/h U inbnuithntunwd jguwilnyw 1.04d :
htin. Jpw
<nn. watuwwnwupubp 10e IV jupgh puwhnnnud
12 | thnunpwQubph thnpdwt hwdwp Epu.1.0 43 Ynnph Jpw g 123 645,3 79 372
Ynunwlbny hbwwnwnps thgph hwdwn
<nn. waluwnwupubn uwhuopnp hiupbgywsd 9a-V Ywpgh
13 | puwhnnnud junnnywyh  thnunpwlubiph thnpdwu hwdwp g3 0 838,8 0
kpu.1.0 43 Ynnph dpw Ynunwlbing hbivnwnwps thgph hwdwn
Bwuwwwphwihb hwunyehg 10e-1V Yuipgh puwhnnh dawymd
14 | kpu. 2.5d3 2., pwpdnd w/h L inbinwihnfund hbnwnwnpd o2 0 848,6 0
thgph hwdwp 2.0yd
15 | Udwquiynybught bwjuwy. h=10ud &2 1,66 6417 10 652
16 | huBwjhu hhdp h=30ud IS 41,64 5259,6 219 010
Suwdwup Yunngnd dhwany pnnuhg  B20 F100 0 0 0
17 hhdpbp gl 9,88 115869,6 1144 792
hpwuubp ¢ 20,86 115869,6 2 417 040
18 | Npltwlwuwwihu wdpwubp @16 A500c I=144ud ! 18,16 790,2 14 350
a4
Ubunwnuwlywl dwpuin=122004 funnnjwyh inbinuinpnud.1gdd=
19 357.49 Ug. wuwinh hwun 1200 qdd 38,3 581018,4 22 253 005
20 | Ywph b hbuwlhught wwnwdh dhwény) pininu B20 F100 g2 4,78 81405,9 389120
Lujwdpwiht 9pwdtilyntuwgnud 2 obipin wwp phinnwing 0 0 0
2 funnnywl qdd 35,9 7018,2 251 953
phunnt 12 81,3 1256,4 102 145
22 | Rwpwihl thgp 18 0 6141,6 0
Lhunwnuwnd |hgp 0 0
- w)pnynngtipny 10elV g M 808,2 89710
w)pninngbpny 9a-V B 0 808,2 0
p)dbnph woluwwnwupny 10elV o3 12 1795,5 21 546




p)abnph wotuwinwupny 9a-V ad 0 1796,18761 0
Cunuwdbkup 27 186 825
Ycranosra mert. TpySus duap. =1420 mm / Ubumuquijubs
dwnun=142004 funnnulubph nbnunpnud
. Lnnuwihu watuwwnwputip hntwh nipndwt hwdwn Epu.1,0 43 P 0 1298.7 0
2., pwpdnud w/h b wbnwth. jgwlnyw 1,04d hbn. Ypw 10elV ’
<nn. woluwwinwupubp funnnqwlh thnunpwlubiph thopdwu
2 | hwdwp tpu1,0 U3 2., pwpdnud w/h b inbnuith. jgwlnyn g 0 1298,7 0
1,04d hbin. 4pw 10elV
<nn. wptuwwnwupubp funnnywlh  thnunpwlubiph thnpdw
3 | hwdwp kpu.1,0 & Ynngh Ypw Ynunwlbng hbnwnwpa hgph gl 0 648 0
hwdwp  10elV
4 | Wwquynwbuwjht bwjuwy. h=10ud I8 0 6417 0
5 | huGwihu hpdp h=30ud a2 0 5259,6 0
Suwdwuh Yunmgnd dhwdny| piininuhg  B20 F100 0 0 0
6 hhdptip gl 0 1164231 0
hpwuubp Ul 0 116423,1 0
7 | Npduwlwwwiht wdpwlubp @16 A500c 1=235ud ! 0 790,2 0
4
Ubunwnwlwt dwpn=14200d funnndwyp inbnwnpntd,1gdd=
8 622.36 lg, wwnh hwuwn.180d a4 0 300763,35 0
a ;L(;Lcl)gbnh L htbwlwiht wnwdubph dhwdny| ptinnu B20, F P 0 81700.2 0
Luywdpwjht gpwdblyniuwgnud 2 sbpnn tnwp phuintdng 0 o 0
B funnnywly qdd 0 8738,1 0
pbwnnu u? 0 1255,5 0
Chwnwnwnd thgp 0 0 0
11 | w) pnynngbipny 10elV a2 0 810,9 0
p) Gbnph wgluwwnwupny 10elV gl 0 1801,8 0
Qnjnipntu ntubignn qluwdwubph pwunnu hbnwhwnp
12 | dnipéiny, pwpdnd w/p b inbnuihnfunud jgwilinynn 1,044 hbn. I8 0 26757 0
Ypw
Qnynye)nLu nitbgnn B/p onwlubph wywdnbunwdnud, pwpdnul ]
12 w/h L tnbnwitigwynyin 1,044 hen. dpw (d=1.0d) g 0 38404.2 0
Cunwikup 0
YcraHoska met. Tpy6bl dHap. =1520 mm / UGunwnwljwt
dwipin=15200d junnnywlubph mbknwnpnd
1 gibvsuawnqh puwhnnh thtupbgnu wwjrpwugpwiht hgptinny 53 0 43416 0
1" | 98-V Ywpgh puwhnnh thjupbignid hhnpndnipéng ol 0 4341,6 0
5 | 202-Vil ungh puwhnnh ihfupbignid wuyewiugpwihl hgpbinny P 0 5578.2 0

h=0.54




20a-Vil Ywpgh puwhnith thfupbgnud hhrpndnipéng

d"\

206-VIll Jwpgh puwhnnh thtupbignu! ww)rwugpwhu (hgpbpny

h=0.5d

206-VIlI Yungh puwhnnh thfupbgnud hhrnpndnipGnd

d3

<nnuwiht woluwwinwuptubip hniup ninndwy hwdwp Epu.1.0 03
2.0, pwpdnd w/h b inbnwith. lgwynywn 1.04d hbn. ypw 10e-
v

03

Lnnuyhts wotuwimwupbibn Uwieennp thhuphgywd pliwhnnnud
hniup ninndwu hwidwp Fpu.1.0d3 2.w. pupdnud w/h L
inbnwih. gwynywn 1.04d. hbn. ypw 9p-v

63

1638,9

Lnnuihtu wgluwwnwiupubp Uwiuonng thjupbgdwd puwhnnnud
hnih nupdwt hwdwp Epu.1.0d3 2.uw. puipdnd w/h U
inbinwith. (gwynywn 1.04d. hbn. dpw 20a-Vil

1964,7

<nnuwiht watuwwnwiptibip twiuopnp thfupbigyws ptiwhnnnwd
hniup nuipniwt hwdwn kpu.1.0d3 2.un. pwpénd w/h L
inbnwith. |gwynywn 1.04d. hbn. ypw 206-Viii

u’3

1964,7

<nn. wptuwinwpuip funnnywyp thnunpwyutiph thnpdwu
hwdwp £pu.1.0 U3 2.1, pwpdnd w/h b wbnwih. igwlynyn
1.04d han. Jpw 10e-1v

d3

1293,3

nnwihu watuwwnwuptiin bwhuopnp thfupbgywd puwhnnmd
funnnywyh thnunpwih thnpdwt hwdwp tpu. 1.043 2. .
pundnul w/h b wbnudinfunud jgwlinyn 1.04d hbn. Ypw 20a-
Vil

d3

1964,7

10

Cnnujht wapuwnwpubn wfuonpnp thiupbigdwd puwhnnmd
funnnduwih thinunpuwypy thnpdwt hwdwp kpu. 1.043 2. .
pwpdnwd w/h U wbnwginfunud [gulingwn 1.04d hin. ypw 206-
vill

u‘3

1964,7

n

<nnwjhtu wfuwwnwupubp uwiuopnp thfupbigywd puwhnnnud
funnnwyp thnunpwlyh thnpdwt hwdwp fpu. 1.003 2. .
pwp&nd w/h W whnwihinfund jgwynyur 1.044d hbn. ypw Sa-v

u‘3

1638,9

12

<nn. wpfuwwnwupubp funnnywbh nunpwiyubiph thnpdwu
hwdwp £pu.1.0 43 Ynnph Ypw Ynunwlbiny hbnwnwps {hoph
hwdwp 10e-lV

645,3

13

<nn, watuwwnwptibp bwiuonnp thfupbigywsd ptwhnnnud
funnnywlh thnunpwlubiph thnpdwt hwdwp Epu.1.0 &3 4nnph
Ypw Ynunwlbiny hbitnwnwnd |hgph hwdwn 9a-V

u’3

837,9




Swuwwwphwhu hwunyphg 10e-1V fupgh puwhnnh dawynd

14 | kpu. 2.5403 2.in. pwpdnud w/h U wnbnwihnfunw hbwnwnwpd gl 0 947,7 0
thgph hwdwp 2.0yd
15 | UWjwquynwbwjhtu uwhiww. h=10ud gl 0 6410,7 0
16 | huBwjhu hhdp h=30ud g2 0 5255,1 0
Giluwdwuh Ywnnignd dhwényy pbiinnupg  B20 F100 0 0
17 T pptp i 0 115786,8 0
hpwuubp IS 0 115786,8 0
18 | Npduwlwwwhu wdpwuubp @16 A500c 1=235ud ! 0 790,2 0
q
Ubunwnulwt dwpwn=15200d funnnjwyh wnbnwnpnud.1gdd=
19 537 Yg. wwinh hwuwn. 1584 qdd 0 870459,3 0
20 ;L(;x(:)ghnh L hbuwuwiht wwnwdubpp dhwény| pbnnt B20. F P 0 81347.4 0
Luywdpwihu gpwdbynuwgnud 2 otipnn tiwp phuinndnyg 0 0 0
L ry——r o0 0 8738,1 0
pbwnu g 0 1255,5 0
Lbunwnuwpd thgp 0 0 0
w)pnynngbipny 10elV I 0 807,3 0
22 | wipnynngbipny 9a-V e 0 807,3 0
p)abinph woluwwnwupny 10elV 15 0 1793,7 0
p)dbnph woluwwnwupny 9a-v g2 0 1793,7 0
23 | Rwpwyhu |hgp I8 0 6138 0
Cunwidbup 0
Ycranoska #/6 tpy6 d=1.0m / Qwwpnyh &/p funnnjwljubph
d=1.0d wnbnunpnd
1 :_Abvsudwnqh puwhnnh thfupbgnul wwjrwugpwihl (hgpbipny P 0 4371,3 0
1" | 98-V Yupgh puwhnnh thjupbgnid hhnpndnipGny g3 0 4371,3 0
/
2 i?z \5!35 Yuwpgh puwhnnh thtupbgnid wuypwugpuyht thgpbipny 5 0 5616 0
2 | 20a-Vil Yupgh puwhnnh gifupbgnid hjipndnipéng i 188,5 5616 1058 616
3 ﬁ?%\égl Yungh puwhnnh thfupbignud wwjrwigpwhl hgptinny 5 0 9203 4 0
3 | 206-VIil unpgh puwhnnh thfuptignud hhnpndnipéng g3 82 9203,4 754 679
Cnnuwjhtu wotuwwnwuputip 10e IV wpgh puwhnnnud hntuh
4 | nupuwt hwdwp bpu.1.0 d3 2.u. pupdnd w/h b wbnuig. gd 15 1302,3 19 535
tgwlnyn 1.04d htin. Ypw
<nnwhtu woluwinwupltip 10e IV Ywpgh puwhnnnd hnwh
5 | nnndwtu hwdwp kpu.1.0 d3 2.1, pwpdnud w/h b inbnwih. o3 332 1518,3 504 076

[gwynywn 3.0yd hbn. Jpw




<nnwhu wotuwtnwupubip wuopnp thfupagywsd 9a-V Ywngh
puwhnnnu hnioh mnndwt hwdwp Epu.1.0d3 2.n. pwpdnid
w/h W inbnwid. (gwlnywn 1.0Yd. hbn. Ypw

63

1650,6

<nnuijhu wauwwnwupubip uwpuopnp thjupbgywsd 20a-Vil
Ywpgh puwhnand  hnih nipndwt hwdwn bpu.1.0d3 2.,
pwpdnu w/h b wbnwih. |gwynywn 1.04d. hbn. pw

lj3

26

1978,2

51433

<nnwjht wofuwwnwupubn twfuopnp thfupbgywsd 20a-Vii
Ywpah puwhnnnd hniuh ninndwu hwdwp Fpu.1.0d3 2.0,
pwpdnut w/h U wnbinwih. |gulynywn 3.04d. hbn. Ypw

d3

6,5

2267,1

14 736

Cnnwjht wtuwwnwuputp uwpuopnp thfupbgywd 206-VIli
Ywpgh puwhnand  hntuh nipndw hwdwp Epu.1.0d3 ..
pwpdnd w/h b inbnuwith. gulynygu 1.04d. hbn. Jpw

0'3

1978,2

7913

10

Lnnwiht watuwwnwuputip uwfuopnp thiupbgywd 206-VIlI
Ywpah puwhnnnd hniuh ninndwu hwdwp kpu.1.0d3 2.un.
pwpanwd w/h L nbnuih. [gwlnywin 3.04d. hbn. Ypw

d3

1

2267,1

24 938

1

£nn. woluwwnwupubp 10e 1V Yuipgh puwhnnnid
thnunpwlyubph thnpdwu hwdwp Epu.1.0d3 2.1, pupdnwd w/h
L wnbinwith. [gwlynywn 1.04d hbn. ypw

0'3

1302,3

12

<ni}. wiztuwwwupubp 10e 1Y Jupgh ptwhnnmd
thnunpwlubph thnpdwtu hwdwp Epu.1.0d3 2., pupdmd w/h
L inbnwih. |gwynywnn 3.04d hbn. Jpw

u’3

134

1518,3

203 452

13

Cnnwjhtu watuwwnwlplbin uwiuopnp thfupbigywd 9a-V Ywpgh
puwhnnnut junnnuwyh tinunpwyh dinpdwu hwdwp Epu.
1.0d3 2. in. pwpdnud w/h b inbnudinfunad igwlynywn 1.04d hbn.
Ypw

0'3

1650,6

14

<nnwiht waluwwnwupubip uwluopnp thfupbigywd 20a-ViH
Ywpah pbwhnnnwt funnndwbh hnunpwyh dinpdwl hwdwp
Epu. 1.0d3 9. wn. pwpdnud w/h b inbnwithnfunud igwynyun 1.04d
htn. Jpw

03

92

1978,2

181 994

15

Lrnuijht wyfuwwnwtpubp Bwluopnp thjupbgywsd 20a-Vil
Yuwpgh puwhnnnud funnnqwyh thnunpwyh hnpdwt hwdwp
Epu. 1.0d3 2. w. pwpdnud w/h L inbnuihntunut [guiynywun 3.044d
htin. ypw

u’3

64

22671

145 094

16

<nnwjhtu watuwinwpubp bwluopnp thfupbigqwd 206-Vili
Yuwpah ptwhnanud funnajwlh thnunpwyh ginpdwt hwdwp
Fpu. 1.043 2. wn. pupdnud w/h L inbquuthnfunud jguilingn 1,04
htn. pw

u3

15

1978,2

29 673




<nnwjhtu wofuwinwiupubip uwuopnp thfupbgywd 206-Vili
Ywpgh puwhnnnd funnnwbh thnunpwyh thnpdw hwdwp

3
17 kpu. 1.043 2. . pwpdnud w/h L tnbnwihnfundd (gulynyun 3.04d d 52 2267.1 117569
hin. Ypus
<nn. wotuwnwupubp 10e IV Yupgh puwhnnnud
18 | thnunpwlubiph thnpdwt hwdwp Epu.1.0d3 Ynnph dpw gs 240 649,8 155 952
Ununwlibing hbwnwnwpd thgph hwdwp
<nn. wahuwwnwupubip bwjuopnp thfupbigywsd 9a-V unpah
19 | puwhnnmd funnndwlh thnunpwlubiph thnpdwt hwdwp I8 0 843,3 0
kpu.1.0d3 Ynnph Upw Ynunwlbgny hbnwnwnd (hgph hwdwp
Swlwwwphwihu hwtnyphy 10e-V Yuwpgh puwhngh dgwlnud
20 | kpu. 2.5d3 2.in. pupsnud w/h b wbnuipnfund hbunwnwpd 15 104 954,9 99 310
(hgeh hwdwp 2.044
21 | Ujwquynwbwihtu bwiwwywwnpwunnd  h=10 ud I8 26,36 6456,6 170 196
Quwdwuh Ywnnignd dhwény) pbinnuhg  B20 F100 0 0
2 hhdpbp ul 23,38 116587,8 2725823
hpwtbp gl 37,38 116587,8 4 358 052
23 | dwpp W hbbwywihu wwnwdh dhwany| pbinntu B 20.F 100 o 20,68 81910,8 1693 915
Cwywpnyh b/p N12 onwyh inbnwnpnui V=0.35 43 P=1.1n
swithbpp 120x100x10ud wdn.wwpniu.Ac240=25.7 lg/d3.
24 | Ac500=67.714g/d3 B20. F200 hwn 120 101020,5 12122 460
Onwyubph Ywpbiph dowlnud (Yuubthwieby ubpddyws
phwninwing)
25 | Onwlubph hhdpbph dhwdny| pbwnnt B 20.F 100 g 85,13 81910,8 6 973 066
26 | Unuudwhu spwdblniuwgnud U2 120 6221,7 746 604
27 | Rujwdpwhu gpwdblniuwgnud 2 9bpn tnwip phuiinwing g2 706,91 1264,5 893 888
Chunwnuinpd hgp ) 0 0
w)pniynngbpny 10elV e 309 812,7 251124
28 | w)pnynngtpny 9a-vV g3 0 812,7 0
p)&bnph woluwwnwupny 10elV I8 35 1806,3 63 221
p)dbinph wtuwwwupny 9a-V gl 0 1806,3 0
Cunwdbtup 33367 639
Ycranoska #/6 Tpy6 d=1.25m / Swqwpnydh &/p funpnduljubph
d=1.254 wnbnwnpnid
1 sfbvsudwnqh puwhnnh thtupbignu wwjpwugpwht |hgplnny P 0 4365 0
1" | 98-V Yupgh puwhnnh thiuptgnud hhnpndnipényg gl 0 4365 0
5 | 202-Vll huingh puwhnnh thfupbignud wwypwligpwiht hgptinny 5 0 56088 0

h=0.54




2!

20a-VIl Yupgh puwhnnh tiupbgnd hhnpndnigpéng

d.’!

206-VIll Jwngh puwhnnh thtupbgnid wwjrwugpwiht (hgpbipny
h=0.5d

d’3

3!

206-VIll Ywpgh puwhnnh thfjupbgnd hhnpndniptng

u’3

Znnwihu wotuwiwnwupubip hntup ninqdwu hwdwp tpu.1.0 d3
g.n. pwipdnd w/h b wbinuidh. jgwlnywn 1.04d hbn. Ypw 10elY

38,5

50 069

Cnnuyht wohuuwinwptbp bwhiennp thtupbguwd pwhnnmd
hntup ninniwu hwdwp bpu.1.0d3 2., pupdmd w/h b
inbnwih. jgwynywn 1.04d. hbn. ypw 9p-V

d3

1647,9

Lnnwihu watuwwnwupubip wiuonng thjupbgdwd puwhnnnid
hnwh nipndw hwdwp bpu.1.0d3 2.0, pupdnd w/h b
wnbinwith. (gwlnyw 1.04d. hbn. ypw 20a-Vil

d'.*

<nnwiht watuwinwupubip twhuonnp thtupbgywd piwhnnnid
hnwh niniwy hwdwp Epu.1.0d3 2.:n. pupdnd w/h
wnbinwith. [gwynywn 1.04d. hbn. ypw 206-VINl

u’3

1875,5

<nn. watu-ubp hnunpwyubiph ginpdwi hwdwp kpu. 1.003 2.1
pwnpénd w/h b wnbnwihnfu. gwlnyn 1.04d hbin. 4pw 10elV

63

104

1300,5

135 252

<nnwiht waluwwnwupubp bwjuonnp thtupbgywd puwhnnnid
funnnywyh thnunpwyh hnpdwu hwdwp Epu. 1.003 2. .
pwpdnd w/h W wbnuithnfund guihnywn 1.04d hbn. ypw 9a-v

63

1647,9

<nnwhu watuwinwupubp bwfuopnp thfupbgws puwhnnnd
funandwiyh thnunpwih thnpdwt hwdwn kpu. 1.0d3 2. .
puwpdnut w/h b wbnwthnfunwd |gwiynywn 1.04d hbn. Jpw 20a-
vil

d3

1975,5

n

Znnuihu wotuwwnwuplbtipn bwjuopnp thfupbgywd puwhnnnid
funfndwlyh grirunpwyh inpdwl hwdwp bpu. 1.043 2. w.
pwpdnd w/h L wnbnwthntunid [gulnywn 1.0Yd hbn. Ypw 206-
viil

63

1975,5

12

<nn. watuwwnwupubp unnndwbyh  thnunpwlubph thnpdwu
hwdwn pu.1.0 B ynnph Ypw Yawnwhbnd hbinwnwpd |hgph
hwdwp 10elV

d3

66

648,9

42 827

<nn. wotuwwnwupubp bwiuopnp thtupbigywsd puwhnnnut
funnndwlh  dnunpwlibph thnpdwt hwdwn fpu.1.0 W3 Ynnph
Ypw Yntnwybny htivnwnwnd (hgph hwdwp 98-V

u’3

842,4




Bwuwwwphwihu hwunyphg. bwhiwwbu Ynunwlwsd 10e-1V

14 | Yupgh puwhnnh pwpdnu w/h kpu. 2.503 2.1, L g 0 953,1 0
nbnwipnfunid  hbwwinwipd thgph hwdwp 2.04d
15 | UWjwquynwbw)ht bwhuwwwwnpwuwnd  h=10 ud gl 6,52 6447,6 42 038
Sifuwdwuh Yunnignid dhwdnyj pawnthg  B20 F100 0
16 I huptn 2 7,02 | 1164231 817 290
hpwuubp 2 9,5 116423,1 1106 019
felbph Ywnnignd Jdhwdny| piinnupg B20. F100 0 0
7 Mopdgtn ® 453 | 648054 | 293568
hpwutbp & 4,25 67182,2 85525
Onwlyubph hhupbph dhwd bunu B 20.F 100
jg | Onuliubrh hhdgrh dhudny plun g 3743 | 817938 | 3061542
19 | dwph L hbuwluyht wnwdh dhwdny) pbiinnu B 20.F 100 3 53 81793,8 433 507
Cwywpndh b/p N14 onwyh mbnwnpnud V=0.52 d3 P=1.3unn
swthbipp 149x100x12ud wudp. wwpntu. Ac500=17.1 lg/d3.
20 | Ac500=78.3lg/u3 B20. F200 hwn 34 142840,7 4 859 984
Onwlubph Yupbpp dawynwd {Huubthweb ubpddywd
phuinudng)
Lwywpndp b/p N15 onulh inbnunpnul V=0.61 U3 P=1.5un
swithbipp 153x100x14ud wdp. wwpniu. Ac500=17.2 Lg/d3.
21 | Ac500=103.3Yg/d3 B20. F200 hwn 0 163501,2 0
Onwlubph Yupbph dwynd (Yuubthweb) utinddywd
phunnwing)
Lujwdpwiht Ut wd 2 gk dr
gg | Puthubpuipl gnuidBinuwgnud 2 gnin g puanuiny e 43826 | 12627 553 391
23 | Unuudw)hu gpwdbyniuwgnud 2 37,97 6212,7 235 896
24 | Lwpwjhu thgp I 0 6171,3 0
Lhunwnwnd thgp 3 0 0
w)pninngbpny 10elV g3 59 81,8 47 896
25 | w)pnynngbipny 9a-V gl 0 811,8 )
p)abinph woluwwnwupny 10elV g 7 1803,6 12 625
p)abnph woluwwnwupny 98-V @ 0 1803,6 0
Cunuuibip 11 977 431
Ycranoska #/6 Tpy6 d=1.200mm / wywpnyh E/p
unnndwlutpp d=1.2000d wbknwnpnd
1 | 98-V Yupgh puwhnnh thupbgnd hhnpndnupényg a3 0 4365 0
2 | 206-VIll wpgh puwhnnh thfuptgnd hhapndnipényg &3 0 9190,8 0




<nnwijht waluwwnwupubp uwhiopnp thiupbigywsd puwhnnnud

hntuh nuipndwt hwdwp Epu.1.0d3 2., pupénd w/h b gl 1298,7
wnbnwth. [gwynyin 1.044. hbin. Ypw 10elV
<nnwjht waotuwinwupubp Uwluopnpg thiupbgwsd puwhnnnul
3 | hntuh nuinndwb hwdwp kpu.1.0d3 2., pwpénd w/h b g2 1647,9
wnbinuwith. [gulnyw 1.04d. hbn. Ypw 9a-V
Lnnwijht wyuwwnwupubp Uwfuopnp thiupbgywd puwhnnnuwl
4 | hnwwh ninndwb hwdwp kpu.1.083 2.1 pwpdmd w/h ol 1975,5
wnbnwih. [gwynywn 1.04d. hbn. Yypw 206-VIlI
<nnuwht waotuwwnwupubp lunnnwlh thnunpwlh hnpdwt
hwdwp Epu. 1.083 2. . pupdnmd wih W inbinwgntunud § 12987
tgwynyin 1.04d hen. Ypw 10elV
nnwjht wafuwwnwupttin bwhiopnp thiupbgyws puwhnnnwd
5 | tunnndwyh thnunpwlh hnpdwt hwdwp Epu. 1.043 2. . gl 1647,9
pwpdnud w/h W inbnwthnfunwd igwlnywn 1.04d hbn. Jpw 9a-V
<nnuiht wauwnwuptbp Uwiuopnp thjuptigwd puwhnnnd
6 funnnuwlh thnunpwyh thnpdwt hwdwp kpu. 1.043 2. . P 1975.5
pwnénul w/p b mbnwthnfunw [gwynywn 1.04d hbn, Ypw 206- ’
il
<nn. watuwwwupubin bwfuopnp thfupbgdwd puwhnnnud
7 | tunnnulh  thnunpwlubph thnpdwt hwdwp kpu.1.0 &3 Ynnph g3 842,4
Upw Ynunwlbng hbrnwnwpd (hgph hwdwnp 9a-V
<nn. wafuwinwupubn wfuopnp thfupbgwsd puwhnnnut
funnndwlh  thnunpwyubph thnpdwt hwdwp Epu.1.0 & Ynnph g3 648
Upw Ynunwlbny hbwnwnwnd |hgph hwdwnp  10elV
8 | Wwqulynwbuwhu uwhiwwwnpwuwnd  h=10 ud g3 6447,6
Suwdwuh Ywnmgnud dhwany| piinnuhg  B20 F100 0
% [ hpapbp » 1164231
hpwtubip @ 116423,1
fGubiph Yunmgnw dhwdény) pbitnnuhg B20. F100 0
10 hhupbp g3 64805,4
hpwtiibip ge 67182,3
11} dwph U hbuwlyuiht wnwdh dhwany pinnt B 20.F 100 18 81793,8
12 b/p bwhuwpupdwd lunnndwlubph nbnunpnd qdu 153220,95




Luywdpwihu gpwdbynuwgnd 2 2bpuin wiwp phuinnidng

2., pwpdnd w/h b wbnuwig. gwynyn 3.04d hbn. dpw 10elY

13 g2 0 1262,7 0
Lbwnwnwnd |hgp ) 0 0 0
w)pnynnqbpny 9a-v s 0 811,8 0

14 | w)pnynngbpny 10elV gl 0 811,8 0
p)dbnph waluwwnwupny 9ga-vV g3 0 1803,6 0
p)&bnph wafuwwnwupny 10elV s 0 1803,6 0

15 | Lwpwyhu |hgp s 0 6164,1 0

Cunwdkup 0
Yeranoena #/6 Tpy6 d=1.5m / Quupnygh b/p hungndulitkph
d=1.5d wnbnunpnid
gf-oVsudwnqh puwhnnh thiupbgnid wwjpwugpuwht |hgptinny P 0 43605 0

1" | 9a-V Yupgh puwhnnh thiupbgnid hhnpndnupéng gl 0 4360,5 0

9 ﬁ?g-\éllls Yungh puwhnnh difuntignud wwjpwlgpwihu hgptinny P 0 56016 0

2' | 20a-VIl Ywpgh puwhnnh thtupbignud hhppndnipdng g3 0 5601,6 0

3 ﬁ?g-\élllsl Ywpgh puwhnnh thfupbignud wwjrpwugpuihl (hgptinny 5 0 9180 0

3" | 206-Vill wpah puwhnnh thfupbgnd hhnpndnipéng s 0 9180 0
<nnuijht watuwwnwupubip hntup nipndwy hwdwp tpu.1.0 43 ]

4| n. pupdnd w/h b wbnwih. gy 1.048 hen. dpw 10elv | Y 12 1298,7 i
Lnnuyhtu woluwnwupubn 33e-1 Yupah puwhnanud hadh

* | ninndwl hwdwp tpu.1,0 U4 2.in. pwpdnd w/h b inbinwih. I8 80 945,9 75 672
[gwynywn 1,0yd hbn. Ypw
Cnnuwih wtuwinwuputin 33s-H Yuwpgh puwhnnnwd hnduh

* | ninndwt hwdwp tpu.1,0 43 .. pupdnd w/h L inbiquith. u* 222 1138,5 252 747
igwynywn 3,0yd hbn. dpw
Lnnuijht wfuwwwlpubp Uwhuonpng thfupbgywd puwhnnntd

5 | hntuh ninndwt hwdwp bpu.1.003 .. pwpdnud w/h L e 0 1646,1 0
wnbinwith. lgwynywn 1.04d. hbn. ypw 9a-V
<nnujhtu wotuwnwupubip Uwhuopnp thiupbgywd puwhnnnid

6 | hnuh nipndwy hwdwp bpu.1.0d3 2.1, pwpénd w/h b g3 0 1973,7 0
inbnwih. @wlynywn 1.0Yd. hbn. dpw 20aVIl
nnuiht wotuwwnwupubip Uwhuopnp thtupbgywsd puwhnnnd

7 | hniup nipndwu hwdwp Epu.1.0d3 2.n. pupdnd w/p b as 0 1973,7 0
nbnwih. @wlnywn 1.044d. hbn. pw 206-VilI

8 Lnnwjht wytuwwwupubp hnuh nipndwt hwdwp bpu.1.0 43 P 173 15147 262 043




<nn. wyfu-ulp thnunpwiulaph Ginpdwt hwdwp tpu. 1.0d3 2.1

3

2 pwpdnuwt w/h W inbnwihnfu.jgwlnyw 3.04d hbn. Ypw 10elV U s 1SI4,2 1SEA30
<nn. watu-ubp thnunpwlubiph thnpdwt hwdwp Epu. 1.0d3 2.1 .

10 pwpanw w/h W wbnwihntu.igwynywn 1.04d hbn. pw 10elV d # 1298,7 o0 &2
<nn. woluwinwupubp 33e-1l Ywpgh puwhnnnid

* | tpnunpwlubinh thopdwi hwdwp Epu.i, 08 2., pwpdnd w/h o2 146 945,9 138 101
U wbnwth. |gwynywn 1,04d hbin. Ypw
<nn. wpluwwnwuptbp 33s-11 Ywpgh puwhnnnd

* { thnunpwlubiph thnpdwt hwdwp Epu.1,008 2., pwpdnd w/h g3 348 1138,5 396 198
U wbnwih. igwynywn 3,044 hbn. Ypw
<nnuihtu wotuwwnwupttin Uwfuonnp thiuptigwsd puwhnnnwd

11 | funnnjwyp thnunpuyh thnpdwu hwdwp fpu. 1.043 9. . g3 0 1646,1 0
pwndnud w/h b inbnwihnfunud |gwlnyun 1.04d hbn. Ypw 9a-V
Cnnuihtu woluwwnwupubp twfuopnp thfupbgywsd puwhnnnid

12 | funnndwlh thnunpwh thnpdwt hwdwp kpu. 1.0d3 2. . a3 0 1973,7 0
pwpanud w/h b wbnwihnfund |gwynywn 1.04d hban. Ypw 20aVIll
<nnwihb wotuwwnwupubin bwfuopnp thfupbgywsd puwhnnnid

13 funnnywyh thnunpwlh thnpdwu hwdwp Epu. 1.043 2. . 5 0 1973.7 0
pwpanw w/h U wbnwihnfund [guynyn 1.04d hbin. ypw 206- ’
Vil
<nn. wptuwinwupubp funnnduiyh  thnunpwubph thnpdwu

14 | hwdwp Epu.1.0 B Ynnph dpw Ynunwlbynd hbunwnwnpd thgph g3 260 648 168 480
hwdwp 10efV
<nn. watuwinwbpubp bwfuopnp thfupbigywd ptwhnnnud

15 | junnndwyh thnunpwbbbph thnpdwt hwdwp fpe.1.0 88 4nnph & 0 841,5 0
Upw Ynunwybtny hbtnwnwpd thgph hwdwp 9a-v
Bwlwwwphwihtu hwunyphg 10e-1V Yupgh puwhnnh dawynd

* | kpu. 2,503 2., pwpdnwd w/p b wmbnwithnfunid hbnwnwnd Iy 265 1812,6 480 339
thgph hwdwn 2,0yd

16 | Ujwquynwbwihu vwiwwwinpwuinnid  h=10 ud a3 55,24 6439,5 355718
Sluwdwun Ywnmgnd dhwdny pivinuhy  B20 F100 0 0

17 hhdpbip Ul 31,58 116289 3 672 407
hpwuubp g3 54,432 116289 6 329 843

18 febbph Ywnmgnw Jhwdny) pbhnnuhg B20. F100 0 0
hhdptp a2 20,53 64729,8 1328 903




hpwttbp gl 24,94 67105,8 1673 619
b :
19 Onwlubph hhdpbiph dhwany| pbiwnnu B 20.F 100 e 156,83 81700,2 12 813 042
20 | Ywph b hbuwlwiht wnwdh Jhwany pinnu B 20.F 100 15 28,76 81700,2 2 349 698
Cwwpnyh b/p N16 onwlh inbnwnpnui V=0.72 43 P=1.8wn
swihbipp 178x100x14ud wp. wwpniu.Ac500=16.5 yag/u3.
21 | Ac500=76.7Yg/u% B20. F200 hwin 120 220797,9 26 495 748
Onwlubph Yupbph dawynwd (Guubthwpb; ubpddyws
phunuiny)
Cwywpnyh b/p N17 onwlh whnunpnd V=0.84 43 P=2.1n
swihbipp 182x100x16ud widp. wwpnu.Ac500=15.74g/u3.
22 | Ac500=119.04Lqg/J% B20.F200 hwuwn 0 254021,4 0
Onuwlubph Ywpbph dawiynw (uubithweb) ubpddyws
phunnuwing)
Cwywpnyh b/p N71 onwlh nbnunpnud V=1.19 U3 P=3.0uwn
swithbipp 194x100x22ud wdpn.wwpniu.Ac500=14.204q/d3.
23 | Ac500=118.0yg/d3 B20. F200 hwwn 0 347505,3 0
Onwlubph Yupbph dawlnd (Yuubihweb bbpddywsd
phuindny)
Rujwsdpwihu b d2ab 0]
a4 | Puthubpuhl gpuidBlnugnud 2 i wnwip phinnuing ® | 180,82 | 12609 | 1488896
25 | Unuudwyhu gpwdbyniuwgnid U2 170,24 6205,5 1056 424
Chuinwnwpd |hgp . 0 0
w)pnynngbpny 9a-Y Y 810,9 0
26 | wjpnynngbipny [CelV gs 473 810,9 383 556
p)abnph woluwwnwupny 10elV 15 52 1801,8 93694
p)abnph wypuwwnwupny 9a-V I8 0 1801,8 0
27 | Rwpwihtu thgp g? 10,24 6164,1 63120
Qnynyenit nitbignn qiuwdwubiph pwunnd hbnwhwp
28 | dnip&nd. pwpdnud w/h W inbmwihnfunwd [gulnywn 1.04d hbn. g3 0 26757 0
Ypw
SQnnuejniu niubignn b/p onwlubph wwwdnuwnwdnid. pupdnid )
29 w/h b tinbnuwihigulbinyny 1.04d hbn. Ypw (d=1.0d) J 0 38464,2 0
Cununibup 60 149 184
YcranoBka #/6 Tpy6 d=1.500mm / Swijupnip E/p
lunpnjwlutiph d=1.5004d wnknwnpnud
1 | 98-V Ywpah ptuwhnnh thfupbignwd hhnpndnipéng, 15 0 4360,5 0
2 | 20a-VIl Ywpgh puwhnnp thjupbgnud hhnpndninéng u? 0 5601,6 0
3 <nnujht wtuwtnwupubip hnwh nipndwt hwdwp bpu.1.0 43 P 0 1298,7 0

2.un. pwpdnwd w/h b wbnwih. |gulnywn 1.04d hbn. Jpw 10elV




<nnuihtu wotuwwnwupubp uwfuonnp thfupbgywsd puwhnnnul

4 | hnih nuinpndwt hwdwp Epu.1.0d3 2.in. pwpémd w/h b g3 0 1646,1 0
intinwih. (gulnywn 1.04d. htm. Jpw 9g-V
<nnwjht woluwwnwupubp Uwhuopng thtupbgywsd puwhnnnul

5 | hmuh ninndwt hwdwp Epu.1.0d3 2.n. pupénd w/h b gl 0 1973,7 0
inbinwith. jgwynywn 1.04d. hbn. Ypw 20aVil

6 <nn. wylu-ubip thnunpwlubph hnpdwt hwdwnp Epu. 1.043 2.1 P 0 12987 0
pwpanw w/h b inbnwidnfu. guynywn 1.04d hbn. Jpw 10elV ’
Lnnwhtu watuwinwupubip Uwuopnp thfupbgwsd puwhnnnid

7 | funnnduwyh thnunpwlh thnpdwt hwdwp Epu. 1.0d3 2. . e 0 1646,1 0
pwpdnW w/h b wbanwihnfund |gwynyw 1.04d hbn. Jpw 9g-v
<nnuwjht wgluwinwplbip bwhuopnp thiupbigywd puwhnnnud

8 | funnnyuwyh thnunpwlh thnpdwu hwdwp Epu. 1.003 7. 1. gl 0 1973,7 0
pwpsnud w/h W inbnwithnfunwd gwlnyw 1.04d hbn. Jpw 20aVvil
<nn. wafuwwnwuputip funnndwih thnunpwyubph thnpdwu

9 | hwdwp kpu.1.0 BYnnph Ypw Yninwlbing hbnwnwpd (hgph Ik 0 648 0
hwdwn 10elV
<nn. wptuwinwupubn wiuonnp thhupbgwd puwhnnnud

10 | funnnwyh thnunpwliutiph hnpdwy  hwdwp fpu.1.0 33 Ynnph g 0 841,5 0
Ypw Ynunwybny hbunwnwné thgph hwdwp 9a-V

11 ] UWdwqulnwbwht bwuwwwnpwunn h=10 ud 3 0 6439,5 0
Fuwdwuh Yunngnd dhwdny, piiinuhg B20 F100 0

12 hhdpbp g3 0 116289 0
hpwtbp P 0 116289 0
felbiph Yunnignd Jhwdny| pbitnnuhg B20. F100 0 0 0

13 hhdpbp g3 0 64729,8 0
hpwuubp gl 0 67105,8 0

14 | dwph W hbuwhught winwdh dhwény, pbinnu B 20.F 100 I8 0 81700,2 0

15 b/p bwhwwpdwsd funnndulubph wnbnwnpnud qdd 0 300763,35 0

16 Lujwsdpwiht gpwdbynwwgnud 2 obipwn tnwp phunnwdng 2 0 1260,9 0
Chunwnwipd thgp N 0 0 0

- w)pninngbpny 9a-V gl 0 810,9 0
w)pnynngbnpny 10elV g3 0 810,9 0

p)dbnph wouwwnwupny 9a-vV 15 0 1801,8 0




p)&tnph wohuwwnwupny 10elV gl 0 1801,8 0
18 | Rwpuyhu |hgp g3 0 6164,1 0
Cunwdbkup 0
Ycranoeka m/6 Tpy6 d=2.0m / Swdwpnyh &/p, funnndwltiph
d=2.0d nbknwnpnid
’ f‘%\g& Ywngh puwhnnh tfupbignd ww)ewlgpwht (hgptipny 5 0 5599,8 0
1" | 20a-Vil Ywpgh puwhnnh thjupgnud hhnpndnipdnyg oo 0 5599,8 0
2 5960»\5/31 Ywngh puwhnnh thfupbignud wwipwlgpwiht |hgpbipny P 0 9177.3 0
2" | 206-Vill upgh puwhnnh thtupbgnd hhnpndnipéng g? 0 9177,3 0
3 | 98-V Ywpgh puwhnnh thjuptignid hhnpndnipéng @ 87 4360,5 379 364
Lnnwjhtu watuwtnwupubip hnp ninndwu hwdwp tpu.1.0 03 5
4 2. puwpdnul w/h boinbinui. jgwiynyin 1.04d hbn. Y 10elV I 354 1298,7 459740
<nnuiht wotuwwnwupubp hntuh nuipndwu hwdwp pu.1.0 U3 s
5 | 5. pupand wh b wbnuith, jgulngn 3.04d hbon, gow 10elv | Y 106 15111 160177
Lnnuwhu wotuwwnwuplbip bwluopnp thiupbgywd puwhnnntd
6 | hnh nupndwl hwdwp kpu.1.003 2., pwpdnd w/h b gl 0 1972,8 0
tnbnwth. |gwynywn 1.04d. hbn. pw 20aVl!
<nnwihu wotuwwnwupubip bwhiopnp thfupbgywd puwhnnnid
7 | hnwh ninndwu hwdwp pu.1.0d3 2.:n. pupdnud w/h L ol 0 1972,8 0
inbruih. gwynywn 1.04d. hbn. ypw 206ViH
Lnnwjht waotuwwnwuputip bwiuopnpg thtupbgywsd puwhnnnid
8 | hntuh ninndwt hwdwp Epu.1.0d3 2.:n. pupdnd w/h L g3 47 1877,4 88 238
wbruith. (guynywn 3.04d. hbn. Ypw 9p-V
£nn. wplu-ubp thnunpwlubph hnpdwt hwdwp kpu. 1.0d3 2. 5
9 pupdnd w/h U whnwthnfu.guwynywn 1.0Yd hbn. ypw 10elV 4 319 1298,7 414285
<nn. wylu-ubp thnunpwijubph thnpdwu hwdwp tpu. 1.043 2.un 3
10 puipdnul w/h b inbnwithnbu.jguwiynyin 3,040 hbn. Jpw 10elV U 191 1511 288 620
<nnujht watuwunwupubip Uwhuopnp thiupbgdwd puwhnnnid
. funnndwyh thnunpwyh thnpdwu hwdwp kpu. 1.043 2. n. P 0 19728 0
pwpdnw w/h W wbinwinfun |gwynywn 1.0Y4 htn. Jpw !
20avii
Lnnwiht watuwwmwlipubp bwhuopnp thtupbgyws pliwhnnnwd
12 funanuwyh thnunpwlh thnpdwt hwdwp tpu. 1.043 2. . P 0 1972.8 0

pwpdnw w/h U inbnwithnfund [gwynywn 1.04d htin. Jpw
206Vl




Lnnujht watuwwnwupubp bwiuopnp thfupbgywsd puwhnnnd

13 | funnndwyh thnunpwlh thrpdwt hwdwp Epu. 1.043 2. . g3 79 1877,4 148 315
pwpdnd w/h b wbnuithnfumd gwynywn 3.04d hbn. pw 9a-V
<nn. wpluwnwupubp funpnduibh  thnunpwubiph thnpdwu

14 | hwdwp kpu.1.0 B Ynnph dpw Yninwlbing hbinwnwnd (hgeh gl 344 648 222 912
hwdwp 10elV
<nn. wauwunwupubp funnnywbh thnunpwlubiph thnpduw

15 | hwdwp kpu.1.0 & Ynnph dpw Ynwnwybyng hbnwnwpd (hgph a2 48 840,6 40 349
hwdwp 98-V
Bwuwwwphwihu hwunyphg 10e-1V Junpgh puwhbnnh dawlind

16 | kpu. 2.503 2.1n. pwpsnud w/h W mbnwihnfunw htwnwnwpd ud 0 952,2 0
ihgph hwdwp 2.0yd

17 | Wwquinwwiht bwiuwwwwpwuwnnd h=10 ud I8 79,72 6437,7 513213
Suwdwuh Ywnnignd dhwdny| pbiinuhg  B20 F100 0 0

18 hpupbp a2 31,59 116253 3 672 432
hpwbip 18 61,94 116253 7 200 711
f-ubiph Ywnnignd dhwaény pbinnuphg B20. F100 0 0

19 hhdpbp g3 23,58 64710,9 1525 883
hpwuubp e 39,99 67084,2 2 682 697

20 Onwljubiph hhdpbiph dhwény; pbwinu B 20.F 100 e 273,39 81675 27 329 128

21 | Ywph b hbuwlywihtr wnwdh dhwény| pbwint B 20.F 100 g3 46,29 81675 3780736
Cwiwpndh &/p N72 onulh wnbnunpnid V=1.09 43 P=2.7un
swthbipn 232x100x16ud wdp.wwpniu.Ac500=14.5 Lg/d3.

22 | Ac500=81.4q/4® B20. F200 hwtn 133 426324,6 56 701172
Onuwlubph Jwpbph dowlnd (Qubbhweb UbpdSywd
phwnnuing)
Cwydwpnyh b/p N74 onwlh inbnwnpnw V=1.69 43 P=4.2n
swithbipp 248x100x24ud wudp.wwnpniu.Ac500=23.6 Ya/u.

23 | Ac500=192.0yg/* B20. F200 hwuwn 41 679477,5 27 858 578
Onwijubph Gupbiph dwynd (Yuubhwpby ubpddgws
phinnudml)

24 Luywdpwjhu gnwdbynwwgnut 2 obipn nwp phinnuing P2 1602,88 1260,9 5 091 071

25 | Unuudwjht gpwdbyniuwgnud g 304,71 6203,7 1890 329

26 | Rwnwjhu [hgp I8 49,21 6162,3 303 247
Lhwnwnwpd hgp . 0

27 | w)pnynngbipny 10elV & 310 810,9 25137
w)pnynngbpny 9g-V e 43 810,9 34 869




p)&tnph wotuwtnwupny 10elV gl 34 1800,9 61231
p)&bnph woluwwwupny 9a-V g3 5 1800,9 9 005
Snjnyegnil niubignn dhuwnwlwu funanduwlih
28 wujwdhunwdnud. JYbpwnwpd ubthwywuwwnhpngp  d=6304d L e 25902 1843l
Cunwdkup 133 055 810
YcraHoska #/6 Tpy6 d=2.0x2.0m / Swjwpnyh &/p
funnndwlubph d=2.0x2.0d wbnwnpmd
Znnuwihu wafuwwnwupbip 10e IV Ywpgh puwhnnnw hniuh
1 | ninndwl hwdwp Epu.1,0 &3 2., pupdnmd w/h b nbinwi. I8 34 1511,1 51 377
[gwynywn 3,044 hbin. Yypw
£nn. wohuwwmwuputip 10e IV Lwpgh puwhnnnd
2 | thnunpwlubiph thapdwu hwdwp bpu.1,0083 2.1, pupdnd w/h g3 61 1511,1 92177
U wbnwth. |gwlnywn 3,04d hbn. pw
<nn. wptuwwnwupubn 10e IV Ywpgh puwhnnnul
3 | thnunpwlubiph thnpdwy  hwdwp Epu.1,08 Ynnph Ypw s 70 646,2 45234
Ynunwlbny hbitnwnwnd |hgph hwdwp
4 | UJwquynwbwiht bwuwwwunpwuwnnd  h=10 ud I8 11,33 5919,3 67 066
5 | %fuwnpph Yunnignut dhwany) patinnuhg B20, F200 18 1,08 66945,6 72 301
6 | Nunnnpn RUbph Ywnnignud dhwany) pbwinupg B20, F100 0 0 0
7 hhdphip g3 6,15 64576,8 397 147
8 | hpwuubp e 8,5 66945,6 569 038
9 | Onwlubph hhdpbph dhwany pannu B20,F 100 g3 31,95 81505,8 2604110
10 | dwph b hbuwluwjht wnwdh dhwény; pbwnnu B 20,F 100 i3 6,168 81283,5 501 357
Cwywpnyh b/p N48 onwlh nbinwnpnud V=1,69% P=4,21n
swthbipp 226x250x100ud wdp,wwpni. AS00C=122,904g/u13,
A240C= 47,5 Yg/u®
11 B20, F200 hwuwn 30 613675,8 18 410 274
Onwlubiph Ywpbph dwynud (Yuubthweb; ubpddywsd
phwnuwind)
12 | Rujwdpuwihu ppwdblnwwgnd 2 obipn wnwp phinndng g2 292,54 1258,2 368 074
14 | Unuudwhu opwdblniuwgnid u? 55,098 6191,1 34 17
15 | Rupwjhu thgp a2 2,738 6149,7 16 838
Lhunwnwipd thgp 5 0 0
16 | w)pnynngbipny (10elV) u? 63 809,1 50 973
p)abnph wotuwwnwupny (10elV) gl 7 i797,3 j2 58I
Cununitup 23 599 665




YcraHoBKa #/6 Tpy6 d=3.0x2.5m / Swijwpnip &/p
funnnwluph d=3.0x2.50 inbknunpnud

Cnnwjhtu watuwwnwupubip 10e IV Yupgh puwhnnnud hnduh

1| nipdwl hwdwp tpu.1,0d3 2.n. pupdnud w/h b inbinwih. g3 0 1511,1 0
[gwiynywn 3,04d htn. Ypw
Bpnud hnnwjht watuwwnwuptbn 10e IV Ywpgh puwhnnnwd
2 | hnth nuindwt hwdwp bpu.1,08 2.0, pupdnd w/h b g2 0 15111 0
wnbnwih. gwynywnn 3,044 hbn. Ypw
<nn. wpluwwnwupubp 10e IV Ywpgh puwhnnnwd
3 | thnunpwlubiph thnpdwt hwdwp bpu.1,00 2., pwpdnd w/h o2 0 1511,1 0
U nbnwith. (gwynywn 3,04d hbn. dpw
<nn. watuwwnwupubp 10e IV Yupgh puwhnnnud
4 | thnunpwlubph pnpdwt hwdwp fpu.1,083 Ynnph Jpw g2 0 645,3 0
Ununwybiiny hbvnwnwpa |hgph hwdwp
<nnuwjhu watuwwnwupubip 33s - 1 Yuwpgh puwhnnnd hniup
* | ninndwt hwdwp bpu.1,082 9., pwpdnud w/h W inbinwith. g? 322 1138,5 366 597
tguwlynyun 3,04d hbn. Jpw
Blpnd hnnwyht watuwwnwupubp 33s - Il Ywpgh puwhnnnud
* | hnup nipndwu hwdwn Epu.1,003 2., pwpénud w/h b g3 44 1138,5 50 094
tnbinwith. gwynywn 3,0ud hbn. Ypw
<nn. wohuwinwuptiip 338 - 1l Yupgh puwhannud
* | thnunpwlubph thnpdwt hwdwn Epu.1,08% 2.1, pwpénud w/h gl 626 1138,5 712 701
L wnbnwth. [gwlnyw 3,044 hbn. Jpw
Bwuwwwphwjhu hwunyphg 10e-1V Jwngh puwhnnh dawlnul
* | kpu. 2,503 2.in. pwpdnd w/h W inbnwihnfund hBnwnwnd 15 439 1812,6 795 731
Lhgph hwduwn 2,04d
5 | Ujwquynwbuwiht bwuwwwwnpwuwnnd  h=10 ud I8 63,06 6425,1 405 167
6 | Ununpnu gifuwnghph Ywnnignul dhwany; plivainuhg B20, F100 g2 2,49 66954,6 166 717
7 | Bpnd gifuwnhph Ywnngnud dhwany| pinuhg B20, F100 g3 1,45 66954,6 97 084
8 Ununpnid U Gipnud ninnnpn. plbiph Yunnignud Shwany 0 0
pbwnnuhg B20, F100 . )
2 3
9 hhdptin U 22,42 64585,8 1448 014
10 | hpwuubp I8 29,1 66954,6 1948 379
11 | Onwyubph hhdptiph dhwény; pbinnu B 20,F 100 g2 132,661 81516,6 10 814 074
12 | Ywph b hbbwlwihu wwnwdh dhwany) pbinnu B 20,F 100 g 29,92 81522 2439138




13

Cwywpnuh b/p N92 onwyh inbnwnpnwd V=3,204® P=8,0u:n
swihbipp 340x314x100ud wdp,wwpniu. A500C-110,34g/u®,
A240C- 43,1 g/

B20, F200

Onwlubph Ywpbph dawlnud (Yuubihwyeh) ubpdd]wd
phwnnwdnd)

hww

36

913520,7

32 886 745

14

Cwywpnyh b/p N93 onulyh inbnwnpnud V=4,024° P=10,0un
swithbipp 346x332x100ud wup,wwpniu. A500C-212,54g/W3,
A240C- 12,6 Yg/d®

B20, F200

Onwlubph Ywpbph dowlnd (Guubthweb) ubpdddws
phuniiny)

huwn

46

1136476,8

52 277 933

15

Lujwspwiht gpwdbiyntuwgnid 2 gbpwn tnwp phinnuing

02

1027,45

1251

1285 340

16

Unutdwht onwdbynuutugmd

lj2

205,281

6192

1271100

Lbunwnwnd |hgp

0

w)pnynnqbpny 10elV

2

395

809,1

319 595

p)dbnph watuwwnwpny 10elV

lj3

44

1797,3

79 081

Lunwdbkup

107 363 489

YcraHoBra #/6 Tpy6 6.0x3.0m / &/p 6.0x3.0 pwgqudpny
unnnywljh mbnuigpnd

20a-Vil Yungh puwhnnh thfupbynud wwjpwigpwht |hgpbpny
h=0.54

g

456

5599,8

2553509

206-Vill Ywpgh puwhnnh thfuptignud hhnpndnegpény

0’3

397

77,3

3643 388

Lnnwiht wstuwwnwupubp bwhuopng thfuptigqwd puwhnnnid
hnwh mandwt hwdwp Epu.1.0d3 2.0, pupdmd w/h b
nbnwth. jgwynyw 3.0yd. hbn. Yypw 202Vl

63

52

2257,2

117 374

<nnuihtu waotuwwnwupubp bwhiopnp thtupbgqwd puwhnnnid
hniuh nindwt hwdwp bpu.1.0d3 2.1, pwpénd w/h b
inbnwih. gwlnywn 1.0Yd. hbn. dpw 206V

lj3

2257,2

11 286

<nnuwjhu watuwwinwupubp Uwfuopnp thjupbigywd puwhnnnid
funnndwlp thnunpwyh thnpdwl hwdwp kpu. 1.043 2. .
pwpdnd w/h b whnwihnfund jgwinywnn 3.04d hbn. Ypw
20avll

63

404

2257,2

911 909

Lnnwjhu watuwwnwupubp uwhuopnp thfupbgywd puwhnnnid
funnnywlyp thnunpwyh thnpdw hwdwp kpu. 1.043 2. .
pwpdnu w/h b inbanwihnfunut (gulnywn 3.0yd hbn. ypw
206Vl

\X3

392

22572

884 822

Bwuwwwphwihtu hwunyeshg. twhiwwbu Yynunwws [Oe-IV
Yuwpgh puwhnnh pwpdnd w/h bpu. 2.543 2.n. L
nbnwithntund  hbinwnwps |hgph hwdwp 2.044

lj3

477

950,4

453 341

Lnnuwijhb wzhuwnwuptbp hnibh nipndwt hwdwp kpu.1.0 43
2., pupdnwd w/h b inbnuith. gwynywn 1.04d hbin. Yypw 10elV

lj3

12951




<nn. wopu-ubip dinunpwlutiph thnpdwu hwdwp kpu. 1.043 2.1

3

o pwpdnu w/h W ibnwihniu.jgwynywn 1.04d hbn. Ypw 10elV u 0 12951 .
<nn. watuwwnwupubip thnunpwlubph thnpdwt hwdwp

10 | kpu.1.0d3 Ynnph Ynpw Ynunwybiny hbnwnwnd |hgph hwdwn g3 0 646,2 0
10elV

1 | UWjwquynwbwypht bwhiww. h=10ud g3 9,12 6421,5 58 564

12 | huBwjhu hhdp h=10ud g 20,14 7210,8 145 226

13 | hbunnnywlh hpwiubph bhdphiph dhwéany] phwnu B 20.F 100 3 173,9 £4543,5 11224115
<Buwpwuubph hpwuubph hwyjwpnyh N5 pinbubph pbiunnt

41 L. - 285x165x100us. V=3.0163. P=7.2un: husn 72 95618179 -e=25:6432008
Lhuwpwuubph hpwuubph hbuwyubph dhwény) b/pbnnt.

15 | w.y. @8 A240C-9.23 [g/u3. @12 A500C-34.314g/u3: B2S. a2 15,22 97108,2 1477 987
F200
&/p hwwpnyh qiluwnhnutinh N8 pinlubin swih. -

18| 302x75x60ul. V=1.0943. P=2.7un: huin 24| 277496 | 5225990
Qluwnhpubph pinyubpp hbuwpwuubph pinlubiph hbitn 5 A a9 A

171 Shwinndwt (dntnjhinwgdust) phunt: B25. F200 d 1,46 ) 799965 Heas
N31 dwdlh uwbpp hwjwpnuh b/pbinnu. swih. - 53x100x660

18 | ud.V=3.0743. P=7.7 hwwn 36 1185815,7 42 689 365

w.y. Al= 33.1 Yg/u3. All=152.3lg/u3

19 Twdlh uwbph wwy hfuwpwtwihu Jwubp bplgbpn P2 2929 68634 201 029
nniphipnhnhg:
Unpnnuubiph dhwany; pbnnt funnndwh dnunpnid b bpnid ]

20 bapuht uwbph dpw: B20. F100 d 3,3 66910,5 220 805
owdlh uwjbiph pinyubiph Bplabipn unuLduwghtu
onwdbtiynuwgnud hqngwiny' wwownwwlhs sipwnh 5

2 wdpwuwynpyws pbawnnuny H=4ud: Udpwuwjhu gwug (100x100 u 280,43 10809 3051168
dd) @4 Bp-l. P=0.217 w:
Lnyup' huwpwuubph ppwutbph pinbubiph dhel Ywpbiph

22 | unubdw)pu gpwdbinuwgnid wwawnwwuhs 2bpinh 8x25x50ul U2 76,3 20844,9 1590 466
hwdwpnyh pbinnnub uwhlyubphg B20.F100:

23 | dwph L hbuwyuyht wnwdh dhwény) pinnu B20 F100 gl 12,78 81463,5 1041104
2% gggm{wuh hwinwyh Yunmgnd dhwdny| phicnnuhg B20. e 67,91 70365,6 4778 528
Ninnnpn pUbph Yunnignd Jhwdény plivinthg B20. F100 0 0
25 hhdpbn g3 40,02 64543,5 2583 031

hpwlubp g3 31,68 66910,5 2119725




funanyuyh hpwtiiinh W hhdpbiph. ninnnpn. plbiph gpntunh

2
%6 htwn 2thynn dwlbipnyputiph pujwdpwht gpwblniwgnid: 4 4548 1258,2 7218
27 | Rwpwyht |hgp P 0 | 61461 0
Chwnwnwnd |hgp i 0 0
28 | w)pnynngbipny 10elV gl 430 808,2 347 526
p)abinph woluwnuwlpny 10elV 3 47 1796,4 84 431
Lunwdkup 111 728 765
nognopHas creHa 1. Km 6+725 - Km 64782
Chuwwyun 1. W 6+725 - Ll 64782
9n-v uwh bgnud u u b
1 h=n1_23wnqh puwhnnh thfupbgnud wwjpwugpwiht |hgptinny e 0 1485,9 0
’ 9n-V Jupgh puwhnnh thtupbignd hhnpndnupéing, & 0 1485.9 0
206-Vill uwh bgnwd u u b
2 |2 Ywngh puwhnnh thfupbignud wwipwlgpwihl (hgptinny 5 0 2715.3 0
5 206-VIil Yupgh puwhnnh thjupbignud hhnpndnipény 5 0 2715.3 0
3 Luwfuopnp thtupbgywd 206-VIll upgh puwhnnh pupdnd w/h 5 0 1972.8 0
1.043 2. w. Epu.. L bnuihntunwd igwynyn 1 4d hbin. Yypw ’
4 | Lnyup &bnpny g2 0 15505,2 0
5 Luwluopnp thjupbgyws 98-V Yupgh puwhnnh dywlnwip kpul P 0 8415 0
1.083 98w Ynnph Ynunwlynding hbivnwnwpd (hgph hwdwn ’
6 | Lnyup dbinpny g 0 9898,2 0
7 | Lwhiwwwwpwuwnwywu gbhpn g3 0 6436,8 0
8 | <huwwwinh hhdph hpwlwuwgnd dhwéany) bplwepbnnuhg gd 0 74455,2 0
9 | <huwwwinh hpwh hpwywiiwgnud dhwdnyg Bplwepbuntpg 3 0 73001,7 0
10 | <hdpbiph nu hpwuh wdpwu La 0 450,9 0
1" Chuwwwwh  hbwuwdwuph  npbuwdh  (gwdwpnipunh) d 0 102933 0
hpwlwuwgnud
12 | Fphuwdwiht funnnuyubiph tbnwnpnud d 0 2480,4 0
13 | <buwwwnp ubyghwubph dhol dhownhp g2 0 433,8 0
14 | Rujwdpwiht gnwdblniuwgnud u? 0 1260,9 0
Bwlwwwphwihu hwunyphg. Lwuwwbiu Ynunwywsd 9p-v
15 | Ywpgh puwhnnh pwpdnwd w/h kpu. 2.503 2., L 1Y 0 1505,7 0
wnbnuihnfund htnwnwpa thgph hwdwp 1.0Yd
16 | <bwrwnuwpd thgp pnipngbipny 9a-V 15 0 810,9 0
17 | <bunwnwpd thgp Gbnpny  9a-V U3 0 1800,9 0
Lunwdblp 0
nognopHas ctena 2 . Km 6+930 - Km 6+993
LEuwyuin 2. U 6+930 - LUJ 6+993
9n-vV uwh bignwd U u b
’ hg_zﬂwnqh puwhnnh thfupbignud wwijpwugpwiht thgptipny g 0 1485.9 0
9n-V twh bgnu h dnipé
y | on Ywpgh pwhnnh thiupbgnud hhnpnudnipGny e 0 1485,9 0




206-VIIl Ywpgh puwhnnh thfupbgnud wwjpwugpwiht hgpbpny

2 | h=124 a? 0 2715,3 0
5 206-VIIl Ywpgh puwhnnh thtupbgnud hhnpndnipéng e 0 2715.3 0
3 Luwfuopnp thtupbgywd 206-VIIl Ywngh puwhnnh pwpdnud w/h 5 0 19728 0
1.0d3 2. w. Epu.. b nbnwihntunid (gwlnywn 1 Yd hbn. dpw )
4 | Lnyup &knpny 5 0 15505,2 0
5 Luwjuopnp thfupbigywd 98-V Yupgh puwhnnh dawynwip kpud P 0 8415 0
1.0 2@in Ynnph Ynunwljnidm hbtunwnuapd thgph hwidwp '
Lnyup &binpny g2 0 98991 0
Luwhwyuwinpwuinwlwt obipn g3 0 6436,8 0
8 | <buwwwuwnh hhdph hpwlwuwgnw dhwény bpywepbinnnuhg g3 0 74457 0
9 | <bBbwwwuwh hpwuh hpwlwuwgnd dhwany| bplwppbnnupg a3 0 73003,5 0
10 | <hdpbiph nuhpwtuh wdpwt Ug 0 450,9 0
1" Chiwwwwh  hbwbwdwuh  npiuwdh  (gwdwpnipunh) J 0 102933 0
hpwywuwgnud
12 | pbuwdwipu funnndwliubiph wbnwnpnud d 0 2480,4 0
13 | <buwwwuwnp ublghwubiph dholt dhowinhp u? 0 433,8 0
14 | Rujwdpwjht gpwdblyniuwgnui 2 0 1260,9 0
Bwbwwjwphwiht hwunypehg. twiiwwbu Ynunwlws 9a-V
15 | Ywpgh puwhnnh pwpénwd w/h bpu. 2.503 2.1, L U3 0 1505,7 0
inbnwthnfund hbinwnwpa thgph hwdwp 1.0yd
16 | <bwnwnwpd |hgp pninngbipny 9g-V g2 0 810,9 0
17 | <bwnwnwpd |hgp dknpny  9a-V g3 0 1800,9 0
Cunwdbup 0
noanopHas creda 3/{Guwwunn 3
km/ 7 +425 - km/u7+454.5
9a-v uwh bgnud u u bpny h
1 1.%_2'%#nqh puwhnnh thfupbignud wuwjrwugpw)ht (hgptinny e 0 14832 0
9p-V
v | o Ywngh puwhnnh thtuptignud hhpndnipény e 0 1483,2 0
Lwfuopnp thfupbigpwd 94 -V Lwpgh puwhnnh dwynwip b
2 | pwpdnd bpu. 1.06* 2.n.w/h wbn.iguilinyur dhugh 1.04d U3 0 1642,5 0
3 | Unyup &hbnpny sl 0 11523,6 0
4 Luuonnp thtupbigywd 9a-V unpgh puwhnnh dywynup tpul 3 0 8397 0
1.0d3 28w Ynnph Ynunwlnwing hitnwnwpd thgph hwdwp ) ) o
206 -VIII jupgh puwhnnh thupbignud wwjpwugpwhu
> | \hgetinny h 1.0-2.04 o 0 27108 0
206 -vill uwh bgnu h dnind
ungh puwhnnh hfupgnud Ahnandninging 5 . = .
Luwtuopnp thfupbigpwd 206 -VIII Jwpgh puwhnnh dawlnuwip
6 | U pwpdnid kpu. 1.083 2.1n.w/h wbin.jguinywn dhugl 1.0yd 3 0 1969,2 0




7 | Lnyup &bnpny gd 0 15477,3 0
8 | <huwwwuwh hhdph hpwlwuwgnd dhwdny, pbunnuhg g3 0 65168,1 0
9 | <huwwwwp hpwth hpwlwlwgnd dhwany| pbnntuhg s 0 67460,4 0

Chuwwwwnh hbntwdwuh npbuwdh (gwdwpnipnh)
10 hpwlwtiwgnud qdu 0 10275,3 0
1 | Fphuwdwyhu funnndwlubph nbnwnpnud qdd 0 2475,9 0
12 | Rujwdpwhu gpwibynuwgnid 2 0 1258,2 0
13 | <buwwwwh ublyghwubiph dhel dhownhp 2 0 432,9 0
14 | <bwnwnwpd thgp prynngbpny Sa -V i 0 809,1 0
15 | Lnyup &knpny Sp -V gl 0 1797,3 0

Cunwdbkup 0
nognopHaa crexa . im 16+810 - Km 164838
LEuwuwin. 4d 16+810 - Yd 16+838
10e-1V Yupgh puwhnnh dwlnwip tpu. 1.043% 2.1, 4nnph

Ynunwynuwing htvnwnwpd |hgph hwdwp (thnunpwyp
U | thnpdwt dwdwtiwy) g 850 648 550 800
2 | Lnyup &bnpny g3 94,36 5261,4 496 466
3 | UJwquynw@uyht sbhipin h=20ud 1Y 16,05 6437,7 103 325
4 | <huwwwwnh hhdph hpwhwuwgnd dhwény] phnnthg ol 103 64685,7 6 662 627
5 | <buwwwwnh hpwup hpwlhwbwgnd dhwdny; phinnuhg o0 96,18 66982,5 6 443 047

Chuwwjwinh hbnuwdwuh npbuwdh {(gwdwpnipnh)
6 hpwljwliwgnud qdu 28 10294,2 288 238
7 | Mpbuwdwht funnnjulubph nbnwnpnwd qou 23,1 2481,3 57 318
8 | Rujwdpwhu gpwdbynuwgnid g2 193,21 1260,9 243 618
9 | <buwwwwnh ublyghwubph dhole dhgwnhp u? 43,05 433,8 18 675
10 | <bwwnwpd thgp pnynngbpny gl 653,93 810,9 530272
11 | <bwnwnwpd |hgp dtinpny 10e-1V 3 72,66 1800,9 130 853

Luwfuopnp dawlwd 10e-IV Yuingh puwhnnh pupsnuip kpu.

1.00% 2.:n. w/h wbinuithnfuncd gwynyun dhohtp 3.044 htin.
12 | pu 3 217,77 1125 244 991

Cununibup 15770 230
nognopHas cteHa . Km 174355 - Km 174385
LEbwwuwin Yy 17+355 - Ld 18+385
10e-Vywpngh puwhnnh dowbnwd Epu. 1.25 d3 2. in. pwpdnul

1 | w/h whnwihnfund dhtse 14d,  Ynunwynd hBuwwwiinbiph g3 1317,66 1055,7 1391 054

hbwnwnwpd (hgph hwdwn
2 | LUnyup &bnpny gl 69,35 6521,4 452 259
3 | Lwhwwwwnpwumwlwt sbpin gs 34,15 6428,7 219 540
4 | <buwwnh hhdph hpwlwuwgnd dhwdny| Bpywppbnnuhg I8 375,18 74356,2 27 896 959
5 | <buwwwinh hpwih hpwlwuwgnd dhwdny; bphwepbunnuhg s AN 17 72905,4 29 976 513
6 | <hdpbpph nt hpwuh wdpwu Ya 40309,65 450 18 139 343




Lhuwwwwh  hbwuwdwuh  npbuwdh  (Qudwpnipnh)

5 2 o 21A

7 hnwl.{whwgmd q.ulj .JO,G 10279,u 314 562

8 | huwdwpu funnndwlutiph whnwnpnud qdu 58,92 2476,8 145 933

9 | Rudwdpwjht gnwdbtiyniuwgnd U? 568,13 1260 715 844
Lwhiwwbu dawlwd L Ynunwlws 10e-IVywpgh puwhnnh

10 | pwpdnud w/h 1.25d3 2. wn. Epu., b nbnuihnfund dhusle 144, gl 846,06 942,3 797 242
hGbwwwnbph hbwnwnwpd (hgph hwdwp

11 | <bwwnwpd |hgp pninngbpny 10e-1V s 803,75 809,1 650 314

12 | <bwnwnwnpd (hgp dtnpny  10e-1V B 42,3 1798,2 76 064
Luwpwwbu dwlwsd L Ynunwhwd 10e-IVywpgh puwhnnh

13 | pwpdnul w/h 1.25d3 2. wn. Epu., b wbnwithnfunud igwynywn 344 g 540,96 1173,6 634 871
htin. Jpw

Lunjunibp 81 410 498
Rnugdh Yunnmgmd [J15+350-4d15+720 ,
4d15+920-4u16+870

1 1 20a-VIl jwpgh puwhnnh thupbignud hhnpndnipény I 86,4 2509,2 216 795

2 | 98-V Yupgh puwhnnh thfupbgnid hhnpndnipéng a? 21,6 1960,2 42 340
Fupwdninnt pwunnul uwjuwwbu hfupbigywd 20a-VII Yupgh

3 | puwhnnnud tpuB0.650° 28 il pwpdnd wbnwithnfunud I 77,8 2395,8 186 393
lgwinyun 34d dhehtni (0.9x0.6x160)

4 | Lnyup &bnpny g2 8,6 15662,7 134 699
fupwdninne pwtugnud twhuwwbu thupbsgdwd 9p-V Yupgh

5 | puwhnnnud fpuB0.6503 28 nB pwpdnd nbnwidnfunwd g3 38,9 1998 77722
[gwlnywn 34d dhehtin@ (0.9x0.6x80)

6 | Lnyup &hnpny a3 4,3 11646 50 078
Fupwdnugnt pwunnud 10e-V Yupah puwhnnnud Epu@0.6543 5

7 28wnALnnph Ynunwynid (0.9x0.6x941) u 458 6741 308 758

8 | Lnyup dbinpny g3 50 5265 263 250
Fupwdninnt pwiunnud 33r-111 Yuipgh puwhnnnut pu@0.65° 3

? 2BinBLnnph nunwlinud (0,9x0.6x200) I o8 488,7 47893

10 | Lnyup &binpny g3 10 2985,3 29 853
Utinnwnwljwu funqnywlh (wwwinjwt) mbnunpnud d=530x5dd

i {4Ud15+350 35gdd, Yu16+870 13qdu) 1qdU=64.744q ad 48 93779 4501031

12 | tunnndwlubiph opwidblyniuwgnud qdd 48 3060,9 146 923

4 | MnthkehiEbuht funnndwyh ubppugnud wwnjwuh dby ; 3 . -

i3 d=90x4 304 qod 48 3703,5 177 768
Mnihkphibbwiht funnnwlyh bbppwond wwwnjwup dbg

14 d=1105. 344 qdd 48 3703,5 177 768

15 | Uugnud dbunwnulwu-wnihkphlbu d=108-d=110 (4x0.5=24) hwin 4 5569,2 22277




16 | Utgnud wnihbphybu-wnihhehibu d=30-d=20 (4x0.5=24) hwin 4 5048,1 20192
17 | UJwgh twiuwwwinpwunwywu gbpu h=10ud (1381x0.6x0.1) a2 82,86 81441 674 820
18 | Unp wnihkphituwiht funnnwih nbnunpnd d=90x4.3dd qdd 1381 2871 3 964 851
19 | Unp wnihkehiBuwihtu funqndulh inbnunpmd d=110x5.30d qdu 1381 3655,8 5 048 660
20 | Uhwgnud gnynuejntu niutignn gdht d=90ud hwun 4 6638,4 26 554
21 | Uhwgnul gnjniejniu niubignn gdht d=110dd hwun 4 6952,5 27 810
22 | Ujwah wuwownwwuhg 2bipinn h=25ud (1381x0.6x0.25-19.62) g3 187,53 81441 1527 263
23 | <Buwnwnwnd thgp prurnqlpny 10e-1Y A 312 810,9 253 001
331l
24 | <Hwnuinuind thgp tnpnd 10e-IV 3 34 1801,8 61 261
33r-il
Vuwfuwwbu Ynunwlws 10e-1IV upgh puwhnnh pupdnud 5
25 Lpu@0.6543 9@, W inbnwithnfunid jgwlnywn 34d dhe@hbn@ I 201 14022 281 842
2% Lwhiwwbu Ynunwlwd 33r-lll Ywpgh puwhnnh pwpénd P 69 12528 86 443
FpuB0.654° 28w, L inbinwthntunid igwlnyun 344 dho@hting ’
Cunwdbup 18 356 246
Thwwhnpbp
1 @Pnunpwlh pwunnud 10e-1V Yungh puwhnnnui kpuB0.6543 P 6 1584 9504
28w, pwpdnd wbnwihntund (gwlnywn 34d dhehbind
2 | Wwquynwywiht twuwwwwnpwuwnnd h=10ud {3 0,68 5852,7 3980
3 | thuwhnp (d=1.0d b/p funnnyuwly) hwwn 6 59765,4 358 592
4 | Qpuibyniuwgnud w2 22,6 1261,8 28 517
5 | Uywdnuwnwdyws thwlwuubph inbinwnpnwd hwwn 8 2319,3 18 554
6 znsraxrg)l funnnywljuph inbnwnpnu d=219x3dd 1g&J=15.98lq, g5 9 15699,6 141 296
7 | runnnjuljubph gpwdbynuwgnid qdu 8,4 1264,5 10 622
&/p uwibiph wbnwnpnu, pnwk dinngny U Ywihwphsny
8 (1.20x1.2050.22) hwtn 6 264187,8 1585 127
Cunwdkup 2156 192
Qnynipinit niskgnn opwigdh wyuwiintitnwdnd
Qninyejnwu ntubignn nhwnwhnpbinh pwunnwd wnbinwdinfund
1 | [gwynywn hwuwn 4 560,7 2243
34d dho@hbind
Qnynyzsnil nluignn opwgdh funnnjwlubiph wwwdnunwdnid
2 Ybpwnuwpd ubthwlwuwnhpnon 90x4.3dd q8d 1381 281,7 385020
3 Snynye)nit niubignn, onwigdh tunnndwyubinh wwwdnuwnwdnid g0 1381 4536 626 422

ybpwnwpd ubthwlywuwwnhpngp d=108x5d4




Snyniegniu nlubignn hwwuubph wwywdnuwwdnd hinwgw

4 | Jbpwinbnunpnuing d=108 g husn 4 1159,2 1654
Qnnusini niubignn thwwuubph wwwdnuinwdnd hbvwgw
5 denwinbnunpnuing d=90 g hwtn 4 1159,2 4 637
Cunwdkup 1026 966
puqgdh hwwnnuf §i17+695-nud
Fupwdnuinnt pwunnid 10e-1V Yupgh puwhnnnud fpu@0.650° 5
1 28w ZYnnph Ynunwynud (1.1x0.6x45) u 29,7 674 20 021
7 il;ugfsngwf;imnqm{wuh (Wwuwywu) inbnwnpnul d=325x54d 484 40 426015 1704 060
3 | hunnnywlyh opwdbynwwgnid qdd 40 1876,5 75 060
4 zf-l-:t]lgglxrgt}l;}luh punnnuualih Bhppwanud wuinpubih he q54 40 12359 7 494 388
5 | Uhwgnu gnjnye)niu niubignn gdhu d=108dd inbin 2 8465,4 16 931
6 | <hwwnwpd thgp prynngbpny. ul 24 810,9 19 462
7 | <hwnwnwnpd thgp Gtnpny g3 2 1801,8 3604
Luwpuwwbu Ynunwlwd 10e-1Y Yungh puwhnnh pwpdnd .
8 Epu@0.65u3 28w, L intinwithnfunwt [gwlynywn 34d JhoBhbing i 37 1402,2 5188
Qnnyeniu niubignn dbinwnwywu funnnjwlh
9
T wywdnunwdnd yapwnwpd ubthwlywuwnhpngp d=108du q8d 40 453,68 18144
Cunwikup 2 356 857
Rpugdh hwwnmd Yud17+700-nud
hupunininne putinnul 10e-1V Lwingh ptiahnnnod bpu@0. 6583 ;
| Jansynnph Ynunwlnud (1.5x0.6x45) U 40,3 6741 e
- 1_2NE . F
2 zgﬂyégwr&zmnquuh (wwuywl) wbnwnpnwt d=325x5dd qsd 40 426015 1704 060
3 | hunnnywlh opwdbyniuwgnid qdd 40 1876,5 75 060
4 ;ﬂ_r;nghgg'lswjhh funnnquwyh Ubppwanid wwwinjwuh dbe a4 40 74313 297 952
5 | Uhwgnwd gnjnipyniu niubgnn qdhu d=110dd inbin 2 6952,5 13 905
~ | Gnnuysintu niubgnn wwwjwuh wwwdnuunwdnud Japwnwnpd < - -
° ubthwlwuwinhpngp d=325x54d uod 40 2126,7 85 068
Qnynieyniu niubignn wnihkphYbuwht funnnywyh
7 wwwdnuunwdnud dapwnwnd ubhwlwuwanhpngp d=110dd 44 42 2817 UL
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